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TOPIC 1: ECONOMIC GROWIE.——— |
Q1 [ [M/J 2008/Q26) lion and depreciation in four -
The table shows the figures for consumption. capital forma
economves, all measured in US S. { likely o o=~
. is most likely
Assuming thal the slale of technology remains unchanged. which economy o
experience economic growth?
consumplion ‘} capital formation | depreciation | —
(Sm) | (Sm) ($m)
-t =
A 100 20 10
!
! 0
B 500 200 20 o
c 1000 | 1200 1400
D 20000 | 5000 6000 | =
Q2 [ [O/N 2008/Q21] ee—— -
Real output in an economy grows by 1.5 % but at t&same hme-the level of unemploy
increases. i =3
What can be deduced from this information? i
=7
A Labour productivity has decreased.
B =
C  Population of working age has fallen. =
D There has been an increase in the rate
_ =R
Q3 [[OIN 2008/Q25] _
}_J_al output? .::,:
5
B
LY
C =
D anincrease in the proportion of the labour force employed

A B

|
|
|
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[ Q4 | [OIN 2008/Q26)

THe chatt shows the rates of
> A S Ihe rates of economt gro .
| 2000 10 2003 mc growth and unemployment in a country for the perod

-

10
o
8

wn
i

~ | percentage change
- inreal GDP

percentage ratz of
unemployment

=

)

rJ

-

&)

W - -
WWhat coss the chart show

A 2! GDP was lowest in 2003.
B The olal labour force deckned betwesen 2000 and 2002
A
C The standard of bving feill between 2002 and 2003. =
z.-é"-‘-
I;D The unemployment rate fell when the growth rate mcreasadé—é
5 | [O/N 2008/Q27]
VWhat is 3 necessary festure of economic growth?

output cep

| Qs | [M/J 2008/Q24]

Thz tzsle shows the figures for cons
=conomies, all mezsuredin Us s.

| | | 2pi oo |
| economy { consumption gr{oss cG'pltal depreciation |
; [ (sm) . formation (Sm) ;
, 1 - (Sm) |
oA | w0 o | s
‘% ?
| B | 500 | 200 150 |
| ¢ | o0 | 1200 1400 |
j i :
| D | 20000 | 6 000 6000 |
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]
| Q7 T [W/J 2009/G26] ==

Which combination of faclors is most likely to resull in more rapid economic growth?
A

increases in employment and in lhe balance of payments deficit
B increases in the level of investmenl and in the size of the working population
C  more equal distribution of wealth and a higher level of unemployment benefits
D

more rapid inflation and an increase in the nalional debt

[M/J 2011/Q21)

Which cause of economic growth would involve the least cost for present and future generations
of a country’s population?

A increased exploitation of a country’'s mineral resources

B investment financed by borrowing from abroad
C investment financed by high rates of domestic savings
D

technological innovations in productive processes

2

k2
<

o

T
bl
1=

[ Q9 [[M/J2012/Q27]

What will be most likely to decrease a count
potential for long-run growth?

tput in the short run but to increase its
A adecrease in the level of import lariffs
B adecrease in the rate of immigration
C anincrease in female participation in the
D

an increase in the money supply

[ Q10 | [O/N 2012/Q23)

The diagram shows a country's progfig
production points.

capital goods

O consumer goods

Which change in the country’s output would be most likely to lead to a fall in potential growth?

A UtoV B UtoX C YtoX D YtoZ

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845 '
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Q11 | [O/N 2012/Q26)

]

Whal will assist a counlry's potential growth in nationat outpul?
A anincrease in cyclical unemployment

B anincrease in the rale of inflation

C anincrease in the governmenl's budget deficil

D

increased participation in the labour force

Q12 [ M/ 2013[025]

What would be most likely to stimulale long-run growth in an economy?
A employment protection legislation

B government policy to raise aggregale demand

C technical innovations by firms

D the development of trade unions

Q13 [ [O/N 2013/Q22] R

er head?

: i GNP
What is most likely to contribute to high Iong-lerm towth rates of p

vc.,»
. ' S
A governmentimposition of maximum prlces L“cular good
abour force

B
C
D

\TECUET

W Axe S
Q14 LIOM 22 " o t but n:rflts::‘hoienlialoulpul?
What would increase an economy s ac! 9 ? ;‘;,{w '
A anincrease in the capital avanlahleﬁ“( e labour force‘L@Jz—Wﬁx

diiisey
an increase in the labour force’s Sl Ieval

ahﬁncreasqﬂn t &g}number %qurgejabour

x g"i‘!! /ii;
}J,..‘ : «&ffﬁ:}

&

2 L

\\\31 ? ) 0 i ;)‘
e Iabourl orgezemploye v A
jhagropsoglqg SOf‘iXh g ST iy *1.1 RS R
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—
| Q15 [ [M1J 2014/Q22)

The diagram shows (he contnbution of four components of aggregate demand 1o the change in
US real GDP in the four quarters of 2010

8 -
rey
6 personal
consumplion
4 gross pri‘/ale
domestic
2 - investment
0 - (115 7 government
7 i expenditure
2 E«g & investment
B J net exports
| ,
quarter 1 quarter2 ' quarter 3 ' quarter 4
2010

Which component made the greatest contribution and whi
the positive growth in real GDP in 20107 '

|| reatost comibuton
|

gross privale domestic investment

A

B gross private domestic investment
C personal consumption

D

l,._‘_* personal consumption

Q16 | [M/J 2014/Q23]

i
E}‘nemp

7,
2l
loyment;%
>ig

':H'

Smentls ikl (6

v pr
55, 400
v

At is(itr'npossibile”to [e&ain consumpt
B : [
C  Sécial attitiides beco
D

S LY

s
me les§ ad

There will be a harmful effect on human capital,

Q17 | [M/J 2014/Q26] ]

It is often argued that the present rate of economic growth will soon lead to the exhaustion of
reserves of malerial resources, such as minerals and oil.

What does this argument fail lo take into account?

A the drawbacks of present GDP levels as an indicator of the ‘happiness’ of the population
B the effect of increasing resource prices on the discovery and exploitation of new reserves
C theright of future generations to enjoy present standards of living
D

the role of education in economic development

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845
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[Qi8 [ (M) 20151Q25)

An economy is expetiencing economic arowlh,

What will be the effe is
flect on its rate of inllation, lavel of unemploymaent and current account aurplua’?

! | rate of inflation lovel of currant account
i r unemployment surplug
N . o et
‘ , lower lower lowor
|

B .
I raise lower ralso

C ai
’ raise raise uncertain

D uncentain uncertain uncertain
Q19 | [MIJ 2015/Q26)

urve and o number ol alternative

The diagram shows a country’ i ibili
agram s E ry's production possibility ¢
production points. P P ’

capital goods

(0]

A UtoV B UtoX

R

Q20 [ miJ 2015/Q27]

A developing country receiving foreign fina&g}_f}\%ﬁﬂs most likely fp;

in the long-run if it uses the money to g}fﬁiﬁ' B
Qo

e benefits for the poorest households.

v SRR

A boost welfar

25

u ARG I
seholds.

D reduce income tax for all hou

Q21 | [O/N 2015/Q22]

n. capital formation and depreciation in four

The table shows the figures for consumptio
economies, all measured in us §.

that the state of technology remains unchanged, which economy is most likely to

Assuming
experience economic growth?
consumption | capital formation de Cripi.l::.
economy | (g million) ($ miliion) (S?micl:llio r'}‘;”
A 100 10 20
B 500 200 100
C 1000 1200 1400
D 20 000 5000 6 000 J
AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041 122845 I
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y five yoars’?

asl went

economic growth over the !

What has not accompanied global

A adepletion of non-renewable resources

B decreased international trade
C growing urbanisation

increased atmospheric pollution

e of GDP from year to year.

nal GDP per he

Growth rates can be calculated using changes in the valu

Why is real GDP per head considered o be a better indicator than nomi
calculation?

a base year.

A Real GDP adjusts for price changes by using
ge rates on purcha

ts of fluctuations in exchan

sing power.

Real GDP ignores the effec

B
C Real GDP includes changes in the si
D

Real GDP measures GDP at factor cost rather t 53,« .
BERETT,

M/J 2018/Q27
Which diagram shows an economy expen‘encingﬂ,{ﬁ 1

potential output?

A

real GDP

price
level

price
level

P

0 Y, Y,
real GDP

utput but a declin

mco)— ¢!

ad for this

e in

APTER |

ISR TR TR TS T U O O . . O

n

I 1Y I

| K

1 2
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Q26 | [O/N 2018/Q19) ' - ‘ e ——————

On o diagram showing o production possibility curva, what delinitaly (aprasents Jong-n
aconomic growih?

A o chango in tho slope of the curve

B o movamont from o point halow (he frontler (o o polnt on the curs
C a movamonl from ona polnt 1o nnothar nlong n glvan curvg
D

an oulward shilt of the curve

Q26 | [OIN 2019/Q26)

The diagram shows a production possibility curve PPCy, The econormy 15 initially at point 7

. ' would the final
Il the economy achieves actual economic growth but not polential grovih, wihat voul

posilion ba?

capital |, . PPC,

goods
PPC,
\\_\\IB
AN

X e

N
R
\ ~\§‘\.

A
3
.
A
B

b
0
\

SR

i

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041 122845

.




A2/MACRO — IMCQ] — CHAPTER |

[ ToPIC 1: LCONOMIC GROWTH
t will experience the

— s
In the €conomy where the capital formation out ways the depreciation the m
highest economic growth, — Net Capital Formation
Capital Formation Depreciation 10 = +10
0 200-200=0
a0 1200 —1400 = -200
2000 ;888 5000 — 6000 = =1000

Hence only in Option A the net capital was positive.

; _ . . - e you.
Key Polpt: Consumption is never part of this calculation. It is just written to confuse y [M1J 2008/Q26])

Itis only when the rate of potential growth is higher than the rate of increase in real output ”:att -
Unemployment increases, Option A and B reduce potential output and hence restrict real outpu

_Oftion C is irrelevant in the given situation. [O/N 2008/Q21]

Q3 [D
Since employment results in a movement from w

In actual output. Options A, B & C all shift the P

Key Point:
1. Actual Output is movement from within the']

. A 2, PPC. [Short-run Economic Growth]
2. Potential Output is the shift of the PPC. [k i

¢ Growth]
[O/N 2008/Q25]

4 te of economic growth which the %
. and % change in rg} &n the rate of economic growth
Increases the unemployment rate dquifgs%m ugiilight absolute values whereas the
table shows % changes. S EEAE

pontinuous economic growth is shown by a continuous outward shift the PPC/PPF. Option A is
Incorrect because it only highlights actual growth. Option B is incorrect because if employment
Increases it again results actual growth, Option D is incorrect because increase in nominal GDP js the
outcome of economic growth and it does not guarantee that the growth will sustain jtself

Common Mistake: Some students ended up choosing option D however the reason it was incorrect
was because nominal GDP might just go up for one year whereas if the PPC shifts the potential of the
economy is expanding which is necessary to sustain this growth.

O/N 2008/Q27

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041 122845 ] ;



ok
DA peaomy Whe the sanital formali RO | T ps
i hent ’“”l\“ml\ Qrowlh, apital formation ool waye (e daprecintion the most il azpedences the

— Qapltal Formation Deproaintion Hat Capltal Formation
!!‘,) hi) Al) ~4) = ~1() '

,‘_QD Ih0) 200 =100 = 400 —

1200 {400 1200 ~A400 = 200

A000 0000) 6000~ 60000

fenee only i Option 1 the net oapltal was positive,

Koy Polnt: Consumplion s never part of this ealoulation, 1t is just witten fa confuss you,
| | j — M1 2009/024]

Qr | h e
Capital formation am a rerull of Increate In level of Investment and incroase In labor force result in
to will decrease AD, Option C

mote rapld soonomia growth, Option A will lead (o recesslon sinco dofici
educe the

Wil lead o higher taxes to distrdbute weallh more oqually hence Incorrect as it can 1
l}\nmnllnl for growth, Oplion D In Incorract because Incroase In dabt might lead to aconomic growth
nitially howaver will slow It down when the debt neods to be pald back.

: (M1 2009/Q26] |

Qe | D
Technologleal innovation would reduce the amouy
therefora [t would result In lowor cosl bolh for prdli
banetit today howaver would Imposo a highor ¢t
left, Option C would lead to highor cost for they
congumption,

A mductinn I8 llnpolt tarifts will increase llm, 8l§5\lry‘ ’{mp rts in the short-run however but by doing

this the country will tend to move lowm(lx E ﬂ't ade vxfb? ?}Vvlll lead to more specialization in the long-

run, Option B is Incorract because if ILHS p dple come the country the potentlal for growth will

long-run. Gptie; ~,,D will only give a short-run increase.
d v gbp] n,“ [M/J 2012/Q27

i !

{ Inpulz, used to producr- a given level of output,

and fulure generations, Option A & B would
uture generations as no resources would be

(i oration as they would have to forgo today’s

i f}*‘ (M/J 2011/Q21]

decline, Opllon C Increase both ahon“
Y i 'y’
—————— RLCTIL
i '».m*".v Wit

ploduccg(i.and les,sohcgpltal . This Ieagi&tc;}he{ teq jal; row;h tq“declmg AR B
Key Po]nt [ M\ u«:fw ;‘!]\EL , .,,, .ff,u,ng ih» / )
1. Actual Qutputis. movemen(,fmm yithin the E’Pcd‘fo oq thafﬁqﬂshqrtr ic Gro
2. Potential Output is the shift of the PPC. [Long-run Economic Growth]

o

[O/N 2012/Q23]

Qi1 | D

More labor force available to work will lead to an outward shift in the PPC. Option A is incorrect
because during unemployment the curve stays there is just a movement from on the curve to a point
inside the curve. Option B is incorrect because inflation is caused by either excess of AD or less AS.
An increase in AD is only going to lead to short-run growth. Option C is incorrect because if the

government budget deficit increase that shows that the government is spending more which increases
AD however would not cause the PPC to shift outwards.

Key Point:
1. Actual Output is movement from within the PPC to on the PPC. [Short-run Economic Growth]

2. Potential Output is the shift of the PPC. [Long-run Economic Growth]

[O/N 2012/Q26]

P — e R |
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[Q12]C - ding to an increase in the potential
Long-run economic growth is achieved by technical innovation lea |“tgection legislation increases this
of the economy. Option A will restrict growth since if erﬂpl':’ym,ent e wth, Option B is only related to
will restrict firms from hiring labor which will reduce the POle”S'a' for g;ol ut pressure on the firms
the short-run growth. Option D will restrict growth as trade unions tend to p
hence reducing their ability to hire people. (M/J 2013/Q25])

for long term growth.

[Q13TcC
Option B will restrict

g'gth 53/‘\”“9”5 ratio provides funds for investment which a ! ioes
ption A will reduce growth as firms will tend to supply less at lower pr===- i
growth because if the trade union memberships increase it would be difficult for tTebﬂrrmé t(t)ic?r?ga\’:fiellm
that environment as wages would be high and they would have less control over labor. Op

o

=~

\

T

lead to less economic growth as investment is the main de% a
=y

—

~—

=

—

main determinant

Q14 [ D —
An increase in employment refers to using existi i here is a movement from within the
g existing capacity, as there 4
PPC to on the PPC. therefore does not affect potential output. Option A, B & C all increase the
potential output and tend to shift the PPC outwards,

B _r choices and choose optiOn C thlnk|ng that

34 Students need to know t
&2 as resources are going up, howeve

45

Qommon Mistake: Some students misread the a

Increase in labor force means increase in emplo ;‘P?
if the size of the labor force increases, it shifts th.
employment increases there is only a movem%’f

hat they are different
rif

Key Point: e

Q15| D b

Greatest Contribution: Personal Con%‘

four quarters and the percentage keepSanin ~

MGy

Q16 D 5 : SR b @ 3
Workers who are unemployment for a certain period become de-skilled as their skills become

increasingly outdated. Option A is incorrect because consumption lost can be regained through more
employment in the future. Option B is incorrect because rising unemployment will likely reduce real :
wages levels. Option C is irrelevant. '

[M/J 2014/Q23]

Q17 | B ]
This statement fails to take into account that with the consumption the supply would be less and
hence the prices will rise which will prevent the exploitation. Option A & C are taken into account.

B [M/J 2014/Q26]
Q18 | D )
The reason for rate of inflation, level of unemployment and current account surplus are all uncertain
because the reason for economic growth will decide the final impact.

_ [M/J 2015/Q25]
Q19 | D ]
When the economy moves from Y to Z it is producing more consumer goods, hence in the future the
productive capacity of the economy will fall, hence reducing the potential growth (outward shift of the
PPC).
_ [M/J 2015/Q26]

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845 I
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— =

Q20 [ B
167 —
“Always remember Increase in capital is always the most likely cause of economic gromh in 'ﬁﬁ:’j‘ E
run. Hence oplion B, Option A will not contribute to economic growth a jot rather would aim G recu

uneven distribution of income. Option C leads to environmental conservation not necessarily i
than capital goods.

act is 1255
economic growth. Option D will increase in consumption but the imp 5 13 2015[02&

oo 1 the most will experience the

In the economy where the capital formation out ways

the depreciatio

highest economic growth. : -
: Capital Fo?mation Depreciation Net Capital Formation
10 20 10-20=-10
200 100 200 —100 = +100
1200 1400 1200 —1400 = —-200
5000 6000 5000 — 6000 = —100 ]

Hence only in Option B the net capital was positive.
en to confuse you.

OJN 2015/Q22

Q22 [B , =
A decrease in international trade leads to restrlctmg;economic growth. Option A, C &Dalllead to

economic growth.

Key Point: Consumption is never part of this calculation. Itis just writt

t because pollution is harmful
llution but that

[O/N 2016/Q28] |

Ihls was incorrec

for economic development not economic gro
is a sign of economic growth.

Q23 [ A
Any value that is real is better than the nom
Options B & D are incorrect. Option C ISJ_
per head take the population into accoun

ne because all real values adjust for inflation.
b th real GDP per head and nominal GDP

[M/J 2018/Q21

<o
Actual Output: This is where the ADSTRAC
Potential Output: This is the pomt where the LRAC becomes perfeclly melastlc

Q25 [ D

In the long-run economic growth the PPC shifts outwards. Option A is irrelevant. Option B represents

short-run economic growth. Option C may or may not lead to economic growth.
[O/N 2018/Q19]

Q26 | D

Actual growth is shown by a movement from within the PPC to on the PPC or closer to the PPC.
Hence a movement from X to D. A movement from X to C would have been potential economic
growth because in potential economic growth the PPC shifts outwards entirely.

[O/N 2019/Q25)

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845 n
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. = ————
L TOPIC 2: STANDARD OF LIVING e

| Q1 _[[MIJ 20021076
fotgean 1835 an
Ihr" 3raphs show how consumer prices and resl GDP changed n 2 counlry petween 1935 200
2005
CUNLUMCe Cnces
; coe
Yeincreate on a year carier ,
_ "L INCTEZEA 00 F y2A FA ]
A =3 s
y— i N
\/\\/— p “ f . Le
il "‘F i i
i | i
I ! !
2 i b
I
| ! I £ I !
- : 0 | (RN 5

Y

T
01 o~ =
02 52 43 o

IN)

[ BRI

\

34

1995 % 97 gz
Y/hich conclusion may be drawn from the grzphs?
A Living standards remained roughly cons:ant between 159

The country experienced conlinuous econcmic growﬁg beteuze
ovas

B
C The level of GDP wzs lower in 2005 than in 2000.
D The price level fell between 2000 z2nd 2003.

[ Q2 | [M/J 2008/Q17]
During a year, a country's national income in
4% and total population increased by 2 %.

A 3 decrease of 2%

nil ;

an increase of 2%

O 0o w

i 4 Y pirrser sn
an ipcrease ,%}.é /g;w'%‘& 2 25

Q3 ] [O/N-2008/Q14]
During a year, a country’s national incom
4% and total population increased by 2 %.

e in money terms increased by 6%, |

What was the approximate change in real income per head?

A adecrease of 2%
B nil

C anincrease of 2%
D

an increase of 4%

Q4 | [M/J 2009/Q15]

A country’s national income per head increases.

What could explain why this is accompanied by a fall in households’ standard of living?

A anincrease in personal laxes

an increase in the trade deficit

B
C anincrease in population
D arise in the exchange rate

A ATIK TASNFEM | A2-LEVEL: ECONOMICS (9708)!1 03041199701 <  agssuisnng )
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[Q5 | [O/N 2009/Q25]

An economy's GDP per capita grows over a cert
measured by the Human Development Index remains unchanged.

ain period of time, but its development when

What could explain the difference?
A longer working hours

B increased pollulion

C anincreased crime rate

D adecline in life expeclancy

Q6| [MIJ 2010/Q13]

A government requires all its young citizens to undertake co
months. The wages paid lo those on the community service are
have earned.

mmunity service for a period o_f 6
below what they would otherwise

What effect will this have on recorded GDP and on national welfare?

effect on GDP effect on national welfare
A reduction increase =
S5 )
B reduction
C unchanged
D unchanged

Q7 [ [M/J 2012/Q17]

A government uses real personal disposabf
living. ;

as a measure of the standard of

What does this measure not take into a

A the distribution of income

B the level of national income

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845
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/___‘_____ﬁ______.
w1"'a181 010
The graphs ingicate economic performance in a counlry between 2007 and 2010:
2, increase N
=nnual %% increase in annual % increase annual (;[')nP
ndustnzl production in consumer prices R
124 07
169 )
o 129 /\/ ]
% g %
2 27
4 -
i B —
Y T i T T 00— T T T 0 07 08 09 10
G7 08 03 10 07 08 03 10

Which conclusion may be drawn from the graphs?
A Between 2007 and 2008 industrial production and GDP fell but prices rose.

s all
B Between 2008 and 2003 the rates of growth of industrial production, GDP and price
increased.

Q9 | [O/N 2012/Q16]
Over 3 given period. the nominal value of a cou
rate of inflation was 10%.

ISeas)

S S‘é‘qnaLghcome increased by 20 % and the
7R

VW/hzat can be daduced from this information?

There was an increase in the volume off

o O oW >

AN

Ry

s

R

Q10 | [MIJ 20131017]

N
a0y

National income: stalisticsSshow that ré‘él GDP~per THe
country Y. S

Why might this difference exaggerate the gap in average living standards between the two
countries?

A Country X has a larger population than country Y.

B Country X has a higher rate of inflation than country Y.

C The proportion of services people provide for themselves is higher in country Y.
D

The proportion of the country’s industry which is owned by foreign firms is higher in country
Y.

Q11 | [O/N 2013/Q17]

What might cause the growth of measured GNP to ovgrstate the ‘true’ rate of economic growth in
an economy?

A People move from unpaid housework to paid employment.

B The exchange rate is overvalued according to purchasing power parity.
C There is a reduction in environmental pollution.
D

There is a reduction in the rate of investment in physical capital.

————
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[Q12 | [M/J 2014/Q24)
The table shows the annual income thresholds per person used by the World Bark to classily
countries according to their nominal Gross National Income (GNI) in 2000 and 2010.

2000 2010
$1005 or less
$1006 to $3975

e

; low income 87565 or less
lower middle $756 to $2995
upper middle $2996 to $9625

high income $9266 or more

$3976 to $12275
$12276 or more

What could explain the changes recorded in the table?

A Income inequality between countries increased belween 2000 and 2010
oughly one third between 2000

B On average, real GNI in low income countries increased by r

and 2010.
On average, world prices increased by roughly one third between 2000 and 2010.
me category in 2000 were ro- -classified as

Some of lhe countries in the upper middle mc“

high income countries in 2010.

Q13 [ [O/N 2014/Q20] et o
i :
During a year, a country’s national income in AT ﬁ{ms increased by 8%, total population
ant,
?34 m\

increased by 2% and real income per head re ‘%
b

Hekay

711 0
'1{"‘1@,‘“‘;? ,

What was the approximale change In the avomg(? bn

u‘("

A adecrease of 4%

an increase of 4%

= B
i C an increase of 6% '“’"‘31';:,""
: Yk
. D anincrease of 10% ‘r N “1”3\
. m."* !‘.1 b
7 . SO S e S
» [[Q14 [ [O/N 2014/Q25) . . ... . B
T Whnc!)"fch,quwould (',Ju«’ an }tu‘(,u e ln.l(.Uunllyﬂ, l"““‘l’dlhl,‘)(‘(’*'\]\?J»U{W'{N”
\‘ ! ”‘ B n v N \\
=) A ‘4 docrédse in ge il m(’qd"lbly“’ an ™ T WS (s
B adecrease inincome incquality
.y
v C an Increase In the mean yoars of schooling
9 D anincroase in the relirement age
Qis | [om 2015/0201 ,
Over ona year tho mumvy income in an cconomy increased hy 6%, In tho sama pmiml pricos
roso by 4%,
) What con be concluded from thin?
) A Real Incomes decroasod by 2%,
B Tho volocily of circulation docreasod by 2%,
C Tho money supply Increased by 10%
] D The volume of oulput incrosased by 2%,
-
. -
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osition of 2017

a high level of fema'e paricos

a high leve! of foreign ownershipin domeastic industry

A
B
C a high level of subsistence famming
D

relativ o hot O . <
elatively low bours worked By the lebour Ecrj////

Q17 | [M/J 2016/Q18]

oo

What would cause estimates of the mon
country to be greater than the va'ue cf "Gro

vV rJelfare’ for @

:coromrc

A n tn i
egative externzlities such 2s po’ fution

property income received from gbrozd

P -1 [l
77

B
C regrettzble necessities
D thev ¥u e of non-marketed gciivilies and

jes in terms of human,

Q18 lzmu 2016/Q20]
Index (IWI)-

In 2012 g United .‘.ai C
nzturel 2nd produc

- &T-?ézﬁﬂ of 20 counts

[usive wezlth

ga0 and 2008 of the

ztween 1
heir 2008 GDP per

shows t

key

wealth index

ded from the diagram?

\hat can be conclu
t an inzbility to build stocks of wealth.

A Alowlevel of GDP per hezd mean
prevent depletion of its na
|/l the higher was ils GDP.

No country was zble 1o tural resources.

The faster the growthin 2 country’s

in all four countries.

rease in human resSOUrces

O O W

There was an inc

_
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Q19 | [MIJ 2017/Q21]

During a cerain period, a counlry with a conslant populalion expands ils output per head. It also

experiences a significant increase In river and atmospheric pollution.

In the absence of any olher changes, which measure would show a decrease in living slandards?

A Gross Domestic Product per head
B Gross National Producl per head

C Human Development Index
D

Measure of Economic Welfare

Q20 | [O/N 2017/Q19]

How might real GNP per head be adjusted to make it a more reliable indicator when comparing

standards of living in different countries?
A adjustments to allow for differences in population size in different countries

B adjustments lo allow for differences in rates of inflation in different countries

C adjustments to allow for differences in the relau e size of the hidden economy in different

countries ' . o

D the use of market exchange rates rather than gHitg “’é
AR

Q21 [ [O/N 2018/Q22]

Country X's living standards were compared v
head converted into US dollars. Country X wq

i‘s living standards using real GNP per

) country Y.
e
e

m\ \
A her lhan purcrasing power parity rates.
B Government spending on transfer payrﬁggf s was highe%ﬁ,‘ '
\3‘:.1.. a5
\M

C Inflation was higher in country X g{aﬂu}é:ounlry Y. hm'xc)\i;.;ﬂ\
D The dlstnbuhon of income was more unequal in country X than in country Y.

A R T R {1 R *M TR S

—J—-J @fij E t{,

8RR L
el qf;i v S,
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et st Aot

|

TOPIC 2: STANDARD OF LIVING » _MMJ |
e e . y 4 AL 4‘
e - e m——— :\"‘. \
Q1 1B I E \
The country experienced continuous economic growth since the % increase ulymy.,’ rc;rn'l(Ln[:r;P N
positive, Option A |s Incorrect because livings standards cannot be deduced with just he G
incre

ase, Option C Is incorract bacause the GDP was highest in 2005, Option D is
the prices never dropped as the graph continued to stay positive,

Key Point:

1. Always remember if on the

axis of the graph the examiner has mentioned % unless that graph goes
to negative the value keeps on rising.

incorrect becayze

[MIJ 2008/Q16]
Q2 | C

Out of 8% increa
The net effect on

se in national income 4%

is adjusted for inflation and 2% for increase in population,
real incom

e per head is an increase of 2%,
Net effect on real inco

ddd@/@)’d&/&]’

! me per head= Increase in total national income — Increase in Prices — Increase
in Population :
—— i [M/J 2008/Q17)
el ;
(93 T8 e \
Out of 6% increase in national income 4% is adj

!%nflation and 2% for increase in population,
The net effect on re

al income per head is an in { :%;xg 0% or nil, 5
R
. . - ™
Net effect on real income per head= Increase Nl t; l"‘7':fit"JnaI income — Increase in Prices — Increase
o . p ¥ o ‘194 1t I
in Population A &

|
o

Q1 [ A

An increase in personal taxes i.e. more thanith
income. Option B & D are incorrect becal)
because NY per head is alread
calculation.

[O/N 2008/Q14]

Ny
€ increasein’ ome per head reduces disposable
oth increasa%{;gw timption. Option C is incorrect

3 T:iény changes i%tiﬁé?@jation so does not effect this

~))
7
A
A
{
{
&
7

G,
[M/J 2009/Q15]
mpositeie
(i) Life:expectansy

(i) Education
(i) GDP per capita income indicators

Hence even if GDP increase if an

y of the other two factors declined the
Therefore a decline in left ex

pectancy will lead to a fall in HDI. Option A

e n e g e P )

value of the HDI will decline.

. B & C are not part of HD| |

calculation. 2

[OIN 2009/Q25) .

[

Q6 | B ) :

Effect on GDP: Lower wages will contribute towards less GDP. |
National Welfare: The reasons it is uncertain is be

cause welfare comprises of GDP and several
other qualitative variables. Hence since GDP is decreasing and other qualitative variables are

increasing there is no way to calculate the net effect.

— [M1J 2010/Q13)
Q7 [ A

\
Real: This takes the inflation/average price level into consideration
Disposable Income: Takes into account the national income
Per head: This takes population into account

The only thing that is not taken into account is the distribution of income.

[M/J 2012/Q17
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a8 [0
Since the % change remained positive throughout that means all of the variables continuously

increased. Therefore at no time did the production, GDP or prices fall.

Key Point:
1. Always remember if on the axis of the graph the examiner has mentioned % unless that graph goes
to negative the value keeps on rising.
[M/J 2012/Q18]
A
dif it increased by 20% and P alone rose

MV = PY, in the equation PY represents national income an
by 10% then Y must have increased by 10%. Option B is irrelevant. Option C & D cannot be

y ',
calculated and can't be deduced with the given information.
[O/N 2012/Q16]

Q10 | C
Services people provide for themselves is not part of the GDP. Since the question states that Real
all incorrect because of this since

GDP per head is 25% higher that means Option A, B & D are
.~ a-+ion and population are already taken into ac t
inflation and pop y coun [M/J 2013/Q17] |

Qi1 ]A & _
Output not counted previously now becomes part,ﬁ}’ NP therefore GNP rises without any real
increase in output. : ,
et P ' [O/N 2013/Q17]

&imately prices did increase by roughly 1
as these are nominal figures. Option Dis

Fimation.
[miJ 2014/Q24

Q12| C &
If we multiple every figure by 1.33 we can segithata
third. Option A cannot be calculated. OptionBiSinc
incorrect because there is no evidence to i

Q13| C N ] :
Out of 3% increase in national income,’_,ggzj%‘
per head is an increase of 0%. HenceghgiRcrease inflaticy

fis

ey
ST . . ¥ ’ . .
Net effect on real income per head=ﬂh€?§e in total natioraticome — Increase in Prices — Increase

in Population

The'Human-Development Index-HDI
(i) Life expectancy

(ii) Education

(iii) GDP per capita income indicators

Hence if mean years of school increases the education will increase and so would the HDI. Option A,

B & D are not part of the HDI calculation.
— [O/N 2014/Q25]
Q15D 7
MV = PY, so if PY(money income) increase by 6%and out that 4% was P then Y must be 2% which is
volume of output.
[O/N 2015/Q20]
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[Qi6 [ B ]

';Ofe"gn ownership of country's resources will cause part of its GDP to be lrr]ansferr;adoafli;‘?:gézi;sme
the country's GDP wi indi i ilable to the people ;
ry will not indicate the actual level of income avai [OIN 2015/Q23]

[Q17 [ D

Net Econqmic Welfare (NEW) or Measure of Economic Welfare (MEW) is an adjusted measure of
GDP that includes not only consumption and investment items but also all monetary and non-

e

monetary factors that contribute directly to economic well-being. ; ¥
[ Additions (+) Subtractions (-) b

1. Value qf Leisure Time: Working fewer hours 1. Congestion N
to get satisfaction from leisure 2. Pollution

2. Unpaid Jobs: These include cooking meals 3. Depletion of natural resources

3. Income Inequality 4. Crime

4. lllegal Goods: These include selling of drugs
5. Leggl Goods: These include carpenter doing
work without reporting to the government.

5. Traffic accidents

@ ! jj

A
},

Ifwe add the value of non-marketed activities and leisure the value of the MEW will exceed the GNP.

T/
5 L
[M/J 2016/Q19] | _:,\
Q18 [ D )
Human resources increased in all four countries B e this was the only variable that was positive S
in the diagram. 2 )
[M/J 2016/Q20 =N

Q19 [ D

@

Out of the methods mentioned only Measur.
A & B are incorrect because they only natio
national output along with health care and

Velfare takes pollution into account. Option
pulation into account. Option C takes

‘, «/}'

-

[M/J 2017/Q21

Q20 [ C ;
Options A and B are incorrect because;E NP per headz&ieady adjusts for inflation and )
population. Option D is incorrect becafis&purchasing powe%ﬁ%xchange rates are more beneficial
when comparing different countries. Hence by adjusting the relative size of the hidden economy the
results can.be mote beneficial. . s

Jd

S

s?%u
Q217 LA : RE SR é”g’ [ = = : = = %
Whenever GNP-s compared in order to get the right results the purchasing power p_anty rates should -
be used and not the market exchange rates. Hence Option A is correct. Option B is incorrect because 3\‘\'
if transfer payments are not included in GNP. Option C is'incorrfact because real GNP removes the .
impact of inflation. Option D is incorrect because distribution of income is not taken into account. A —

[O/N 2018/Q22

» p Ap d)
SN

b

3
P

1

b 1
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TOPMENT /”::] ’
[ TOPIC 3: ECONOMIC ‘)Ew - /I
[Q1 ] [M1J 2008/Q24] : "‘]’;,m;mmy? /!
What is likely to result in an increase in GDP per worker in a¢ & ¥!
A anincrease in the employment rate —
B anincrease in the population of working age _ l
. ; - anufacturing ’J, -
C a shift from working in subsistence agriculture to working inm |
. ’ agricullure
D a shift from working in manufacturing to working in subslstencc‘gjj f__J
Q2 [ [O/N 2008/Q24] — —
A developing economy experiences a rapid growth in labour productivity.
. p—
What is most likely to result from this? =
A anincrease in the country's balance of trade deficit —
B anincrease in the country's relative labour coslsﬁ, N e
C adepreciation of the country's currency !
L D anincrease in real income per head S— f—r
| Qs [ M1J 2009/023] 4 i
A animprovement in the average cilizen's quéﬂl’,‘yc v
B anincrease in the country’s real GDP ‘
N fm—
C animprovement in the country's trade bAIHi
o o
ti th try's currerfEys
D an appreciation in the country's cur r{gq‘j o
m‘gu_,”f) r‘%‘};ﬁ RR e
i i ncds[I g& ogs;
z‘ans qualityiofife™ S B
B anincrease in the country's real GDP—" )
Sy
C animprovement in the country's trade balance
D an appreciation in the country's currency (=
Qs | Ml 2009/Q27) ) &=
How might a developing economy gain from a multilateral reduction in import tariffs and the
removal by developed economies of subsidies on food exports? &y
A through increased specialisation leading to higher productivity .
B through increased ability to protect infant industries -
C through a reduction in the cost to the economy of imported food %
D through increased lariff revenues
LS
&
&L
K
-_
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Q6 O/N 2009/st]

What is most likely to be the impact on economic growth and on the rate of inflation in developed
economies of an inflow of migrant labour from developing econormies?

impact on impacl on
€conomic growlh rate of inflation
e A A N e
A increase increase
B increase decrease
C decrease increase
D
decrease decrease

O/N 2010/Q24

Which feature of the Indian economy could explain why the purchasing power parity exchange
rate of the Rupee is much higher than its markel exchange rate?
A high levels of duty on imported goods

B high levels of rural unemployment

C the relatively low price of goods not traded inlerngﬁgnally

-D_the relatively low rate of inflation & z

| Q8 [ [M/J 2011/Q20

] saving ratio
A low
B high
c low
D high

Q9 [ [O/N 20111024 »
A devalof ng-coun ' I

5 - B E:ﬁ g
What is likely to result from this?

A an appreciation of the country’s nominal exchange rate
B anincrease in the country’s balance of trade deficit
C anincrease in the country's inflation rate

D anincrease in the country’s relative labour costs

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845
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Qi0 | {O/N z011/Qz8

Wh
alis not 3 valid economic argumeant for developing economias 10 pur

rsus a policy of impoft
substitution?
A to embark on industrialisation as a basis for export-led growith
B to exploit their relative abundance of labour in order t produce 1abour intensive
manufacturing goods
C to increase the opportunities for exporting goods in which they already have 3 comparative
advantage
D

to reduce their dependence on a narrow range of primary products

Q11 | [M/J 2012/Q25]

A

B
Cc
D

}Nh“:h ct;ange is most likely to increase both economic growth and economic development in the
ong-run?

a decrease in the savings ratio
an increase in investment in human capital
E2y
£
the depletion of non-renewable resources 5-’5“*

the greater use of compulsory overtime ‘vorkmg@@‘ ur

Q12 | [M/J 2012/Q26)

A

B
Cc
D

What is likely to result from the discovery of ol re%

Q13

ei!;‘zm ==

[ [OIN 2012/Q27]

How mlght a developnrlg#econom‘y galn from a.mulm
ed

2 %%@Sldles;anfge

througtrincreased ability to protect infant industries

through a reduction in the cost to the economy of imported food

through increased tariff revenues

Q14 | [MIJ 2013/Q23]

The table gives the perc
four countries.

entage of employment in the primary, secondary and tertiary sectors in

Which country is most likely to be a developing country?

primary secondary tertiary

sector % sector % sector %

A 15 40 45

B 30 40 30
Cc 35 45 20
LD |45 R B
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4 M) 257207

DrEYEs cortuTers n derdoped courties o buy 00d progucsd oy
SevEioping wourlies 2 2 figher price than that ";rre" by commercizl

Winy it thisg b Farfid 19 ecoromic

A Bl czunz 2 WOLENIY 10 he terrms of fradt
E Uit reduce iz zoourt o
C Ml retie tre prees
D

YWl dhow hz pransis of econorin diyers

| 017 T [O/N 20141024]

i 1
F. Cevsloping economy erperiences 2 r2pid gr

b Can “ A P
/inzt is most likely to result from this?

>
RN
]

Zix
7

Zn inuezss in the countrys relative 1zb4

Q w

lw)
N
D
5
,‘
O
)
\

z" '6:
5¢ in real income per head74g =
i

012 | [OIH 20141Q28]

N
N5

ez output in z G, ;;m%
i ,4 2k
, / 2/ ; ":{ % ,‘2’

'J"Crfw 7 . 4‘»’*’
»oyd

Vs

NN

39

Yihat chn bfz lfrrﬁAr/A I/ fn rrf‘/f k%?r?iétbﬁ

A fetuzl outpul has growun more quickly than potential output,

B Labour productivity has increased,

C Population of working age has f3llen,

D There has been an increase in the rate of inflation,

AANTIE TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845
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Q18 | [M/J 2015/Q29] ‘
The cata below relale o a particular counlry for the four years shown
: ] 4
Year ; 1 ! 2 i - !
il ) i ! 121
real GNP/head (Year 1= 100) | 100 | 110 12 !
! | | 67
) Iife expeclancy at birth (years) 65 ‘ 64 65 |
: ' 42 i
% of age group enrolled in secondary 40 ‘ 38 i a2 L/
- education | ]
What can definitely be concluded from these data?
A Economic growth between Year 2 and Year 3 was 1%.
B The level of economic development was betler in Year 2 thanin Year 1.
etween

. . . : nt b
C There was both economic growth and an improvement in economic developmeé

Year 2 and Year 3.

X . elter in
D No conclusions can be drawn as to whether the level of economic development was b

Year 4 than Year 3.

Q20 | [O/N 2015/Q29]

What is likely to be the effect on developing econog i
investment? ‘

A an acceleration of technology transfer
B anincrease in the burden of debt
C anincrease in visible trade deficits
D

a slowdown of rural-urban migration

Q21 [ [O/N 2015/Q30]
Ecunomists have proposed that the best

What is implied by this proposal?

A

B
Cc
D Developing countries should use trade barriers to promole import substitution.

Q22 | [M/J 2016/Q21]

Which combination is usually found in less developed economies?

[- - low high
A capital : output ratio saving ratio
B external debt capital : output ralio
o population growth external debt
D saving ratio population growth

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845




I I

A2/ MACRO — [MCQ] — CHAPTER 1

Q23 Tw7d 20167a23]

l\:)Vhlch cgange is most likely to increase bolh economic growth and economic development in the
ng run?

A adecrease in lhe saving ralio
B anincreasein inveslment in human capital
C lhe depletion of non-renewable resources

D the greater use of compulsory overtime working of labour

Q24 | [M/J 2016/Q29]

Whal is most likely to result from foreign direct investment in developing economies?
A adelerioralion in the lrade balances of developing economies

B a reduction in migration to urban areas in developing economies

C areduction in the transfer of technology to developing economies
D

a rise in per capita levels of consumption in developing economies

Q25 | [O/N 2016/Q21] 2

What is a common characteristic of developing&gonomies?

A arelatively small agricultural sector

extensive underemployment

B
C high saving rates
D

stable export earnings

Q26 | [OIN 2016/Q22)

["' ‘;’f@

*v;

Which country is likely to be least develop?ﬂ_

PR

% of population

— country D

life expectancy

average years ——< at birth (years)

of schooling

GDP per capita
(US$ PPP)
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diagram show different distributions of incomeé and of wealth.

Q27 | [M/J 2017/Q15)
The Lorenz curves in the

.]100

% of income
or % of wealth

100

% of househalds

Income in a country is more equally distributed than wialth.

; but the distribution of wealth

In a period the distribution of income becomes

becomes more equal.
and

Which movement would show the effects of t afiges on the distribution of income

wealth within the country?

distribution of income

shift from curve 1 to curve 2

shift from curve 2 to curve 1

shift from curve 3 to curve 4

shift from curve 4 to curve 3

O 0 o »

P

,1:.‘17”

M%ﬂ‘?’éi;

A lo;v exports
B low inflation

C low investment

D low population

B, A TIK TASNEEM E—LEVEL: ECONOMICS (9708) | 03041122845 1
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[Q29 [ (WiJ 2017/027)

The graphs below show percentage changes in money GDP and consu
between 2008 and 2010.

mer prices in a country

6
% 10 %
4
N 2
| T T I T I
2008 2009 2010 2008 2009 2010

% change in

% change in b
consumer prices

money GDP

Which conclusion may be drawn from the graphs?
A Between 2009 and 2010 money GDP fell but consumer prices continued to rise.
B Consumer prices and money GDP both continued to rise throughout the period.
C Inreal terms GDP grew throughout the period.

D When consumer prices rose, money GDP fell. %

Q30 | [M/J 2017/Q25]

Which could cause the official statistics for the h‘#f;é?n come per head of a developing country

to overstate the true level of economic well-being:bEHEmtabitants?

focs
TreTaaL

Snd estimates for 2050.

more developed regions 1237 1275
less developed regions 5671 7875
| least developed regions 855 1673 249 914 | 29 55

Which relationship can be confirmed from the table?

A The least developed regions have the largest urban populations, actual or predicted, in both
years.

B The more developed regions have the lowest growth rate of urbanisation between 2010 and
2050.

C The type of region with the grealest total population in 2010 is predicled lo have the greatest
rate of population growth by 2050.

D The type of region with the grealest urban population in 2010 is predicted to have the highest
level of urbanisation by 2050.
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| Q32 [ [O/N 20177Q21] ///

i 22 ‘
daniona! poice oMicers W07 |
To combat a rising crime rate, the government decides l‘o rew:&rlaﬁ;.{;da’
Paid a wage equal to that which they previously earned in the piva:

oy =1

. the 2CoUonZ
. uitment of ¥

As long as their previous jobs remain unfilled, what effect V'El.g;ae’rleo

police officers have on the national income and on economic el i

|
|

|

1

}

— i

—
effect on effect on
national income economic welfare }
A increase unchanged
B uncertain decrease =
C unchanged decrease
g o
L D unchanged uncertain //

———— | -
[ Q33 [ [O/N 2018/Q20] ]

When is economic growth most likely to promote economic development? =
A when it achieves maximum rates of extraction o —
B when it concentrates on increasing production
C when it discovers valuable new resources in 2
D whenit provides the funds to finance cleand —
Q34 | [O/N 2018/Q21] ; —
Which items in the table are classified as f
e e =
foreign direct elficial
invle? tment development gi: o™
s assistance
A =
B =
.- C
D =

il

i 73

1/

14

1)

s

Y
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[ Q38 W73 Z087a0)
The graphs

&how the Human Development Index and its component parts for Zimbatre,

Human Developrent Indey

0.55 ~ e education index.
0.5 G
0.45 0.5
|
04 -4 0,45 “ ]
0.4 -
0.35 1
0.35-
0.3 I 1 l T l —] 0 3 l
1990 2000 201 Y ' I ot ) v PP
1995 <7 2005 2010 5917 2012 55 1990 1995 2000 2052010 5911 2072 5913
0.55 life expectancy GNI per capita, ppp (2011 ppp)
0.5 -
0.45 -
0.4
0.35 -
0.3 — : , ;
1990 ) 2000, ) 2010 T 2012 T 2000, ) 2010, | 2012 )

1995 2005 2011 995 2005 2011 2013

Q36| [MIJ2019/Q21]

What makes it possible for the increase in real national output to exceed the increase in labour
productivity?

A anincrease in employment

B anincrease in the inflation rate
C anincrease in the money supply
D

an increase in total earnings
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Q37 | [M/J 2019/Q22)
;'rhill?slable shows the annual percentage (%) change in China's GDP and the contribution of some
component parts between 2006 and 2012.

|

,f ] 2006 | 2007 | 2008 | 2009 f_ggg_f_}ﬂ[_,’pﬂ~
!GDP 127 | 14.2 9.6 9.2 | 104 03 | 17
| consumption 5.1 5.6 4.2 4.6 4.5 5.2 4.2
| investment 5.5 6.0 4.5 8.1 5.5 4.5 3.9
Lnelexports 2.1 2.6 09 | -35 0.4 w

Whal can be concluded about China's economy between 2006 and 20127
A China’s current account was in surpius more years than it was in deficit.
B China's economic rate of growlh fell in more years than it rose.

c B .
China's growth was greater overall in consumer goods than in capital goods.

D China’'s standard Ofﬂﬁng rose at a decreasing r P::'k-‘ l/,/J

[Q38 ] [O/N 2019/Q23)

A adecrease in GDP per head

B adecrease in labour productivity

C anincrease in the labour force

D anincrease in unemployment

[Q39 ] [O/N 2019/Q24]
Which statement is correct?

I o R

o

egessary fored

C Economic growth enables economic development.

D Economic growth is always sustainable.

[[Q40 [ [O/N 2019/Q26]
It has been estimated by the United Nations that the total external debt of developing countries

has been increasing by about $425 billion each year.

What is least likely to have contributed to this?

A disincentives for foreign direct investment through political instability

overnment subsidies for the development of tourism industries

s due to delays in the award of government contracts

B increased g

C withdrawal of multinational companie
onomies

ing of the terms of trade with partners in developed ec

D worsen

08) | 03041122845 m
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| 941 | [OM 2012/Q27]

The (fiownn zre - ; ;
Howing are four conddions sometimes attached 1o IMF loans 1o developing countries.
o s . "

Which condtion wodd confict with the “infant industiry” argument?

A the need 0 3lom free trade

the need 1o controf inflation

B
C  ™he need to have 3 contractionary fiscal policy
D

the need to privatize government enterprises

Y
2/ /{;’/'/ i- i

1

T
112347)
Yz ;rg

-

", ol

Y
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TOPIC 3: ECONOMIC DEVELOPMENT ]

Q1 |C

Since the productivity is higher in the secondary sector (manufacturing) than the primary sector '
(subsistence agriculture) therefore the GDP per worker will increase. Option A is incorrect because it
increases total output not output per worker as the labor force is also increasing. Option B does not
necessarily increase GDP per worker as it might increase only the output. Option D is incorrect

because it is suggesting a shift from the working secondary sector to the primary sector.
& ¢ g v [M/J 2008/Q24

Q2 |D

Higher output due to rising productivity would result in an incr
per person. Option A is wrong because if labor is productive t
will clear. Option B is incorrect because it cannot be deduced
lead to less labor being employed reducing the cost. Option C is incor

i th ' i 8 ]
increase the country's currency appreciates [OIN 2008/(2324

ease in output (real income) available
he exports will increase and the de_ﬁcxt
because high labor productivity might
rect because when exports

Q3 |[B

Outward migration is when more people leave a country than the o
it tends to improve the balance of payments by increasing inflows of current transfers as when they
work abroad they send money back in the form of fareign remittances. Option A & D are not related to
outward migration. Option C is incorrect because f&duction on imports would tend to improve the

currency.
[M/J 2009/Q23

nes coming in. When this happens

Q4 [A

‘quality of life. Hence B, C & D since they only
1ic development is about.

Economic development is related to improvey 3{’-' gi{h

relate to quantitative measures which is no
[M/J 2009/Q25

Qs [A

Multilateral reduction means that both countiiés to speéilizé.in goods they are good at. Hence the
developing countries can specialize in fo ms and cap.export to developed countries. Option 3 is
incorrect because removal of tariffs wgﬁ E}f;fé'_ d to infant ing §£ﬂ,@5 being under threat. Option C is
incorrect because the subsides are rério¥&d hence the imports:will get expensive. Option D is

incorrect because since tariffs are béirig-réduced the tariff Févénties are declining.

Key P Je restrctions argiyeduredithe benefit is@lways: atonyws, 45
o B = [N/4:2009/Q27]

B — EO T

P S i 2]

a6 B

lmpact?n:E:cﬁomic Growth: When the labor force increases it lead to higher growth.
Impact on Inflation: Due to increase in supply of labor the supply will increase and hence puts a

downward pressure on the price level.
[O/N 2009/Q26]

Q7 |C

Purchasing power parity exchange rate is an exchange rate based on the ratio of price of a basket of
products in different country. This is used to solve the problem of measurement of Real GDP and will
not be affected by the market changes in the price of currencies on the foreign exchange market.
Hence a relatively lower price of goods not traded internationally will only impact the domestic goods

and not the currency.
[O/N 2010/Q24]

Q8 |[A

Saving Ratio: Lower incomes in general result in a lower saving ratio, in developing countries.
Capital Output Ratio: Production in these countries uses traditional tools and equipment therefore
low capital output ratio.

[M/J 2011/Q20]
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rts are
“therefore, €Xport
ness: | ct because higher

Qs A . mpetitiven<
cost CO -
they country's tion B is incorr® s costs down and

Productivity growth is likely to improve ey = = ncy. Op S
likely to increase resulting in an appreciation in its Currbica):lse p oductivity brlngd o5 labor being
exports reduce the trade deficit. Option Cis mC?rLecrtlabof produClWilY might lea

hence inflation. Option D is incorrect because higheé O/N 2011/Q24

hired and hence lower relative cost.

— ds. Therefore, @ policy of
ars atives of ,mported g s unrelated.

Import substitution means producing domestic altern e advantage i
increasing exports in which the country already enjoys comparal OIN 2011/Q28

ment is the process by which a

le. If investment in human
ek sult in both growth and

ents and hence

Q11| B

Economic growth is increase in GDP wh
nation improves the economic, political,
capital increases efficiency of human res 5
development. Option A is incorrect because lower savings lea
reduce growth. Option C will lead to harm long-run developmen
decline in the social well-being of its people.

ereas economic dgvelog
and social well-being of I
ources are there

fore likely going 'to re
ds to lower investm

t. Option D is goin

Q12]B
It is likely to increase the country's export earning: 3]
real exchange rate will increase. i M/J 2012/Q26
ats A P oA
fBeiG specalize in goods they aré good at. Hence the

Multilateral reduction means that both countf

developing countries can specialize in foodif?

; “oxp ies. Option Bis
s’and dapexport to developed countries. Up
incorrect because removal of tariffs wouldJ&ag:10 infantfﬁé‘ 3

jstries being under threat. Option. Cis
ill get expensive. Option D is
es are declining.

Ao,
=2

tic:always specialization.
[O/N 2012/Q27]

Tes, e plinaiy Sector has e Fighes! pereaniape whereas T [ortiary Seelor
entagé of Smployrent. Thérefore, Covritry D Titsthiseriteriort: R =
[M/J 2013/Q23

Qi5]| C
If the workers shift the agriculture to the manufacturing industry the GDP per worker would be more

since the productivity of the worker is higher in manufacturing rather than the agricultural sector.
Option A & B is incorrect because it will keep the output per worker the same. Option D is incorrect

because agricultural is less productive than manufacturing.

[M/J 2014/Q25]

Q16 | D
When a policy encourages the developing countries to only produce agricultural goods it will tend to

depend more on its exports. Since agriculture is the least productive sector and th i
; ts. Since e devel
éountry won't bzte) able to diversify in other sectors this will restrict economic development %J;;rt]i%n A&
are incorrect because TOT will improve as prices are higher in developi i ot i
irrelevant in this context. ’ Floping countries. Option B is

[M/J 2014/Q30] |
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Q17 [ D

Rapid increase in labor productivity leads to increase in real incomes per head because lt'WIHA .
increase real national income and hence increase the real national income per head. Ort)'tl?]nB s
incorrect because labor productivity decreases trade deficits as equrts tend‘ to rise. QP 'ﬁect because
incorrect because higher costs would be offset by the labor productivity. Option C isinco

labor productivity will increase exports and hence the currency of the country. OIN 2014/Q24

Q18 | B

i ievi i utb
This shows that the labor productivity has increased as the econ‘omy.ls achletymg gl%?oenr guitspinco):rect
employing fewer workers. Option A cannot be deduced for the given mforr:i |<\J/r;. o‘r)1e U 25 well as
because if the working age population falls then level of employment coul y g tign B o ertect
now the ones who are part of the working population might all be employed. P

- i if it is demand
because real output increases removed the impact of inflation from the decision and if it is de
pull inflation it would have increased employment. OJN 2014/Q26

- ]

Q19 [ C

I

/

. . . because
There is economic growth because real GNP per head in mcrgasnng. There is ?s;/?;czggirg economic
both life expectancy and enrolment ratios have improved. Option A is Incorrec mic development
growth was 10% between Year 2 and Year 3. Option B is incorrect because econo

L ; uded as
was better in year 1. Option D is incorrect becaus%economlc development can be concl

economic development was less in year 3 than yg’a"fi. M/J 2015/Q29

—
Q20 | A

Sne : on
Investments always lead to development in th&Eaafbmy and hence this can be done gxsaic::;?::ct:lt
of technology transfer. Option B is incorrect becaus ‘ifg:ggstment is not a debt. Option C

because it reduces the trade deficit as the pﬁéﬁ‘{ﬁgs{é ort increases. Option D is incorrect because
Jtieito the:oppertunities in the cities.

[O/N 2015/Q29] |

T

Q21 [ B

This statement implies that anything tha ases tracfe; benefit the economy and promot'e _
fo markets in developed countries this
talkab ut aid which makes the options
no use to in exportndustries if these countries don't have

will lead to greater economic develo Jmenks
incorrect. Option C is incorrect becatiSEsEs
any access to markets.

TETiE i

1. D':.’Veloﬁihéééurftrie%ﬁjsu y‘ﬁ’a\)éf#ow sawﬁg :
low hence people end up spending most of the income and a smaller percentage is saved.

2. Population growth is high because due to lack of knowledge about family planning programs the
population growth is high.

[M1J 2016/Q21]

Q23 | B

Economic growth is increase in GDP whereas economic development is the process by which a
nation improves the economic, political, and social well-being of its people. If investment in human
capital increases efficiency of human resources are therefore likely going to result in both growth and
development. Option A is incorrect because lower savings leads to lower investments and hence

reduce growth. Option C will lead to harm long-run development. Option D is going to lead to a
decline in the social well-being of its people.

[MIJ 2016/Q22]

Q24 [ D

FDI result§ in more production of goods and services hence increasing the per capita levels of
consumption. Option A is incorrect because FDI improves trade balances. Option B is incorrect

because migration to urban areas will increase. Option C is incorrect because FDI leads to transfer of
technology.

[M/J 2016/Q29]
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192518 T SO 2y 8z
Options T —

Lra?
1 Q26 | D i be the 1ezot de/,uM
I The country with the foliowing features WO

1. Percentage of Population in Rural A1€3. High
2. Life Expectancy at birth. Low
2. GOP per Capita: Low

4. Average years of schoofing: Low

o etis countsy D (O 29510z L
Hence the only country to fit this critefion lriﬂiJi—;/’/—-——J -
' PP 59— :
. =2l ’)!‘ = =~
[Q27 [ A e 2 29
On the Lorenz Curve the closer the curve is 1o the dzﬁ;’: ’,Jzé,f: ./.r’?}l shift from :‘ ‘f -
etrits 40 . ar 2 ality increased IN€ CHY= 00 L o om 41072 o
Distribution of Income: Since the inequality Incre o the curve vl shift from 4 WL ZVATIAS]
Distribution of Wealth: Since the equality increzse0 1= - -

;f‘f
mza | C i =

%5
! Low income lezds to low savings and hence low g2

——

lQ23 B 77
From the graphs we can see that the inflation B 12578257

2 decrezsing rate. Hence option B iz corred}i;;
increase, ;

Option A a2nd D are incorrect because bo
growth in money GDP remained less th e

Key Point: Always remember to read ﬁéz%é Ititis perc

- . . L pEAEEE g 2 @ ‘ ‘»:,:”g”/' 3 —dr=nf e ’4»’:".2.}' == =
negative the value will continue to risézgieng as it is in thepgga/e quzcrant finz y v

given, then read the graph zs it is.
virs ” Yosissui B s I i
mrha s IR By fare) pods

%

Q30 [D "

~ i

The nationalincomedoezn’t taze: /

¥

intoZaccountahe didtribttici’ol income hence i g7ze iz mids b2

Z |
showing a very-high-value-however it is just because few people have 2 lot thzn the rezt of the |
population. ;
Option A & B are incorrect because barter would understate the GDP 25 it is not recorded 2nd =0 is i
subsistence agricultural because this is what framers do for thernselves znd not o reizil purposes., 1
Option C is incorrect because exports will have no impact as they are recorded in the nztionz|
income.

[}/ 2017/Q25] |

Q31| B |

As we can see that the growth rate of more developed was 11

% increase. \\ S
developed regions it was 21% and least developed was 26%, & Viherezs for Less ‘

l
M/J 2017/02
Q2B [ 5]

The national income remains unchanged since the same amo
Economic welfare is a value judgem

untis being generated in 1
) erated e =conom
ent and cannot be determined hence uncers E in the zconomy.

- T [OIN 2017/Q21
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Q33 [ D —
Economlc development is vyhen the overall wellbeing of the people improves. Hence option D is the |
only option that will lead to it. Cleaner production process will tend to improve the quality of life.
Option A, B & C all relate to reducing economic development.

[O/N 2018/Q20] |

Q34| B ]
Foreign Aid is the money that the country does not have to return and there is no interest payment on

it as well. Hence only official development assistance is classified as foreign aid. Foreign direct

invests and portfolio investments need to be retuned and interests on these transfers needs to be

paid.
[O/N 2018/Q21]
S

Q35| B
As we can see that the HDI increased between 2005 — 2010. Hence Only education and life

expectancy index followed that. Therefore option B is correct.
pecianey P _ [M1J 2019/Q20]

Q36 | A
This is only possible because of an increase in employment. This is because when employment

increases the output will go up but the productivity is only calculated on the basis of Output/Labor.
Hence the output does not increase at th te.
PeEe ease alihe same Iy® [M1J 2019/Q21

—

Q37| B :
As we can see that the growth rate fell in more ¥ 56
2011, 2012. Whereas it only rose in 2006, 20072
because the balance on the current account[{ﬁ_ jorne!
exports. Option C is incorrect because it is offlyishio

Q38 [ A

A dependency ratior. is an age-population:ratio of those:
typically in the labor force. It is used tofmegsiire the pressur

b g

when this ratio rises the GDP per he?;'g;‘zﬂ' apS because th‘éd: )

WA N A\l

. lly not in the labor force and those
n the productive population. Hence
ple who are working now have to carry

more burden of the ones that are not:working hence output ‘gﬁ"‘)&orker will drop.
fl.t‘r&"!’;l}xy] Vit [OIN 201 9/023]

S5, o0RED OO SR Phonde EEOemE Sk, 4
v e

i 2 s B OE SR BB

T 1R PR I N1 B TR7e b Lo
oficigrowthienablés e€onormic developitient:This | begause.ecoln oWithis alffdHoN
concept'that only‘measures thatinciease in GDP:howeyer:E¢gnomicige elopmen! sszmuch-broader

A R4S Ay ERX i3 u.‘L " et n Sig M R Sy s
than that. It goes steps because just the GDP and also comes with other variables like education,
healthcare, freedom of expression.
[O/N 2019/Q24]

Q40 [ B

Options A, C & D will all lead to government borrowing. Lack of foreign investments, withdrawals of
multinationals and worsening of terms of trade will all require foreign assistance. Option B is least
likely to cause the problem subsidy to develop an industry will most likely solve the problem of debt

crises.
[O/N 2019/Q26]

Q41 [ A

Infant industry argument states that small businesses need to be protected against large and foreign
competition. If the country opens free trade this will result in foreign goods to enter the domestic
market and destroy the small business. Option B & D support the infant industry argument. Option C

will not just impact small businesses but all businesses in the economy.
[O/N 2019/Q27]
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ONAL INCOME STATISTICS

TOYIC 1: NATI
Q1 [ [M/J 2008/Q18] ‘
market prices and on domestic

The table shows data on a country's gross domeslic product at

RN T S

spending.
I ey
year 1 | year 2 | year3
(Sm) (3m) (3m)
!—4"__,_—————/
GDP at market prices 630 650 680
private consumption 480 470 480
government consumplion 160 160 150 ¢
gross investment 20 30 | 40

nce of trade deficit?

In which of these years will the country be faced with a bala

]
year 1 year 2 year 3
A no— no
B yes yes
o4 no yes
D yes no

Q2 [ [O/N 2009/Q15]
The information in the lable is taken from a cqbn

avemment
C N

S prsmkasd grxv, Nari _ij*
ke

oA,

axatio sy

ACU N

[imports

What is the value of exports?

A $100 milion B §120 million € $140 million D $230 million J

Q3 | [M/J 2010/Q14]

Between 2008 and 2009 a country's na
same time the country experienced 5% inflation.

tional income at current prices increased by 15%. Al the

Which index number most closely represents the country's national income in 2009 at 2008

prices (2008 = 100)?

A 103 B 110 c 115 D 120
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Q4 | (M/J 2011/Q13

The table shows dai2 @1 2 country’s gross natonal product at markat pnces and on domestic

spending.

{ - B g -
| | yeari l year2 | yeard |
Sm) | (Sm) (Sm)

|
| GNP 3t market prices 220 ' a0 | 580

i
! private consumplion 200 280 300

]
o
govemnment consumption | 120 120 140

% | 80 5 130J

In which of these years will the couniry b2 fzced with a deficil on the current account of the

balance of payments?

gross investment

|
S J year 1 i year 2 I year 3
A ’ b ¢ e
=3 | f
B E X j v
=3 cl v 1 x|
= D | s ' ol i i
3 = B
~ Q5 | [O/N 2015/Q18] —=
’ The information in the tzble is taken from & cou = =221 income acceunts.
S = |
= ! o= l S million
s [>T
~ nationzgl income 600
consumer spending 400
=y =
- investment spending 80
= government spendingSESE00s and servicesaiea 100

VAN |

*
Q6 | [MIJ 2018/Q23]
= The information in the table is taken from a country’s national income accounts.
- ——
| | |
- | . i uUssS |
> ; GRS | (millions) |
/
- .
/ wages 8000 |
= salaries 7000
unemployment benefit 1000
= - |
pensions 1000 ‘
= rent 3000
& interest 2000
-z What is the value of national income?
A 17000 B 19000 C 20000 D 21000
s ]
- r i - -
AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041 122845
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Q7 ] [O/N 2018/Q28]

The diagram shows an economy in equili

What would be most likely to cause the economy lo m0

ibrium at point X.

SRAS
price
level
X
Y
AD
(0] - real GDP

ve from point X to point Y?

A anincrease in government spending on transfer pa

B anincrease in income tax

C anincrease in the average wage rate

D anincrease in the productivity of labour _ ——-——‘—”_'J_q
Q8 [ v 20197Q19] — |

O O @

What is not included in the measuremené,g’ Ilonal nagomg"

s

TR

housing authorities’ income frorﬁ?féht:f

profits distrjl;ute,d

2]

L@ﬁhareholdeg,

QI;}@}H{
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N
S TOPIC 2: CIRCULAR FLOW
,, Q1 | [M/J 2009/Q16] — —
M Which of the following correctly idenlifies nel leakages from the circular flow of income? £3 2o
\ e e e e
2 I trade surplus government budgel deficit privale seclor surplus
3 | (exports - imports) (government spending - laxes) (saving - investment)
\——
e |
CA v J X
N
IS ; ;
3 ’ c X v 4
A ’ D X X / ]
» Q2 | [O/N 2010/Q16]
= Whal is not a leakage from the circutar flow of income?
> A expenditure on foreign goods
5 B indirecl taxes
C undistributed profits
3 D unemployment benefits
} Q3 | [O/N 2011/@19] -
The table shows some data for an economy.
¥ _
¥ — —_— == .
i o e l government national
3 i ve;n:wen exgr:r S | expenditure mc::sc;?e
RS
y 200 100 oeg
N 200 100 15a
! 800
%
g -\ .':‘:}i“-
' I
y
) Q4 | [M/J 2012/Q19]
Which represents an injection inlo an economy's circular flow of income?
)
A a balance of trade surplus
) B agovernment budget surplus
) C the retained profils of private companies
D household saving
'
)
) |
’ 1
_
o ol P *VEL: E 3 041122845 u
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h 3

™ '\\a‘ DANAR RO @ QOUEY R Steulan T O ineone
S ————————— g L - “
1 'n
Livate TR} goverment seetar | ade sectol .
I8 - QY ! NN w
T ————— - e
b : . -y
A (N i VR l yes &
8 E
; YR | no no
N Q
! 3 'l
l C i RSN ! AN no
. L yos ¢
Q8 | [MA 2015/Q19) . : o
(39S SES AN dnlaeal Ny N
\Which is not an Wjection into a countiy's circular flow of lmlmn \I hu.mno o
™ > > ~ k’v
A inward direat nvestment by mullinational corporations -
B private gross

C thesaleof government bonds 1

>

rass domestic fixed capital formalion i}\ ‘T—J

o
D wages paid to civil servants
) S |y
Q7 | [OIN 2015/Q19] &\«, mﬁw |
Which represents an injection into a country's %{*‘\ * "
A corporate taxes ‘
- i\\‘
B interest payments on government bond§‘\
C the payment of dividends to foreign spar&hp ers @

3¢ fc"‘hqgés from‘tﬁé cirgglar ﬂo,
g PN A S . EA

%’ovlemmenl budgek deficit "secth surpﬁl% i

(exports - imports) (government spending - taxes)—- (saving - investment)
A v J X
B v b ¢ X
c X J
D X X

Q9 | [O/N 2017/Q25]
What represents a leakage from the circular flow of income in an economy?

A abalance of trade surplus

B agovernment budget surplus

C reduction in funds for research and development
D

re-investment of a firm's profits

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845




......

o 173 Y

~

“

(L]

N

Qtag | [MAJ 2019/Q24]
Which row correctly identfies leakages from a counlry’s circular flow of income?

| ; private sector | public sector trade sector
T s (T>G) (X > M)
i A i no no yes

B i no yes yes

(o8 | yes no no

D yes yes no

Q11 [ [O/N 2019/Q22]

What represents an injection into a counlry’s circular flow of income?

A corporate laxes

B interest payments on government bonds

C the payment of dividends lo foreign shareholders
D

the repayment of bank loans.

A
7 Za
'ﬂ"’ SR A,
ﬂ:ﬂf}'é{::

72 Frmen 1 Y

GVuLs “TLTA
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[\\\l *1C 30 Ky KK

\\\KIXLLIAN THE mw OF INCOME & EMPLOYMENT |

na cloamj @conomy,

the full amploymant lavel of incoma 15 5200 million,
Cujy,
1= 5(60 = 5r) million,
whore C consumption,
Y ® incomo,
I = investmont,
r =1ho rate of Interost,

Il planned government expanditure i8 $30 million, what rata of Intorast would bo roquired for thera
1o be ful| employment?

A 2% per annum
B 4% per annum
C 6% per annum
D 8% per annum
———
| Q2 ]

M/J 2008/Q21

consumption

A an increase in cxports

. ; 2 i fl W RSO ﬁig%

B an .gg;[ se in ivésime r‘l; e i S

it RO :‘ ! b A3 REH 5' \‘{p-

C a decrease in lhe ra(e of: Qnemp qy(n@nlbbkcmq %‘e;;g AN i
D

a decrease in the slandard rale of income tax

Q3 | [M/J 2009/Q18) —

A country's Initial consumplion funclion is C,.

consumption / o

O personal disposable income

; R S0 Gy
What would be most likely to cause the consumption function to shift from G, to Oy
A adecrease in personal disposable income
0 adecrease in tha expected future rates of income tax
C  anincroase ininterest rotes

D anincroase in woallh

AATIK TASNEEM | A2-LEVEL: ECONOMICYS (9708) | 0304112284435
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-

| Q4 | [MIJ 2009/Q19]
I a closed economy wilh no government G = 30 + 0.7, where C is consumption and Y is

income.

The equilibrium level of income is 300.

What is the level of investment?

A 60 B 100 c 210 D 270

Q5 | [M/J 2009/Q20]

The diagram shows lhe saving and investment curves of o closed economy with no government,

saving,
investment

A LG B GH C

Q6 [ [O/N 2009/Q18]

The table gives the national income of a country 0
!

—
SR

According to the acceleralor principle, in which year did nel investment first foll to o level below

that of the previous year?
C yecard D yeor 6

A year3 B yeard

Q7 | [O/N 2009/Q19] o
Out of any addilion lo national income, 20 % is spent on imports, 16 % is poid in taxes, 5 % is
saved and the restis spent on domeslically-producod goods,

Whal is lhe value of the multiplier?
B 5§ cC 6 D 20

A 25

e
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A2/

endiluré function 15

| Q8 | [O/N 2009/Q20)

The diagram shows a number of expenditure function

shown by E
E;
E
E;
expendilure
E,

0 income

5. The original €xP

i and
. . ds and services
The governmenl announces a decrease in government expenditure o0 goo
reduces the standard rate of income tax.

Q9--[M/J 2010/Q17]

The diagram shows Ihe relalionship between household income and housgiis
{ f
AN
household : Ve
consumplion i
: Ay R

R f
e

a decrease in household income

S QHIEHE

A

B adecrease in the value of household assels

CHAPTER?

Which line shows the new expenditure function resulting from these changes?
A E, B E C E; D Ei _//

C anincrease in inlerest rales T
TR e e g o b BT TR M URIN

D an ingiéaife;in the GXP8 ed‘lu!}fgé fist {‘?'gh?a’u'i . PRy Qﬁéﬁwm A A PR

? ’.:JA . Ai! .-.'JL' '1': Dol Yo VAL Teil) 4340 ihided et ;‘_\\' s — ‘\‘\\

o - - - e <= R ANV (NN O T

Q10 [i[M/J:2010/Q48] @i i st i TR Fieudh RUANER AR R B9

The diagram shows a consumption funclion for a closed economy with no government.

consumption

'
'
'
'
'
'
'
'
'
i
'
'
'
'
'
'

0] i
income

What can be concluded from the diagram?

A Atincome levels below OY, saving is negalive,

At income levels below QY there is an inflationary gap,

B
C The equilibrium level of income is QY,
D

The marginal propensity to consume increases as income increasos

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) ] 03041122845
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Qi | [MA 2010/Q19
Whan nEhonal income oqua
RS

N 3300

an SOONOMY IS M SQuNe N Q000

) N 2QURRM betoy 'u‘:} { -e<3 and goverament spending equals $15 000 million

$30 % ;“‘eﬂ’z-p)menl. Out of every increase of $100 in nalionni
spent on impents and $5 is saved.

noome, SIS s taken intanes

Qe WS 00N  the o
qovemment nead 12 raite e W2 Ul emplovme . = -
273358 1S own spangis = ent tevel of $50 000 million, to which level will the

S15 300 miton

A

g S20 000 milion
C S25000 milion
D

$35 000 million

Qi2 | [O/N 2010/Q19)

The Sagram st R S el T SISLEAENCT
HOWS tha DOSHD Dedween coasumptien e
» N T x

penditure and income.

/C

e

consumption

-

Which statemenl is cored?

- - >
A The average propensily 1o consume is constanl.

Tw - 3
Tha average propensily 1o consuma is rising
P

B
C The marginal propansity 1o co R

< propensity 10 consume is equal to the averags
D

The marginal i as '
! g propensity 12 consume is lzss than the ave

Qj3 | [O/N 2010/Q20]
In a closed economy with no government

Q14 | [M/J 2011/Q15]

Whal will reduce the value of the investment multiplier?

A alow marginal propensity to impon

automatic stabilisers

benefit

B
C low marginal tax rales
D

low rates of unemployment

AATIK TASNEEM | A2-LEVEL: ECONOM
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A

G
«
Cr'
-
Cc
consumplion (
45 oy
o personal disposable income -
As income increase i h inal ¢’/
Propensity 1o save? S. what happens to the average propensity lo save and the margi
| average propensity | marginal propen_s;l-;
to save | to save i
A . | : :.:‘ "
‘ decreases I decreases |
B ,’ decreases ’ increases , ]
| € increases ! decreases ” “
D increases .' i !’__j
=1 increases I s
i ‘f
[ Q16 [ TO/N 2011/Q18] _ "
Ina closedb economy, households pay $0.10 in lax on every $1 ingj iy lheir gross income, C.r
and spend */; of every increase in their dispcsable income.
Whal is the value of the multiplier? (‘T‘
A 15 B 4.0 C 6.0 J
é‘
[ Q17 [ [O/N 2011/Q20] —
What will be the effect, in the short run, on the price levels =
aggregale demand if firms are working at full capacity? ‘E‘- ’
! price level ' national output C;-
A ’ rise rise
—!
B rise unchanged (.
c unchanged rise
) ’ —— (|
D {!tinchanged. e ~
T 7 A Fangr
,‘."-" i T Y e ‘
[ Q18 [{[M/J 2012/Q21] i R S i 5 SSAE G
In the diagram, Y indicates the equilibrium level of income corresponding to different levels of 1
investmenl. ‘I
|
Ye < |
—_
equilibrium l
income -
€
= &
investment |
What does the slope of the line Ye measure? —
A the investment multiplier Y7 |
B the marginal propansily to save
C the rate of growth of investment
D the rote of growth of national income

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845
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@19 | (M1 2012/Q22)

In the diagram, C is an economy's initial relationship between consumplion and national income.

C,
C, c
cl
C,
consumption
(o}

nalional income

Which curve could show the economy’s new consumption function following a reduction in the

rate of unemployment benefils?

A C, B G c ¢ D C. //4_‘

Q20 | [O/N 2012/Q18]
level of fﬁ estment is

In a closed economy with no government, the |
level of income is $22 million, the full employment lev 3k i

deflationary gap of $1 million.

$5 million, the equilibr!um
$25 million and there is @

What can be deduced from this information?
A The marginal psopensity to consume is £.

B The marginal propensity to consume is 3.
C The value of the investment multiplier is 5
D

The value of the investment multiplier is | i

Q21 [ [O/N 2012/Q19] AGtTe
The table gives the national income of a g?yhg?

ver six years.

e

A
national income (Y)

Ny < - BT

;:.{“.'x".’,?.:;l:! {:;}6"_“

2110
3 2125
4 2135
5 | 2140 i
6

|
|

; 2135 |

{ first fall to a level below

According to the accelerator principle, in which year did net investmen

that of the previous year?

A year3 B year4 C yeard D yearb

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845 E
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Q22 | [O/N 2012/028]

o ‘ ‘ "
b:t”lng a recession, a government increases ils expenditure on 9o
eaves tax rales unchanged.

ods and services by $10 million

illion?

Why might the subsequent increase in nalional income be less than $10m
Increased government borrowing increases Inleresl rales.
The marginal propensily lo consume Is less than 1.

B
C  The marginal propensily to import is greater than 0.
D

There is no acceleralor effect on invesiment. 4/”/’
—

Q23 | [O/N 2012/Q30]

In an economy, the marginal propensity lo consume of the unemp
taxpayers.

loyed is higher than that of

The government increases expenditure on unemployment benefits by $10 million.
. 2
What will the government need to do if it wishes to keep aggregate demand unchanged®

A raise taxation by less than $10 million

raise taxation by more than $10 million

B
C raise taxation by $10 million
D

leave taxes unchanged S
—
Q24 | [MIJ 2013/Q29] |

. - . . [ﬂ
Whal will increase the mulliplier effect of an jag
income? gL

A anincrease in direct taxation

B anincrease in interest rates
C anincrease in the marginal propensity,
D

an increase in the marginal propensitfﬁ

R STy PR
-+

L

HemplayaY, iS5

b el

iy Snageas S5
SRS R

The government increases expenditure on uneémployment benefits by $10m and increases
taxation by $10 million.

What will be the impact on aggregate demand?
A It will be unchanged.

B It will increase by less than $10 million.

C It willincrease by $10 million.

D It will decrease by $10 million.

Q26 | [M/J 2014/Q18]

What will cause the level of investment to fall according to the accelerator model?
A adecrease in business confidence

B adecrease in the rate of growth of national income

C anincrease in the price of capital equipment
D

an increase in the rate of interest

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845
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}
o [[@Q27 | [MIJ 2014/Q19]

n a closed economy with no government, consumplion is 4/5 of incorne al 3l levels of income

& 1]~ ’ I
; 3 : The presenl equilibrium level of Income is 5220 million.

!
The full employmenl level of income is $240 million.

By how much would investment have lo increase 10 reach full employment?

A $2 million B $4 million C $16 million D 520 million

Q28 | [M/J 2014/Q20]
Other things being equal, what will result in a decrease in aggregate demand?

A adecrease in interest rates
B adecrease in the balance of trade deficil
C a décrease in the government’s budget deficit
D adecrease in the household saving ratio

————

Q29 | [M/J 2014/Q27]
What will be the impact of an increase in marginal taxfates?

A anincrease in the propensity lo save

an increase in the value of the investment mu,

B
C a strengthening of work incentives
D

Q30 | [O/N 2014/Q23)

In a closed economy with no government C
is income and I is investment.

What is the equilibrium level of income?

B 100

A 80

its initial equilibrium level’)

A a decrease in imports

a decrease in investment

B

C anincrease in government expenditure on goods and services

D a reduction in taxation
Q32 | [MIJ 2015/Q21] )
| t investment increases by S400.

In a closed economy with no government,

At the new equilibrium level of income, consumption has increased by $1200.

What is the value of the investment multiplier?

B 3 c 4

A 2




d foreign {rade, the fevel

[ Q33 [ (M3 2016/026]

In a d-sector economy. consisling of households. fi
of national income is in equilibrium where

irms, governrnenl an

C+l+ G+(X-M=Y

What must Y include for an equilibrium to exist?

A C+S+M
B C+S+T
C S+T

D

What will increase the multiplier effect of an incre
income?

A anincrease in direct taxation
anincrease in interest rates

B
C anincrease in the marginal propensity (0 cONSLE
B :

&
A consumers will be spending more than the:

S+T+M ‘///
34 //
Q34 | [M/J 2016/Q30] ——savermment spending on nations!

f.og@ven_ia rmly

*uf

'of cons:.umpﬂon expendlture and sa\nngs~

pess

<_~:: & LE i»

f aﬂsils'c}zizlri e Cei‘;)seunrg IF()ltJI ?: sa\(lg;gs
(%) (%)

2000 2150 -150
3000 3100 -100
4000 4000 0

5000 4850 150
6000 5650 350
7000 6380 620

Over the range of disposable income shown, as income rises the marginal propensity to consume

A falls and then rises.
B falls continuously.
C rises and then falls.

D rises continuously.

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845
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i~ Qa7 | W 2017/024)
Tr= 1=/ shows the levels of consumplion expendilure for given family incomes '
E% T |
& di§pqsable consumplion
= { family income expendilure
| (S) (8)
LS i 2000 2150
| 3000 3100
4000 4000
5000 4850
6000 5650
7000 6380

/

d d I 4§ idddd.

~

inal

s income rises what happens to the margi

Over the range of disposable income shown, a
propensity to consume?

It fzlls 2nd then rises.

A

B Itfalls continucusly.
C Itrises and then falls.
D

It rises continuously,

Q33 | [M/J 2017/Q30]
In an economy with unemplo

When would this be least likely to increaséjna%lgnal mcg
;4,

A when the level of aulonomous pnval

:n;_] B when the marginal propensity to sé'\/?
- C  when the government allows rnqy;_k./"}?pply to expand h’“&f:ﬁ’ﬁ
) D when the lr;vrlof mlﬂrosl rateq rises o
,’ 4 i G B e AT KRR B, BT EE %
9 il .
4 f]
039 l [OIN 2017102-‘L’7~—'§:L, A 1139 el Eore =T o o
() Which cornbumtlon of rlrcurnotances is most likely to Iead lo an mcrease i a country's bud et
deficit’?
™ T ]
discretionary
o) total GDP unemployment govcmrpent
' spending
\
r-""’ decreases rlses decreases
A
9 B decreases rlses no change
C ncreases falls increases
D incroasos | _’f’f‘xl_lf‘ no change

ECONOMICS (9708) | 03041 122845 ‘m
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A2/ MAC
ha
1t could not axisy in a closed, mixed economy?
A 3 balance of Irade deficit
B

a budgel doficjy

Cc household debl

D Nalional dely

| Monaldent
Q4
1 | OIN 20177a23]

Whal does (he acceleralor principle state?

A~ Consumption is a function of the rate of change of income.
B Incomeis a function of the rate of change of investmenlt.
C Investmentis a function of the rate of change of income.
D

Investment is a function of the rate of interest.
-

&

Q42 [OIN 207770726]

What will cause a downward shift in the aggregatgh ff:];‘;?z';,- curve of an economy?
Vb, Y

A anincrease in firms'

B adecrease in the export of goods
Vil
C adecrease in the propensity to impaort :{{é‘ﬁ“ |
:‘n § ”'.
D adecrease in savin i 2 J
9 ‘1‘ by

-'.'\, Ry ax\.,'y"u,
-
i

Q43 | [MIJ 2018/Q22)

' i
What would not exist in a free mark t;i economy" ki ‘!"‘
a‘cﬁ% 9 G

A autonomous investment

TR b ACH 0 Ié
8 AR ‘ ng% ?[‘g i&‘a“ﬁi&k [ »mi : i 1’%"'1}’5 “\{f
» ik i s 3¢ ; ci4 I b
C impoft:spen ing. 3 KE o A R G e
D indirect taxation

Q44 | [M/J 2018/Q24)

What is a part of Keynesian economic analysis?

A aliquidity trap below which interest rates are inelfective
B an equilibrium price that always clears the market

C asmall value for the government expenditure mulliplier

D a verlical short-run aggregale supply curve

Q45 [ [M/J 2018/Q25) -

What will definitely increase a country's Gross N:.1ti_(;nn;_)'i"f;;&*l\‘:(:t?
A anincrease in income taxes

B anincrease in the marginal propensity o import

C anincrease in lhe value of a country's currency

D increased government expendilure on education

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845
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Qa6 | [MIJ 2018/Q26] l

According o the accelerator theory, whal determines this year's nel investment?

A last year's consumption

B last year's oulput

C the change in last year's investment
D

the change in last year's national income

Q47 [ [O/N 2018/Q25]

D The marginal propensity to save plus marginal tax rate isy .

Q48 | [M/J 2019/Q25]

e

4 » W v w W W

> 9w

no taxation, the initial income is

In a closed economy with no government expendilu%i lic .
sve 20% of any additional income

$5000 million. All savings are carried out by consumess; L

received above $5000 million. Firms plan to invest n-‘ j

What is the value of the multiplier?

A 038 B 4 Cc

Q49 | IM/J 2019/Q27])

An increase in which of the following will cay

A business confidence Jiohrs i

company profits

!n an open economy, when autonomous investment increases by 100, equilibrium national

income increases by 300.

Which conclusion can be drawn?

A The accelerator is 3. i
R |

|
B The marginal propensity o consume is % :
C The marginal propensity to import is % '

B
C
D

Q50 | [O/N 2019/Q21]

In the diagram, OP is the equilibrium level of income and OQ the full
in a closed economy.

employment level of income

expenditure
A%
U C+1+G
T C+l
R C
o P a
income
What is the deflationary gap?
A PQ B RV c TV D Uuv
L
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A2/ MA

TOPIC 1: NA
earand I

SDP = C+T+G 7 (X = M), We need lo calc

Year GDP o]
1 630 480
§ 650 470
680 280 [M/J 2008/Q18)

Hence option B is the correct choice.

[Q2Tc

GDP=C+I+G+(X-M).
600 = 400 + 80 + 100 + X — 120

—

i t part of th
a e
- i« ot true, taxes are no p
Common Mistake: Some students deducted taxes from G thisisn
calculation, s
s / Price Index of 2009] x 100

Index of GDP at 2008 Prices = [Index of GDP at 7 i ,

110=115/105
o 100, whenever of an index

5 that amount int

Key Point: When a value of an index is increasesiy,

falls we subtract that value. [M/J 2010/Q14]

(
Q4| A G . .
GDP = C + |+ G + (X = M). We need to Caﬁg“ par and then che_c_k the answers:
Year GDP C il e
3 0
1 420 200 diio 228 i;o
2 440 260 _ fcEr|tB0 R =
3 680 300 Aeniit¢130 A -

Hence option A is the correct choice.

Q5[ B X7 #Zen Wy Bl TR 5
GDP =C+ 14 GH# (X~ My, F5 3 Witk Bl
600 =400+ 80+ 100 + 140 - M -
M=120m
Common Mistake: Some students deducted taxes from G this is not true, taxes are not part of the
calculation.
[O/N 2015/Q18]

Q6| C
One to calculate national income is to sum up all the income generated by the factors of production.

National Income = 8000 + 7000 + 3000 + 2000 = 20,000

Key Point: Transfer payments are not added because no corresponding output is generated. Hence
items like unemployment benefits and pensions are not part of the national income,
[M/J 2018/Q23]

Q7| D
In order for the economy to point Y the SRAS needs lo shift to the right. Hence anything that increase

SRAS would be the answer. An increase in labor productivity will increase the SRAS. Option A
increases AD. Option B & C will lead to a fall in SRAS.
[OIN 2018/Q28] |

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845 ‘
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Qs [A B
Any form of transfer payment is not part of transfer payments like pensions hence option A. This is
because against these payments no corresponding output is generated.

[(M/J 2019/Q19

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845




A2/ IHACRO

"\«-\_«.-‘ -
e

the money (hat

TOPIC 2: CIRCULAR FLOW

\"*w—--‘.,___\‘\ ——
Qi[5
'1 ‘TG ' X [Injections] ang 5+ 7+ [Leakages]. { injection
2. Gout poUPIUS: This shows X are more than M hence a ne ce net injection.
 Proes U901 Deici: This shows trat G are more than T hen lhe I hence netleakages. 6]
. Private Sector Surplus: This shows that the S are more than [MIJ 116] |
]
Q2 [ p ent spending. |
— of the governm %
ggﬁ?g’fﬂem benefits fall in the category of injections as they are part C is a leakage as this is
allund

. . tion
erimports which are leakages. Option B is a l?akal%:(?rgular flow.
€ company holds and does not reinject back into

[MCQ] — CHAPTER ;

]

[O/N 2010/Q16)

\
e —————
Where the S

Hence option C is correct 800m is

- is said to be in
b - um of leakages is equal to the sum of injections national income |s-sald t
Squllibrium. i.e, | + G 4 X =S+ T +M. We need to check this for all the OP['O“TS_'+ M [Leakages]
- Nationa) Income I+ G + X [Ijections] T fgz 57625 = 250
+ N . .
100 388 : 28 + 18 150+ 75+ 75 - 30—O:',so
200 200 + 50 + 1 175+ 87.5 + §7.5 = 23
9000 200+50+1" \ 200 + 100+ 100=4

[O/N 2011/Q189]

If the balance of

trade is surplus that meansl
y. Option B, C & D refer t4:
akes: Some students chidgsei
incorrect because retaif Fpic 3
ek into the circular flow RIS thie e saving

into the econom

Common Mist
however this is
return them ba

B
i fitking

:at the company keep and does not
Forithe company.

that profits add to the economy

2/Q19]

M/J 201

FEEEE s gy
|+ G +X [InjectionsTands + 112 MiLeakageST'HeRcaWhere Tijedh
wouldilead to:an‘injectioniin the cOUNtRYs circala

1.1>8S 3> net injection
2G>T> net injection
3. M>X > net leakage
Hence Option C.

Q6] C

T O S N Y TR
U;.L }) ‘%ﬁx\ E‘)\; S

o 10
r ffOVWA:_.h‘i;ik"‘ SERAAT WY N

——
e N

AL

ns

__[MIJ 2013/Q20

———— e ——

People buying bonds will resultins
income. Other options simply menti

n n . ‘.“““"’h"'"‘"ﬁ‘ N R
avings and will result in money going out of the circular flow of

Q7 [ B

on injections into the circular flow.
M 2015/1Q1 9 |

e

Interest payments on governme
is taxes, Option B acts as an im
acts as a withdrawal.

nt bonds are the returns on investment will
port and Option D keeps less money av

“‘ﬁ‘*“\‘\—
act as injection, Option A
ailable for consumption hence

[O/IN 2015/Q19]
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Q8 | D

1+G+X [ln]ectio'n*'s] apd S + T + M [Leakages]. Hence where injections are greater than leakages
would lead to an injection in the country's circular flow and where the leakages are greater than the

injections that would lead to net leakages.
1. Trade Surplus (X > M) > net injection
2. Budget Deficit (G > T) - net injection
3. Private Sector Surplus (8>1)~> net leakage
Hence Option D.

Q9 [ B

A government budget surplus represents a leakage because @ budget surplus shows that the
government (G) spent less and took more out in the form of taxes (M.

Injections are. [+G+X
Leakages are: S+ T+M

Hence option D is correct because leakages will only exist when (s>n (1> G), M>

Qi1

There are THREE injections in the Keynesian Mgg
1) Investment £
(2) Government Spending

(3) Exports

y backin the form of income.

Hence option B is correct because interest paYIEIS OIN 2019/Q22

1 12287/"
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ME & EMPLOYMENT |
: ]

T INCO
[ TOPIC 3 KEYNESIAN THEORY OF IR

Q1 | C foreign s
Since the economy is closed that means it does not have & I
would be:

Y=C+I+G

200 = 0.75Y + 50 - 5r + 30

200 = 0.75(200) + 50 — 5r + 30

r=6%

issi jable.
We just to plug the values in the equation and find the missing varia M/J 2008/Q20
’ |

Q2 | D i he gradient the

LSlnce' the cure is getting steeper that means the MPC has increased begraef; ?rllgytﬁ’ré hegnce
greater the slope. A decrease in the marginal rate of tax results in ant u:’ ot option C ehifts
consumption function shifts pivotal upward. Option A & B are unrela eh oney available for
consumption function downwards because lesser the benefits lesser the m y

consumption.

ector and its national income

Key Point:
1. Parallel Shift is when autonomous consumptlo
2. Pivotal Shift is when the MPC changes.

3. MPC is the slope of the consumption fun [M/J 2008/Q21]

Q3 | C
A parallel downward shift shows that the cop_
is avallable for consumption. Option A is ln‘oo

jased. If the interest rate rise less money
He variable on the X axis cannot cause a
ely going to increase consumption.

Key Point:
1. Parallel Shift is when autonomgus consumptlon ggws u

2. PivotdlShift isihe ARREM chafiges i
i ftﬁe‘co%i_, hic pfunctlgn‘
B OER i =4

Q4 A

Since the economy is closed and has no government sector that means it does not have a foreign

sector and its national income would be:
Y=C+I

300=30+0.7Y + 1

300 =30+ 0.7 (300) + |

I =60

We just to plug the values in the equation and find the missing variable.
[M/J 2009/Q19]

a5 B

Actual Output: Where the equilibrium meets [| = S]. Which is Point G
Potential Output: Which itis Yp.

Hence the difference is the horizontal difference between G and Yp which is GH.

[M/J 2009/Q20]

n N o W A

AR}

At

e
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Q6 [ C

This shows the relationship between net investment and rate of change in national output. The
accelerator assumes a constant capital to output ratio, Example: $2 of capital has to be purchases to
able to increase output by $1. This makes the capital to output ration 2:1. Accelerator = Al/AY. To
calculate this we need to check the level of investment in every year:

Year Change in Investment

2 10

3 15

4 20

5 15

6 10 vious year.

Hence it was year 5 in which for the first time the investment was below that of the Pf9[O/N 2009/Q18
=

a7 A ] . __ e enSity |
We will use the formulae for the multiplier. Since the data of the questions gives marginal propensity

of leakages we will use the second one.
1 1

K= ompc O K= MPS + MPT + MPM

1
= 0.05+0.15 +0.20
0.05 _‘,&

E\A K=25
X i . Always write both of them and check which

\ Key Point: The formulas necessarily tell the sqﬁf ‘ X
, one can be used in the question. ot [O/N 2009/Q19] |

.
v [@8 [B ' L ’
@) 1. Government reducing government expe ure: "g-% “5 an autonomous injection this will lead to

a parallel downward shift in the AE curve:
H.

will rise and hence a parallel upward

O 2. Reduces rate of Tax: If the MRT falls |

N shift.
| v There would be shown by line E2.
' y S [O/N 2009/Q20] |
‘[‘ [ 1o T

s Since the‘curve has shiffed upwardsithis would-lead;to. anyjnoreagasin consumptionidAheitne &
H\’ cied income of the EonsUis Tereases T the Ul re IneTgoURefereases omadimioH today.
. Awill-calse’a movemention'the curveiOption BiwilliFeduca consumpiion=Rtion:e Will:reduce

N consumption because borrowing is expensive.
- [M/J 2010/Q17]

»
r [Q10 [ A
:J At point QY the consumption function cuts the 45 degree line which shows that the consumption =

income. This shows that at this point we have no savings. However below this point we had negative
\\Q) savings showing that we were borrowing as our consumption was above our income. Option B & C
cannot be concluded from the given information. Option D is incorrect because MPC is the gradient of
-3 the C function, and since the curve is getting flatter the gradient is falling.
_ Common Mistake: Some students choose option C thinking that the line of C = Y is the equilibrium,
-3 however this is not correct. Equilibrium is established where the AE = Y. As in we have to take | + G +
‘ Xn into account to calculate that.
-2 [M/J 2010/Q18]
-d
9
D
: - -
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A2 / MACRO — [MCQ] — CHAPTER 2

Qi F—— —
Does‘{)%d "120'95359 In National Income = Multiplier x New Injection
) = X
J= 85000

Hence the NeW government expenditure needs to be $20,000 (15,000 + 5,000].

Key Polnt; This formulae is the key to solving these types of questions. E\_/ery time the examiner wiill
ask for a different Missing variable however the formulae will always remain the same.

[M/J 2010/Q19]
R
Q12 [p

The auton i i the value of the MPC.
Omous consumption causes the value of APC to be higher than " [0IN 2010/Q19]
Q13 ] D -

Desired Increase in National Income = Multiplier x New Injection
20=Kx 4

K=5
Since K equals 1/1-MPC = 5 :
Hence the value of the MPC = 4/5 é‘\

Key Point: This

2
ask fora differen

formula is the key to solving thegkstypes of questions. Every time the examiner will

t missing variable however the £3 jig will always remain the same.

[O/N 2010/Q20]

Q14 [ B

Any form of leakage will decrease the value:

tax rate along with an increase in national iAy

lower value of MPM and MPT is likely to gSia,
Incorrect. Option D does not impact the

Q15[ D ] A ;ﬁﬁ? S
As the income goes up the MPC tenddigilEhence the MPSRanaa 1o increase. Similarly, as the
income goes up the APC tends to fall he

nce the APS tends to rise. This is because 1 — MPC = MPS
And 1 —APC = Fran= e 3
2

BS 3 W Bl ARTTRESSE

Py
!

Q16 |8

Since the-hé spends 5/6 of his disposable incorﬁevthat means out
0.75. Hence Since K equals 1/1=(0.75) = 4

]

[O/N 2011/Q18]
Q17 | B
At full employment level the prices rise but the national output remains the same.
[O/N 2011/Q20)
Q18 [ A ]
The slope of this curve shows the investment mul

_[MIJ 2012/Q21)

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845
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A2/ MACRO — [MCQ] — CHAPTER 2

MPC to

Q19 | B '
A reduction in unemp se both autonomous consumption to fall and

rise.

loyment benefits will cau

e

[M/J 2012/Q22] |

—

Qz [ A —
Desired Increase in National Income = Multiplier X New Injection
3=Kx1

K=3

Since K equals 1/1-MPC = 3

Hence the value of the MPC = 2/3
formula is the key to solving these types of questions. Every time the examiner will

of change in national output. The

le: $2 of capital has t
ration 2:1. Accelerator =

Q21 | B .
This shows the relationship between net investment and rate

accelerator assumes a constant capital to output rgtio, Examp
able to increase output by $1. This makes the capital to output .
calculate this we need to check the level of investment in every year.

AllaY. To

Year Change In Investment |
2 10 .
3 15
4 10 Lt
5 5 Y {4!%
2 the previous year.

el

6 =5 §
Hence it was year 4 in which for the first tim%;tzf.
[

.

Q22 A
Impact of increase in government spending A!
both consumption and investment.

‘be offser By |

i
1

57

Key Point: This i )
ask for a different missing variable however the formulae will always remain the same. OIN 20121018

o be purchases to

o
s below that of
%’,m - OIN 2012/Q19
creasing interest rate leading to a fall in

[O/N 201 2/Q28]

This is because the tax payers have

P ::4 f; ik
"‘:ﬁ% r:u G ELRT)
Q23| B Ry n","’fhf{f;'f% __ —
‘lowerfMmpPC and thereférefower size of the multiplier.
[

AT e, TU

vl Eyreun il el [N o)

ARG R VR 5
Qza; THA T gl (i B

A ]
A multiplier's value goes;up if the MEG incr eases 5&55#%@:*i5h§ﬂ$r§"bﬁ‘ib? siz
the Gonsumérs will increase tﬂe%’erﬁ?ﬁtage df‘1néﬁdme.“ﬂ1é’r‘éf3regﬁvhe‘ﬁ‘th‘é‘g v

increases it will have the greatest effect on national income.
(M/J 2013/Q29]

Q25| B

Only part of the change in income is spent therefore the AD rises but by less than 10million.

[O/N 2013/Q20

Q26 | B

Accelerator theory suggests that investment is the function of rate of change in national income.

ught that the answer choice was D. This is incorrect because

Common Mistake: Some students tho
d in the investment schedule. The accelerator model deals

interest rates and investments are linke
with investment and national income.
(M/J 2014/Q1

8
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g
=
Q27 B — ] =
Desi - : _ |
20 i'rsei 'j’Crease In National Income = Multiplier x New Injection —

J=4 .

| g'gce ILis given in the question that (4/5) is spent from the income. Hence K=1/1-0.8=5 —

| nce the new level of investment is 4million. .

:sekaPOiné:ﬁThis formula is the key to solving these types of questions. Every time the examiner will =~

or a different missi i i ain the same.
missing variable however the formulae will always rem (M/J 2014/Q19] =
[Qz8 ¢ - — 2
g;?_" in l;\udget deficit suggests either a fall in G or an increase in T thus results ir}\gfall in AD. =

| lons A, C & Dwould i ion, i -M, and hence AD. .

; ncrease consumption, investment and X-M, [M/J 2014/Q20 —
Q29 [ D - o
it V\{I" hel;_) tp reduce fluctuations in national income. A rising MPT will act as a disincentive, ther_efore

_Option C is incorrect. It may not reduce MPS howevgr a rising MPT reduces the value of multiplier -
! therefore A & B are incorrect. £2) |
[ [M1J 2014/Q27]
l Q30 | D :
I Since the economy is closed and has no govegimentaector that means it does not have a foreign =
\ sector and no government spending and its natidhalit
| Y=C+| A e
1 Y =40 + 0.8Y + 60 : -
0.2Y = 100 .
Y =500 e
We just have to plug the valu=s in the egt =
o [O/N 2014/Q23]
e 3 =
Q31]B éﬁa‘&es A
Exports and investment are classified as injections, therefore a fall in investment will offset a rise in P
eXPOrtS. ooy ‘ o ar SRR AR SSRp RS KR 48 :
. .L:‘“!.'.?‘. 3N ok )j\." e gggd m&i h:ﬁ"}!‘\ {M?ﬁ0§57020]
[IEZIRCRT) iy W\ ¥ e == N ] :-‘h: f
-Q32-[:0 G GETNE B BS B R B AN T W S
This question was a plug-in question. We had to test all the multiplier: e =
Option | Injection x Multiplier = Change in Income | MPC AConsumption &
A 400 x 2 = 800 0.5 400 )
B 400 x 3 =1200 0.67 804 -
; C 400 x 4 = 1600 0.75 1200
| D 400 x 8 = 3200 0.875 2800
Hence only at multiplier of 4 we experience a change in consumption of 1200. &
|| [M/J 2015/Q21] _
i
i
<
i <
'S
&
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A2/ MACRO — [MCQ] —

he leakages.

For the equilibrium 1o be established the injections must equal to t
M=C+S+T

N
N
% C+1+G+X~- .
Since C would be cuton both sides an
¥

d if we take M on the other side then

e the equation however if

I+G+X=S+T+M
ould still not

hat would balanc

hinking that t .
he equation W

Common Mistake: Some students choose Dt :
put the value that would not be the caseé as C on the left hand side of t
uation where injection = leakages.

S+ T+M[This equation does not balance]

make the eq
M 2016/Q26

C+1+G+X-M=

e of multiplier the more
government spending

1J 2016/Q30

use the larger the siz
Therefore when the

increases beca
tage of income.
ton national income.

Q34 [ C
A multiplier's value goe

the consumers will incre
increases it will have the greatest effec

&

means that MPS to save

OIN 2016/Q23

Q35 (D
Since MPC + MPS
will be negative.

Qs o
oy WPC=ACIAY

MPC=AC/AY ALY
Disposable Family Income Consum -_m henditure

2150 R :_//

LA

o
i
5

Y
gggg th 95071000 = 0.95
: 900/1000 = 0.90
4000 4000 .

5000 ~ 850/1000 = 0.85
800/1000 = 0.80
S 0.0

7000 .

Hence we can concl

nditure

TIITTIISIIIII I

MPC=AC/AY
CDisposable Family Inco
20005 By & LR "SS AR R
3000% SRl ) iy, Barh950/1000:=
2000 ey war Wl S8 SN ADOD e Rt i | 900/1000:=:0
5000 4850 850/1000 = 0.85
6000 5650 800/1000 = 0.80
7000 6380 730/1000 = 0.73
Hence we can conclude that the MPC falls continuously.
[O/N 2016/Q25] |

7

L&

nd reducing the

Q38 [ D
A high amount of interest rate will lead to move savings hence the MPS will increase a

value of the multiplier.
act the multiplier. Option B & C will

——
<

g Option A is incorrect because autonomous investments do notimp
= lead to an increase in the multiplier.
[O/N 2016/Q30

Q39 | B
An increase in the budget deficit is a situation where th

I revenue falls. So if the GDP falls and unemployment ris
revenues will decline hence leading to a budget deficit.
[O/N 2017/Q20]

e govgrnment spending increases and the tax
es with no government spending the tax

r.
=2
r AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845 E
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l Acies tries. Hence it;] -
| A closed missed economy has a government seclor but does not trade with other coun ries. 2
can't have a balance of trade deficit. i . g

£

af | ¢ ition
Investment is a function of rate of change i L

n income. This is by defin

gtodo with accelerator.

Ta

Key Point: Always remember consumption has nothin

Alis incorrect

Q42 | B
If exports fall (X) will decline this will
because increase in stocks will impact AS. Options C

i y ifti A |Ve. Optio’n

ence its
nment

reign sector- H
nce there is no gover

M/J 2018/Q22

Q43 | D
A free market open economy is the one
aggregate expenditure will look like this:
there is no indirect taxation.

with o government but has 2 for
AE = C + 1 + (X-M). Therefore Sl

have a view at
n the economy.

Q44 [ A ] ]

The Keynesians believe in the liquidity trap as t =ualue the fiscal policy and f

extremely low interest rate any increase in money-5u; “"xwill have no changé !
fd: S J

ecause they

f;"m. Option C is incorrect b r .
my. Option Dis

ntipart to stimulate an econo

Opgion B is incorrect because Keynesian do )
pelleve the government expenditure is the oS
incorrect because they believe that the SR

M/J 2018/Q24

utput. Option A, B & C will all !ead to
Bfagqgregate expenditure. Taxes will
¥isesp the AE will fall because import is

fo Il increase reducing

Q45 | D
; Government expenditure will boost meP%u
; a fall in national output because they red
decrease consumption. If the margin* L‘*‘E

a leakage. If the currency increases in va

the aggregate expgnditure.

nsity to importig Sl ;
flié the exports will drop and imports Wi

Qa6 [[Dwu iy 2i GB35 G g = =
This shows the relationship between net investment and rate of change in national output. The
atio, Example: $2 of capital has to be purchases to

tant capital to output r

This makes the capital to output ration 2:1. Accelerator = Al/AY. Hence

accelerator assumes a cons
able to increase output by $1.

option D.
[M/J 2018/Q26

|

onal income increases this is known as
lculate the MPC we need to put the

Q47 | B
Since due to an increase in autonomous investment when nati

the multiplier effect. Hence Option A is incorrect. In order to ca
values into the formulae:

=t
1-MPC
_ 1

~ 1-MpPC

MPC = 2/3
[O/N 2018/Q25
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Ihi economy |8 a two nector sconomic whera only Gonstumption and Invostmant ara prasant,
s ) (L
Kw MG M 00 b

Common Miatake: The Information on $1000 million was Irrolavant In this quastion, Some students
adjuated the national Income which was not raquired,
[M1J 2019/Q25]

aele
Interast rates and investments have a negative rolationship. Honce when Interest rate increase the
Investment will fall, Option A & B will lead to an Increase In Investment. Option D is irrelevant.

(M/J 2019/Q27]

e a3

Q80 |b

“A doflationary gap is tho oxcoss above the full employment loval. A closed economy will have only
have 3 soctors C + 1+ G hence the third curve wlill be used for this question. Therefore the

doflationary gap would be UV, (O/N 2019/Q21]

A
ML

r%\‘é uil‘i
Ty

s ST 3 £
%...c;z. % e
eryr 4
* E;ru = i;i -:j:'

e it 5
3 SN éé 3 S
g cﬁh.ﬂ Py
2 RESRR =% 2=y

=D
5o
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Q1| [Mid 2008/Q23] i
A-]—L'_“*""—”wa——ﬁﬁw]n 20 % of doposils 0 cas

In a banking system, all banks mainta ]
i
I ant net w
One bank receives a new cash deposil ol §200. subseque
banking system are 2ero. 'm dcpos'ls
| Increas® in bé

ta
What will be the resulting increase in bank loans and the (0

B

[T incroase in bank loans 7&5@;{5&3@@935@3& !
A suso“ o $200

| B $160 $360

; c $800 $1000

. D $1000 81000

Q2 | [M/MJ 2008/Q25)
The diagram shows the market for loanable funds.

rate of
interest

A s
increase inhe;propen

PR MR R =

B

R WY 28

C advances in technology and a decrease in bank lending
D

a decrease in the propensily to save and the introduction of new products

Q3 | [O/N 2008/Q15]
What will be the short-run effect on the |
according to Keynesian theory (assuming

evel of output of an increase in the money supply,
the liquidity trap does not apply) and according to

monetarist theory (assuming the increase is unanticipated)?
effect on output
Keynesian theory monetarist theory
A increase increase
B increase unchanged
c | unchanged increase ,:
D ' unchanged unchanged 1;

- <3 A9 P f? ‘.;‘




svo/ulu Rl 80 Ll oo haingt. mcluliin Conld el pdatinits s tuct g et M Asdiil A 2l QS
b - rEe TR e quanlity of money rises by
ey rises b
| " . s y
[ the velocily of circulalion of money remains the same, what will
, what will be th

the money v ional i
alue of nalional i : :
ncome and the price level? e approximate increases in

increase in mon-e'—'—"*"—w—-~~—--~ .
- _Xfl_“_?j_f’ir“a"onal incgme increase in price level
N et e s et b
59 h
A Yo 2%
5%
. 3%
8%
) 2%
8%
3%
Q5 | [O/N 2008/Q20)
1

The diagram
shows three diff
curves for holdin erent levels of money supply (M -
g money balances (LP). The initial equilib?i?):n gs ast)pzinnc: )l(hree SieiEnt Somss

rate of
interest

0o

Banks create more credit and people
emergencies.

What is the new equilibrium point?

Q6 _[:[M/J 2009/Q17):

Accg"?.'a mg to.m
theJong-run::

A economic growth and full employment

economic growth and price stabitity

e balance of payments

B
C price stability and full employment
D

price stability and equilibrium in th

Q7 M/J 2009/Q22

According to Keynesian theo
demand for money?

ry, in which circumstance would there always be an increase in the

== 1

r_—T;;;I—iﬂr;come price—l—;vel interest rates |
A| increase decrease increase |
B ] constant constant increase
C1 increase increase decrease |
D ' constant decrease decrease
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A 20 200rRchon of the forega achange (ate
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C I mnoraase n mal wages

D oo e rate of marest

Q10 | [ON 200822 A I
N m\l l\ ml\.\‘ I uses e procaads [rom the

QovaTmMman! IR F1 miion of bonds o tha con
s 10 sugar producers who paliiiikm into thair bank accounts.

;,/

N N
su ) t\s\\‘,\\ SUDD

Rl NAes and Coins I alrculation rema

Asuming t i
altios of tha commeraial lqn

R SS SRR

k = S NN
A | bonds +Sinulihion

| _—
! RIS -3 Tl 1;:.

C  rasan
&
{ , PEEANNOREN
D | unchangad j unchanged

‘Tﬁ@:‘ N P\M .
3‘&*'(« “ %\\
~ -l- - ‘\_1_' \'\‘

\\-.
‘. 1!

TN SR A e ) N |
— |} v -
0

@&r

5 =
. A znincrease in the rate of investment
. =n increase In liquidity preference

]

8
C =znincraase in the level of savings
D =znincrazase in the supply of money
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ALIMACRO vy,

L QU2 | (WA 2010/Q18)

he \m‘)- MY ERDOWH Change
§ RUTEEN TN Wl an | nafo
008 ) dnanow meantina ol inanay 8Py Detwnen J004 ;|
Namow money Nroad monay
1~ N — 10
O - J\./\\/\, 4 g S , ’
- N \ lm" "d.;d-.~.l‘-
S O WS v e W . ,"u\._a""'
R - ""‘\"U‘\"""\)‘vv \_" \\\ v “" o™ /.>.«r*"'\“,/'_\/
v e \ R Pt ‘
0- TN | o] S
H3-7 ”uv-."'"ur--”_,---.,,h“‘
- | e R
2004 20047 . \ ‘ [ "
2005 ' 2000 2004 20065 1 2000

\ey
= Eurd area

=== Bnain
== Japan
== United States

Which is the ' :
Supply? only area to have experienced a contraction in oithar of its measures of monay

A Euro area

B Britain
C Japan
D United Stales

CHAI gy

Q13 | [M/J 2010/Q16]

What is a centlral assertion of monelarist cc"" Smic

A Fiscal policy should be used for the ;:‘ n

Major recessions can occur despit? :ynéhanged monay supply
i e

;7 ” ”W‘L‘
The money supply is the main de@rm@nt of aggregalmﬁf!jﬁlary expenditure.
e pelif,

The velocnty of circulation of money is unslable over time.

O 0O w

an T MATS F,. i

s [

LZ**“J"’F

= '\ S dae ',‘-4'(—7 ,.uh oy !
Mu 2010/Q21]5% & ,.,mf B

i:shows the:dentand cdrve%ép&§09ply curyes o(lganabl ﬁnc}‘r;-,; i)

Sz

S,

rate of
interest

0 loanable funds

Which changes could cause the equilibrium in the market for loanable funds to move from

E, to EZ?

A a decrease in bank lending combined with a decrease in business confidence

B a decrease in the money supply combined with an increase in the propensity to consume
C anincrease in bank lending combined with an increase in the produclivily of capital

D anincrease in the money supply combined with a decrease in the productivity of labour

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845
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A2/ MACRO — [MCOQ] — CHAPTER 3

If1he money, Supply is fixed. a decrease in economic aclivity

A inCreases iNterest rates.

B8 increases the transactions demand for money.
C raises the liquidity preference schedule.
D

reduces the income velocity of circulation.

Q16 | [O/N 2010/Q17]

According to Keynesi

an theory. when will an increase in the money su z
oulput unchanged?

- ,o $3 | PR
oy lezves tha !

when the hiquidity trap is operative

when the money supply increase was not anticipated

when there is a floating exchange rate

o o0 o »

when there is an immediate adjustment to expectations ab

cut future price levels
Q17 | [O/N 201OIQ18] - '

-

According to monetarist theory, what will be the

S
unexpected increase in the money supply o

S O

n the real w;

kéar.d the long-run effzct of an
El?

\
\
t\ short-run : long-run k
i A decrease increase
2 B decrease unchanged
i C unchanged increase |
(D | unchenged  unchanged |
Q18 | [O/N 2010/Q22]

B theiprice’of equities®

=5 ESN A=Y
C the price of government bonds
D

the velocity of circulation of money

Q19 | [O/N 2010/Q23)

The diagram shows the market for loanable funds.

rate of
interest

© kanabdie funds

Which changes could cause the equilibnum to move from E.lo E;?

A adecline in business confidence and an increase in bank lending

B adecrease inbank lending and depletion of natural resourcas

C anincrease in the propensity 1o save and the discovery of new mineral deposits
o]

improvements in lechnology and reduction in the propansity to save

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) 103041122845
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Q20 | (M1 2011/Q18) B
whal will expand the money supply In an opun economy?

A acurrent account balance of payments delicil

B anincrease in the cash reserve ralio of commercial banks
C governmenl borrowing from domestic residents
D

government intervenltion lo prevent an apprecialion in the foreign exchange value of
domestic currency

Q21 [ [MIJ 2011/Q19]

According to Keynesian theory, in which circumstance will there always be an increase in the
demand for money?

real income price level interest rates
A constant decrease increase
B constanl increase decrease
(o increase decrease decrease ;
. ,"0\-7
D increase increase increas -"'%
B [
St froey
SO —
Q22 | [O/N 2011/Q17] SR,

Despite a government budget deficit, a country’ si{;ﬁo! ’@gﬁ)ly remains unchanged.

What could explain this?

A The country has a balance of payments

B
(o
D

B The rate of interest will be increased, thereby reducing the levels of investment and income.

i i level
C The level of income will be increased as a result of a lower rate of interest and a higher
of investment.

D The price level will fall by the same percentage change as the decrease in the money supply.

2011/Q23 -
Q24 | [OIN i st rates and bond prices of an increase in the demand for

What will be the likely effects on intere

money?
]
} interest rates i bond prices
A fall ; fall
B fall | rise
: c rise fall
. D | rsc | dse
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A2/ MACRO — (MCQJ] — CHAPTER 3

ect of an unexpected increase in the

[ @25 | M/J 2012/Q20 n eff
According to monetarist theory. what will be the SR
money supply?

A an appreciation of the foreign exchange rate

B  anincrease in output
C anincrease in real wages

D anincrease in the rale of interest

f Q26 ] [MJ 2012/Q23] G
What would result in an increase in the volume of bank deposits?

A an increase in lhe public's desire to hold cash
orrowing from the central bank

B an increase in government expendilure financed by b

roportion of their deposits that banks hold in cash

C anincrease in the p
y the central bank

D an open markel sale of securities b

[[Q27 | [MIJ 2012/Q24]
In a banking system all banks m

aintain 10 % of deposils &

Customers withdraw $20 000 in cash.

Assuming no subsequent net change in
banks have to reduce their net loans?

A $2000 B $18000

[[Q28 ] [O/N 2012/Q21]
The diagram shows three different levels of mon
curves for holding money balances (LP). The initiag

Banks create more credit and people decide
emergencies. g

rate of
interest ﬁ :
MS MS  MS Q‘
0 i .
quantity of money Q‘
Q29 | [M/J 2013/Q18] \
A country's central bank engages in a policy of quantitative easing (open market purchase of =
securities).
P
H . h. . ¥ 1 iﬁ
ow is this policy meant lo affect the quanlity of narrow money and the quantity of broad money?
! effect on effect on -
L f narrow money broad money
o s s [ <«
! increase ! increase ‘
"B }' increase decrease <
Cc Jl decrease increase \
D | decrease i decrease :

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845
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QA0 | [MA) 2013/0110]
Acoording 1o monalanst eory, whisl will lm this shitgt-ron wlfe !
prica fayal ol an umantelpalal ineaaso in i inoney & m/p;;l’;' PICTIE e
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CHAVIVIL 4

{4 titgn it sitnd 1400 11y '!

e etk Amsdatod

031 l [Ml.l 2013/()41]
Olhar things reay f
naning une Imn(;ml vl 16 fike
i1y 10 bt 11 NS of 11558548 A Co5h
withdrawals from tha commearcial hanke? / ! o W, s

B et

A aninflationary spiral
B anincrense In the cash rasarvas of tha commercial banks

C anincransa in the liquidity of lhu commercial lmr/f;}
A,

D arastriction In the nhlmy of the f.mnumml.)l hm‘

s

145 A
LPy LR, ‘m ‘,5
‘w'{{v’]r /
" ‘l,r
/’ { "’/‘.
rato of ')/ / ;,,,/ 3
) intersst ] N { / 7
|-l
N ’é‘{‘ 7.‘%( .I;JA
-~ Fferererensances ll ‘(/5
l,h« '-ﬁ"’_‘ T
R o ——-.Uu a4 1, N WS
. eovitts .\i ' i o ; 17, 4% A
.Wj :,,,7 ;; /‘;‘(uunnhly ()/[ |()rmy77[; %’f!}"? f,,’é‘; ,I
: ' gl by e e T
S Gttt shiffin tho In(umjul‘]f)r«-fnréncé s Wam CHG P :W‘?Z 325

The rdln of lmér(- oA rises 5 ¥t res
Which policy might be used to try to maintain the role atry?

A increased government expenditure

£V

B increases in indirect taxcs

|d£,

C reductions in income tax rales

D the purchase of bonds in the open market

S

W
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W SLRILELLD

TE|TTE™ Thowe Shanpes in broad and narrow measutes of money supply between 2004 and

Narow mons Broad money

P, 16
S 12
=" © % 8
b 4
Sl R—— — 0 T T
200 2005 2008 2004 2005 2006
axx
- Tueoamn
—— Snam
—— B3
— lmusr Sores .
hah = the only 3tE2 1o have experienced a contraction ige
=Ty

J
|

§]
|

8}

mi=r Smims

S3£ | JOIN 2013/015]

mich 2===mion could be described as mondia

X 7= mizest sizsiicity of investment e

e
oy

mm;r e

0= sovfws,smz;; =

Lozordmo 1o isanzble funds theory, what will cause the rate of interest to rise?

£ = d=cr==2s2n the demand for money

W

zm inzrzzss in ihe level of savings
T =m mor==s2 in the rate of investment

D =n mzrz=2s2 in the supply of money

255 W) 2014/Q18)

D= = givan period, money income in an economy increased by 6%. Over the same period,

Trio=s 7052 on 2varage by 4%.
MW=t ©=zm H= d=ducad from this?

£ Fz=l mcomez increased by 2%.

]
=)

Tz moome valocity of circulation decreased by 2%.

~iz monzy supply increased by 10%.

)

= wolumz of output decreased by 2%.
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Q37 | [MIJ 20141Q17] —_—

K4

™ 9 @ W

A closed economy has a banking system consisling of a singl
cash ralio of 10%. 2 ale bank. The bank operates with a

Customers deposit $20000 in cash.

Assuming subsequent nel withdrawals of cash from the banking system

! f .
maximum amount of loans thal the bank can creale? 8/@ zaro, whal is Ihe

A §2000 B $18000 C $§180000 D §200 000

Q38 [ [MIJ 2014/Q21)

The diagram shows the market for loanable funds. The markel is in equilibrium at point X.

rate of
interest

Q39 | [O/N 2014/Q22)

According to monetarist theory, if there is an ntici \ Srease in the money supply what will
be the short-run effect on money wages, realWwag :of employment?

money wages

decrease

sav dECrease oy

3y

increase

o,0 @ »

Q40 | [M/J 2015/Q18)

Other things being equal, the money supply in an open economy \will increase if
A domestic banks increase their lending to foreign borrowers.

B the central bank buys foreign currency in the foreign exchange market.

C the government sells bonds to domestic residents.
D

there is an increase in the volume of imports to the economy.

Q41 | [MNJ 2015/Q22]

Assuming a constant income velocity of circulation of money, if the price level increases by 5%
and the money supply grows by 2%, whal will be the approximate change in real output

(transactions)?

A -3% B -2.5% C +3% D +7%

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845
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1
"“\”"t‘l‘i‘t:\u: l'lﬂ\ showa (ha determination of the rate of Interest in the economy, where M represents
Y RUNPlY and LI teprasents llquldity preference.

LP, LB, M

rate of
Interest

0

A anincreate In national income

—_—
-

an inGrease in the money supply

~

2 areduction In investment expenditure "

—~

) A |mlm,llou In the loans made by the prﬁ’rﬂ

QAR | [MAL 2018/ 124 s —
Why will an atonary process e ronght 1o n hail 1 iha money supply 15 held constant? ==
A Consimption will decisase o money somss decling
W Governmen axpanditure will have (o ba ieduced as government revenues decline,
G The ale o Intsrest will 1ise as more monay ls required for transaclions purposes.
D The stimutus o invest will dacline as the real burden of cornpany debt rises.

QN | M 20160024) =

044 [ [OIN, 20151921L s

What istikely ta'bo? na»‘ém
governmont soeyitiag by (\ ‘u,nt‘

7 Inlomz,l ml; money supply
A incronso increase
B incrense decrease
C docroose decrease

~ D Aqu‘ftl 0050 increase

Q45 | [M/J 2016/Q25)

According to Keynesian theory, when will an increase in the money supply leave the level of
oulput unchanged?

whan the liquidity trap is operative

A
B whan the monay supply increase was not anticipated
C when thare is a floating exchange rate

D

whan tharo is an immediate adjustment to expectations about future price levels

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845 E
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Q46 | [O/N 2016/Q26]

What would cause an increase in the transaclions demand for money?
A afall in the price of bonds

B anincrease in nominal national income

C anincrease in the rate of interesl
D

an increase in unemployment

Q47 | [M/J 2018/Q28]

What is likely to follow if a central bank sets negative interest rates?

A anincrease in government revenue
B anincrease in the rate of inflation

C areduction in bank lending
D

deflation in the economy

1| E— I

bank intervention (quantitative easing). Key actiong#yge been omitted from the process.

AR

Q48 | [O/N 2018/Q26) 8
. - - P - : sionary central
The diagram outlines the monetary lransmnssuonﬁ?\amsm following an expan
;

short-term inte =

AT

A 3 4 ?

g b;_]ys rise falls
Cc sells fall rises
D sells rise falls

||

Q49 | [O/N 2018/Q27]

In Keynesian monetary theo
interest rates?

A if bond prices are expected to rise
B ifinvestment demand is interest-inelastic
C ifthe liquidity preference schedule is perfectly elastic

D if the velocity of circulation of money increases

ry, when will an increase in the supply of money not cause a fall in

|
i
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mand to hold money fn
omy. The market is 1N

Q50 | [M/J 2019/Q26]
The diagram shows a liquidily preference curve (LP) representing thecgﬁ
relation to lhe rale of interest and the money supply (MS) in an €
equilibrium al inlerest rale r.

MS
rate of
inleresl
[ D LP
| 9 quantily
of money

. . ?
If the government increases the money supply, what will be the effect on the interest rate

A falls below zero.
B falls to zero
C increases

D no effect

Q51 | [M/J 2019/Q28]
The graph shows a shift in the liquidity preferg
&

rate of
interest

of money

What might have caused this shift?

T — increased pessimism
Ian 'T.C i e about the future
real national incom of the economy
| A v v
| B v X
C X v
D X X ]

‘g AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845 E
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| Money, Interest Rate Determination & Monetary Policy |

zhf extent of the credit creation depends on the size of cash ratio bank m
20% then the credit muttiplier is 5.

aintain. Thus if cash ratio is

STEP 1: Credit Multiplier = 1/ Reserve Ratio = 1/0.20 = §

STEP 2: Calculate the total increase in cash by multiplying credit multiplier with the new cash deposit.

Hence increase in bank deposit would be 200 x 5 = 1000

lshTEP 3: Check how much loans is generated: Since the bank keeps 20% as cash deposit it wil give
e rest 80% out as bank loans (1000 x 80% = 800)
[M/J 2008/Q23] |

T - ) -
he demand and supply for loans increased. Discovery of ofl reserves leads to increase in demand

for loans since peo i :
> ple want to take loa ness. Higher MPS leads to more
funds available to lend money. s and maybe start up a bus! ?

A [M/J 2008/Q25

Q3 [ A

Bolh Keynesians and Monetarists agree that L-‘
In AD and hence an increase in output. In the longs

€conomy operates at full employm i 3
olto ployment and inct 357

538e in money supply would resultin an increase

iBowever monetarists assume that the .

soney supply would not result in an increase in
Ciid

[O/N 2008/Q15]

[Q4 TA

MV = PT

stiresult in the same increase in PT
ed:0y 3% and the money value of NY by

[O/N 2008/Q18]

= {éy ‘._‘_:::y ~:

8y (thespeculative demiana:

SRS

86 thé defand formoney. =

[Q6 [ C

Monetarist believe in a tradeoff between inflation and unemployment in the short-run only. According
to them no such trade off exists in the long-run.
[M/J 2009/Q17]

Q7 [C

Increase in real income or price level both result in an outward shift in demand for money whereas a
decrease in interest rate causes people to prefer higher cash balances.

[M/J 2009/Q22)

Q8 | B

MV = PV
Change on the left side of the equation is 8%. The combine change in PY on the right side of the
equation must also be 8%. Thus if the change in P=5% then change in real output must have been
3%.

[OIN 2009/Q16

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122843 l
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[Q9 [B
An increase i
e in MS cause i
s the inte
rest rates to fall and AD (o ri
ise, this e
outcome i 8 InCottect betey
. Option C is incorrect begil!:q
s€ increase

increase. Option A& e

' D ar o)

; ¢ e the rev e d

n MS would increase both the mor?er; W:’:]f e and
ges and pr

ice level,
[O/M 2009/Q17] |

[Q10]B
When the
govt. sold bonds: T
A : The
and get their money from the 90\5/2 are assels for the bank. As th
rnment. [Hence assels i.ncreasi:ct:)ymsr?erdal A o
million Bonds] e

p cers depOS' . C h
|t. h i s' hp f
“ e casnis depo |'ed baCk in the bank thls increa
ses the llablm/ o}

the bank. This i
. s because whe
never cash comes i
into the bank it is a liabili
iability of the bank. [Liabiliti
4 bilities
[O/N 2009/Q22]

increase by $1milion].

of interest to rise. Option B and

ly of funds hence driving the

[Q11]A
If the rate of inv i
e estment inc
D indicate Keynesi reases demand for funds th
ynesian LP theory whereas option C wourlcjisirfirfé?ér:;p
O/N 2009/Q23

rate of interest down.
Japan

m/J 201

[Q12]D
Only US regi i
gistered negative 2
e X € growth of narrow m i€ itai
xperienced positive growth of both broad and nﬁéong: Smuzrag} i;;rea, BiEEE

incorrect because in

y in the short-run.
m/J 2010

cect. Option Dis
d unstable onl

[Q13]C
Options A & B reflect Keynesian economics
locity of circulation

monetarist economies ve

ease in
d increa

whereas a decr
e in MS an

increase
incorrect while

[Q14[A
A decrease in ban i
business confidence would shift D1 to
ply of funds to; , 2ok, AN
Saiaaiictivity cause; fgirise hence Cisi
gtivity would reduce D for funds.
- M/J 2010/Q21

MPC both will cause SUP

pause S to rise whereas an increase 2

increase in MS would increase S ang;a:gegrease in labor B
g =

does not lead to any changé

money supply
change in the output.

exists the change in
ding to N0

vestment lea

n a liquidity trap
nge in in

t wage increé

Whe
hence no cha

Un but workers would not accep
shift to another job or @

w they can

e in the short-r
un becauseé no

Rising pries will red
than the inflation rate in the long-l
opportunity.
as keeping it in savings does
Hence the v

money
dto interest rates

end to keep idler
relaté

t
nversely

onds arée i

people
sand b

if the interest rates go down
price of equitie

good results.
circulation will decline.

17784

L

T Yale 10708) l 03041

nds). Decreas
in bank lending will

1Q16

sein

ase less
petter paying

[O/N 20

10/Q18]

not yield
elocity of
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e e
e

2030

: o in the business
here is a dec/n ., floans
ased. SInpe l sed jending the suppl‘/ o .
ks have increa backwafd hence

Q19 A
The{demand decrease and the supply for money incre
confidence the demand for funds will fall, but since ban , curve i
will increase. In Option B the bank lending decreases which shifts the SUPfi’r%,ease in demand, Option
the option Is incorrect, Option C will lead to increase in supply but also an

, o correct.
D will lead to an increase in supply but also an increase in dMO’L‘JO/N 2010/Q23] |

Q20 | D I

- d sell loca
In order o prevent the appreciation government will have to buy foreign Curre?‘cyoa;tion Aand B
currency in the foreign exchange market therefore it will increase money Sl'Jplp /‘d (o more Money flow
suggest a fall in money supply. This is because a current account deficit will lea

Option C will leave MS unchanged. "/_-JM/J 2011/Q18] |

Q21| B ' transitionary
The Keynesian model is the liquidity preference theory. A rise in price level will gausz raease i
demand for money and subsequently the overall demand for money to rise. While a decr o iy
interest rate reduces the opportunity cost of holding cost and therefore will increase the d

demanded of money. Real income is assumed to b%}fonstanl. /’__[M/J 2011/Q19] |

Q22 | D
A budget deficit means that the government earjj;
order to keep the money supply unchanged thg;""
from the people. Hence if the government sellg:bd

th —

&g'Trom taxes and spends more on the people. In

e ke the money back
Eipment somehow has to take tne

| /the public the same amount is taken back by

<lg;
gféfﬁ%‘supply-

th

;v

Option A is incorrect because this will incre;
B is irrelevant. Option C is incorrect becauyst

Q23] B i iy

A decrease in money supply causes tﬁé‘;{mé“r'est rates to inctegeeiAeading to a fall in investment and

o, N 0, A
T T P

: bk, 7 %‘fr?i‘) fes

in option B.
. 2 [OIN;20121Q22]

5] ]

Hodeon syt

Q24 [ C g :

Ry

e il AT ¥ AL, ¥ T Sy ! '_
When-he demand for-mohey increastsy it incréases (hgin(erestrates. Mow thieintefestrate andthe
price of bonds are always inversely proportional. Hence if interest rates increase the price of bonds

will go down. Hence option C.
[OIN 2011/Q23]

Q25 [ B

An increase in money supply increases the AD therefore the output will increase in the short-run only.
[M/J 2012/Q20]

Q26 [ B

Bank deposits will only increase when the money supply goes up. Hence option B is correct because
it leads to an increase in money supply.

Option A is incorrect because if people want to hold more money they will not deposit it in the bank.
Option C is incorrect because if the bank holds more in cash its deposits will decline because less
loans would be generated and hence lower deposits. Option D is incorrect because if securities are
sold by the central bank then then money supply would fall and so will the deposits.

[MJ 2012/Q23] |

AATIK TASNFEM I A2 T FEVET - ECONOMICS (O702) 1 0204119904%

A

}
K

¥
-

Ne

S SRR

"\

0

)

Y

i

¥

N

I

N

)



<«

. 5 6 ¢ € G U U U

Q ¥ U U

-

J VO » 9 2 3

J

w
®

“Thhe exient of the credit creation depends on the size of cash ratio bank maintain, Thus if cash ratio is

A2/ MACRO — [MCQ] — CHAPTER 3

Q27 | C

10% han the credit multiplier is 10.
STEP 1: Credit Mulliplier = 1/ Reserve Ratio = 1/0.10 = 10

STEP 2: Calculate the total decrease in cash by multiplying credit multiplier with the cash withdrawal,
Hence Increase in bank deposit would be 20,000 x 10 = 200,000

STEP 3: Check how much loans is reduced: Since the bank keeps 10% as cash deposit it will reduce
the loans by 200,000 -~ 20,000 = 180,000

Koy Point: whether the question asks about loan generation or loan withdrawal the method to the
question remains the same,

[M/J 201 2/Q24] |

Q28 | B

Banks generating more credit: This shifts the MS rightwards
People Increasing cash holding: This increases the speculative demand for money hence shifts the
LP outwards.

O/N 2012/Q21]_
Q29 [ A | 7
1. Narrow Money: This includes-only notes and %5‘[ wcirculating in the economy. \
2. Broad Money: This includes Narrow money +§§3 _-‘peposits ' h
3. Quantitative Easing: This method is used to,ﬁ}j’,g't 46 money supply in the economy. Hence bot
narrow and broad money will increase. .:3'%1‘.‘.’1*5};, | (M1J 2013/Q18] |

Q30 | A ?

Monetarists short-run: They believe that i
and output. i

. i v n2): - . .
Monetarists long-run: In the long run output.does not changeé:therefore only increases.the Frice level.
) 9T S G [M/J 2013/Q19]

) 4
LONE P Y o 44
g )

Qi |D Al

When money is withdrawn from a commefcial bank it leads to a reduction in the bank's ability to lend.

Option A is irre[qya\in!‘f;a tions B}r‘% %@fe incorreat becausg;jytgmjll,{pguge th"giam%%i%% 'i~° i}g?nd

hence theiliquidity’ o &»{i A iy ) f BN P

T Lap i ] . [MI2043/Q21
i - - ¢ Wb 1A o4

Q32| D

.....

Purchase of bonds in the open market will lead to an increase in MS and therefore maintains the rate
at 11, Options A & C will increase income hence leading an increase in LP increasing the interest rate.
Option B will cause price level of rise again increasing the LP and interest rate.

L (M/J 2013/Q22]

Qi3 | D
Only US registered negative growth of narrow money supply. Euro area, Britain and Japan
experienced positive growth of both broad and narrow money supply.

[O/N 2013/Q18]

Q34| B
Monolafists believe that MS in the main source of aggregate monetary expenditure demand. Whereas
Keynesians believe in government intervention and more on the demand side of things.

[O/N 2013/Q19]
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Q351 C
The interest rate will go up either the money supply decrea
Hence Option C is correct as when the rate of investment incr
bence pushing the interest rates up. Option A will reduce the interes
interest rate. Option D will reduce the interest rate.

creases of the demand for money goes up-
eases the demand for money increases
{ rate. Option B will reduce

Q36 [ A

MV = PV : i

Change on the left side of the equation is 6%. The combine change in PY on the right side otf):he

;g/uaﬁon must also be 6%. Thus if the change in P=4% then change in real output must have been
(-

Q37| C —
n. Thus if cash ratio 1s

The extent of the credit creation depends on the sizé of cash ratio bank maintai

10% then the credit multiplier is 10.

STEP 1: Credit Multiplier = 1/ Reserve Ratio = 1/0.10 = 10

STEP 2: Calculate the total increase in cash by m Qlying credit multiplier with the new cash deposit.

Hence increase in bank deposit would be 20,000 £ 200,000

STEP 3: Check how much lozns is generated: $iff 7 ank keeps 10% as cash deposit it will give
the rest 90% out as bank loans (200,000 x 90%Z488500)
p 75

Q38 | D

Decline in Business Confidence: This vill shiftfhe demgH g;gwe to the left.
Increase in Bank Lending: This will shift t fiply cur/éaptie right.

Hence the new equilibrium would be D.

b [M/J 2014/Q21
(4
Q39 [ c }é’i}' £a.1:’?f' 4\
short-run, While increase

- ez
7n increase in MS is likely to increase money income, and real wages in the

i /7170 o,
7 W A ik

in money,wages gquld,igdugezgm;goyment.;}rlgw/ayepﬂ»al ingomg feils qgegtoﬁincrease in ;%rj;:aéiayel.
Zahy A w4 Ly DT il G ek, G e L e T
el e w1 A W % 3‘,*, Wi, 25 i i QIN20141Q22
TN i o (724 . a5ty e 7 srA A A5
7oA A h, i B s B

i}
3

Qa0 B A

will Tead to selling of local currency in the foreign market hence increasing the

Buying foreign currency
as they suggest outflow of money

money supply. All the other options result in roney supply to fall

Change on the left side of the equation is 2%, The cornbine change in PY on the right side of the
equation must also be 2%, Thus if the change in P=5% then change in real output must have been

__,’)0/0’
[MIJ 2015/Q22

frorn the economy.

[ — [M/J 2015/Q18
Q41 [ A —— il
MV = PY

3 3

_ |

Q42 | C

Option C is correct because when the iransitionary demand for money increase it shifts LP towards
the right. As a result, the interest rates goes up, Hence reducing investments and consumption which

leads to a fall in AD leading to lower inflation.

[M/J 2015/Q23)
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Q43 [ A
The liquidity preference will increase. Therefore, the increase in money demand will result from

increase in national income. Increase in money supply causes interest rates to fall this B is incorrect

Option C & D are not related.
[M/J 2015/Q24)

Q44 | D

If the government buys back the securities this will increase the money su is wi
fall in the interest rates. y supply and this willead {0 2
[O/N 2015/Q21

Q45 | A

A liquidity trap egists when demand for money becomes perfectly elastic and any change in money
supply fails to bring a change in interest rates and hence output.

[M/J 2016/Q25] |

Q46 [B

the transaction demand for money. Options A & C will affect

An increase in national income causes
kely to reduce transaction demand for money.

speculative demand for money. Option D is li

Q47 | B

the nominal interest rate drops below zero

and other financial firms would have to pay to
interest income.

negative that shows
Il lead to increase

A negative interest rate environment is in effect whg{\
percent for a specific economic zone, meaning bafiKs
keep their excess reserves stored at the central {ankrather than receive positive
Changing the interest rates is part of the monetdgpdiicy. If the interest rates are
that the government wants to implement an exgal] %2 monetary policy. This wi

in AD and ultimately increase in output and i

Q48 | A
In quantitative easing the aim is to increase’!
bonds. This lead to an increase in money:su
AD increzases.

A “p;)Iy When the government buys back the
£t o5 the interest rates. AS 3 result the

[O/N 2018/QZ6]

Q49 [ C
Liquidity trap is

The demand for money increased. This happens

[O/N 2016/Q26]

/

M/J 2018/Q28] |

happens when the liquidity
e < e ) 2018/Q27]
= F = % =y E J} ey
= el ‘,Jr U8 i B
money sdpply willhaveno impact S the fifterest

[M1J 2019/026]

rate.
Q51 | A — i
when the national income increase and pessimism

has increased SO people want to hold more money.
[M/J 2019/Q28)
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AL A%

PO M_l ’,\fjfl!
, of unemploy
An ecanacmy is oparting inlially At its natusal 1ate of shott qun 304 10

ot in the

e
Al on unemg
According 1o monelans! theory, what will be the I_Htff,'m" iy

the 1ong run of an unanticipaled increase in the money $UF

T T
f A J na changn no change
B no change reduclion
Cc reduction no change
D reduction reduction

Q2 | [M/J 2008/Q27]

] oth increase.
The number of people employad in a country and the layel of unemplo[mem b

What could make his possible?

A nelinward immigration
B adecrease in the level of unemployment benefils 4
Wity
C adecrease in the age at which slate pensions ar'
D anincrease in the number of students ik
A
Q3 | [M/J 2008/Q28] o7

The diagram shows the relationship between the rate %f;;%ﬂ{?f
R e
7

inflation
rate

et vt K 'w“'.-' “

:ZF» &é )
A S e
w G 0eme
What would cause the curve FG to shift to JK?
A

a decrease in government expendilure

B afallin the level of employment

C anincrease in the rale of change of wages
D

the expectation of an increase in inflation

Q1 [ M 2008/Q19]

Q4 | [O/N 2008/Q22]

Which pattern of labour market data is likely to indicate an increase in cyclical unemployment?

changes in
compulsory voluntary
redundancies resignations
LA decrease increase
B increase increase
c decrease increase
LD increase decrease

AATIK TASNER -
MK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845
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(@5 _] [O/N 2008/Q23]

What will happen il a g
% by expansionary monelary policy?

overnment persisis in lrying o 8

A2/MACRO — [MCQ] — CHAPTER 4

|

§ ‘e GO
The natural rate of unemployment in an economy Is 9 e

chieve a targel rate of unemployment of

A an accelerating rate of inflation
B adiminishing rate of inflation
C ahigh bul constant rate of inflation
D anegatlive rate of inflation
Q6 | [O/N 2009/Q24]

A

B
o
D

In the diagram, the curve X, shows an economy's initial \rade
unemployment.

rate of
inflation

_ofl between inflation and

What could cause the curve to shift to X;?

an increase in lhe natural rate of unemploymenl

a decrease in the money supply

the expectlation of a decrease in the inflation r

an increase in the rate of interesl

Q7 | [M/J 2010/Q24]

|
]

An ecanamy i ing.ati
Qll% yls ‘ogre’raigng;%g

s-halural

el

cehirfcreasanin the moneYsUPPIRT =

cl:dnstinemplay

RERTINTYR A g et ;"

ill be theéffe

short run long run
A no change no change
B no change reduction
o reduction no change
D reduclion reduction

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845
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Q8 [ [MIJ 20107025

The diagram show

s i i : !
unemployment, the relalionship between the rale of increase in wages and the rate of

rale ol
increase in
wages

0
rale of unemployment

What would be likely to cause the curve in the diagram to shift downwards and to the left?

A areduction in regional differences in unemployment rales

anincrease in the proportion of the workforce belonging to trade unions

B
C anincrease in the unemploymenlt rate
D

the expectation of a higher rate of inflation

Qs | [M/J 2010/Q27) )

Which is most likely to result in an increase in the natur

A adecrease in government expenditure on goods.
B adecreasein the level of government paymenls*?
(of

an increase in trade union membership

D anincrease in interest rates

Q10 [ [M/J 2011/Q14]

An economy is operaling at its natural rate of

According to monetarist theory, what will be the effect on unemployment in the shorl run and in
the lon n:of an upanticipaled:incregse:-n theamoneys: 2 =
9 ot an uppnicipaieding ey NeponersinRll o

3 - o4 ) @

B
L Y|
Py Y
A no change no change
B no change reduction
C reduction no change
D reduction reduction

Q11 [ [M/J 2011/Q23]

The diagram shows the relationship between the rate of inflation and the rate of unemployment.

inflation
rale

G
K

unemploymentl rate

0]

What would cause the curve FG to shift to JK?
A alower exchange rate
a lower expected rate of inflation

B
C anincrease in governmenl expenditure
D

arise in the level of employment

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845
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Q12 [ [O/N 2011/Q6]

The lable shows the labour markel for an economy in four separate years.

In which year was there excess demand in the labour markel?

: working population unemployment job vacancies—]
(millions) rate (%) (thousands)
A 19 1.0 180
B 19 2.0 80
¢ 20 1.1 240
D 20 1.5 100

Q13 | [O/N 2011/Q26)

The diagram shows an economy's short-run Phillips curve (SRPC).

SRPC

the rate of change
in money wages

(0]

What is assumed to remain constant when drawing this,@w*ér

e

A the average price level £

B the exchange rate
C the expected rate of inflation
D

the money supply

Q14 | [M/J 2012/Q28] s ey

The number of people employed in a country and the level of unemployment both decrease.

B anincrease in the level of unemployment benefils

C anincrease in the age at which state pensions are payable

D anincrease in the number of students

Q15 [ [O/N 2012/Q22]

An economy's unemployment rate is below the natural rate.

What is likely to be the implications of this for inflation and what can be deduced from this about

the economy's actual level of output?

inflation actual outputl

A acceleraling below potential output ‘
B . accelerating above potential output i
c | decelerating below potential output \
|
|

] 1 N
gccCeiciaully

Q

L
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1 Q16 | [ON 2012/Q24) N st U
. s e e’ ald
Whal is most likely to lead to an increase i {he matural TR O UnEmIDRY i

A more rapid lechnologreal and structural changs
B a widening in regional wage differentials
C  a narrowing in regional house price differentials

D adecrease in trade umon membership e

T ——————

[ Q17 | [O/N 2012/Q25) — e SRR
Which type of unemployment srose from the worldwide degling I i Jomand 10f LIS

goods beginning in the summer of 20017

A seasonal
voluntary

frictional

Oﬂm

structural

[[Q18 ] [M/J 2013/Q24] ,
Which policy is specifically designed to reduce thg R

~
NUITWEA] VNS 7‘.‘\\‘ N nu\

Ay

A anincrease in the level of state benefits P2y

B areduction in interest rates
C
D
[Q19 | [O/N 2013/Q23] e ]

A
“’%ﬁ\ ———
;

A country experiences cyclical unemploﬁw

If the government takes no action in response, w hat will be a Tikaly cong \‘ rRNOR Y _— -
S Ja "\;‘f}xt‘m EA &-\; W \\‘?f’bt%‘\* r\mw‘\\ '\‘h\:% WA R @ \:
A anfntreasen the cu Ecﬂ&nty\d' cit oxfjhe L»iﬁ\hx \\ﬁ\ \‘

'«. A 3 " { N \\&t 2
B ofincreassin thegoxfernn?’@n[ bu‘ﬁbu defict AN W
C anincrease in the rate of inflation
D

an increase in the volume of investment

[[Q20 | [O/N 2013/Q24]
( What is a possible combination of a cost and a benefit of nsing feveld of namployinent S

F J cost H {*on}‘m
A a deterioration in human capital | an increase in capital expenditiee
B an increase in import expendilure | adecrease in goverimet ax revenue
C | anincrease in the rate of economic growth a more teeponsive warklowe '
D an irrelrievable loss of output o |_vq‘uchon mntlationany pressiae |

PN DA T M R L SR
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021 | [OIN2016/Q26)
An aconomy is opaealing atits natural rate of unf:i;)?plr)‘/nm‘m, j
According 1o monalarist thaory, what will ba the offc
5 7 1ct on unemployment | 5 i
the long run of an unanticipated incraase in the money supply? PISImETLIL e ShetCth andiin
- short run ' long run
A no changa ! no change
B no change reduction
C raduction no change
D reduction reduction J
Q22 | [M/J 2016/Q23] l

Which type of unemployment occurs when aggregate demand is deficient?
A cyclical unemployment
B regional unemployment
C seasonal unemployment
D

structural unemployment

Q23 | [MIJ 2016/Q24]

S

The diagram shows the annual percentage n
private seclor between 2000 and 2012, 1

4 1 output
o \
o v,;bg y; jg;ég; .....
emgloyient
r.'su}—m‘.xg

(et DRI 1 g RS rs ’.1\51"'! RTRG

rd B ‘i )y Pt I 3 X
B T W s
w T2 T T ,[",.,yg

pReid

e , ‘%MW$< )
Y2000, 2024 06
305 2000 gD, 04 340%:

<
PR e

In which year did labour produclivity increase the most?

A 2003 B 2007 C 2009 D 2012

Q24 | [M/J 2017/Q19]
ce the level of structural unemployment?

Which policy is specifically designed to redu

A anincrease inthe level of state benefits paid to the unemployed

a reduction in interest rates

B
C areductionin the level of direct taxation
D

the provision of relraining schemes

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845
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[Q25 T [wiJ 2017/Q23] W

Why do some economists sugges! there may

rkers lo become discouraged

A A shorl spell of frictional unemployment may lead WO

aining in newly emerging Skills.

beller match of workers and jobs.

B Frictional unemploymenl allows lime for relr
ployment may lead lo @

C Job search during frictional unem fact
omic effects.
D The psychological effects of frictional unemp'oww/

[ Q26 | [O/N 2017/Q24]
What would not be classified as struclural unemployment?

ed by a robot on the produclion line
se of increased use of solar power

A acarworker who is replac

B acoal miner whose mine closes becau
onths

C a fruit picker who cannot find work in the winter m

D a textile worker whose factory closes as production moves abroad

[ Q27 | [M/J 2018/Q19]
A country has a population of 100 million. There ar

has an unemployment rate of 10%.

What is the size of the labour force?

A 10milion B SOmilion  C  9Qil

[Q28 | [M/J 2018/Q20] I
e

Which type of unemployment is correctly Iin\w

type of
unemployment

A A cyclical“ . achangein denlar'ud.ciue to holiday periods Y S— -
: Tdira W 384
c G i afemparagichangdin cpebrstiexpe e BV
D- [—technological a general decrease in the demand for goods;__f B

[[Q29 [ [O/N 2018/Q23]

In 2007 Turkey had a populatio
for the primary sector and 24
unemployment rate was 10%.

n of 73m. Its labour force was 36m, of which 12m were trained
m were trained for the secondary and tertiary sectors. The

What was the number of people unemployed?

A 12m B 24m C 3.6m D 73m

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845
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hare of real

[O/N 2018/Q24]

An economy’s manufacturing 8 GDP fell from 30% in 1970 lo 12% in 2016.

What type of unemployment would result from this?

A cyclical

B frictional
™ C structural
™~ D voluntary J
~ Q31 [ [M/J 2019/Q23]

> Whatl is a cause of seasonal unemployment?

X A ageneral decrease in the demand for goods and services
¢ B alack of necessary skills in the workforce
S C atemporary change in the pattern of consumers’ expenditure

D an unwillingness ofworkers to move to olherpégs of the country where there is work
3 el

Q32 [ [O/N 2019/Q20] apis

b .
¥ Which type of unemployment is associated willig icigncy in aggregate demand?

cyclical

frictional

@

C structural

|

' D voluntary

Q33 [ [O/N 2019/Q29] =
t')Y N‘w’g“Phllhps curve? HERRENY

What is measured on the vertical axvg’

. S %gi?“
B nge' {tak -home pay
oy : ) ey U s 'ﬂ
C the rate of mﬂat:on
D the rate of interest
\2-LEVEL: ECONOMICS (9708) | 03041122845 ]
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TOPIC 1: UNEMPLOYMENT & PHILLIPS CURVE R

Q1 Tc .

NRU represents the s
Monetarists believe th
unemployment and th
relationship exist, Thi

tructural and frictional unemployment which will always exist in the economy.
at although in the short-run there is an inverse relationship betwean

e rate of inflation due to excess money supply however in the long run no such
S concept is shown ins short-run Philips curve and the long-run Philips curva.

LRPC
9% <

7%
5%

rate of inflation

b s8PC,

3 SRAG,

(S
0 3N su
unemployment rate

[M/J 2008/Q19]

Q2 |A
Net inward immigration means that more people
the demand for goods increa a
over by the foreign nationals. Option B is incorre&
Option C is incorrect because this will only redut

D this will lead to less labor force hence reduc&

aé ~ % Al
oming to the country than leaving because this
lose their job as some jobs might be taken

[M/J 2008/Q27]

Q3 D

A rightward shift shows the price levels andiherate of
only happen if there is a leftward shift in tHaSAS
due to expectation of increase in inflation

NP TS ?i.)”,f.//f

Hence‘{ii‘&]f}'é”%hort-run Philips curvs shiits rightward

e increased. Thiscan |
mployment both have increase can |
€.3This means same level of unemploymeant but with a 1

higher level of inflation. ' & ]
) Ma:» [M/J 2008/Q28] |
Q4 |[D AR \

Cyclical unemployment happens due to insufficient aggregate demand.Jr) ii?cgss?gn;w _cgricg‘ﬁ!_ack
of AD forces the firmsigitayia EWOEKeTS hentgan infRasg @R
lack of job'opportunitiesithe t dejﬁ@j?@f voluntary résigs tfﬁ’?‘

won't find jabs iffhiey.leave theiciiTentiones. &4 |

[O/N 2008/Q22] |

Q5 [A . _ : |
On the Philips curve when any factor moves the AD thg movement is on the Phl_hp; cunve. ~Henc:‘\e“u.e
government is trying to use expansionary monetary policy ihlS‘ will shift the ._~\D I‘Igm\\?‘mi,‘mCFEaalf?g
employment and increasing the rate of inflation. Hence a persistent expansionary policy would eonly
accelerate inflation rate without reducing NRU.

Common Mistake: Some students were able to figure out that the inﬂation will qo up, but were
confused with accelerating, diminishing or constant rate. The reason it was acceleratmg}be.ca’use
wherever money supply is continuously increased the NRU will not change and hence it will keep
pushing prices without changing the level of employment.

[O/N 2008/Q23)

[Q6 [ A ]

|

is indi finflation. X2 curve indicates a higher level of NRU.
The NRU is indicated at zero rate of in T——

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122843 1




Monetarists believe tnataiuuy i wis s~ -
unemployment and the rate of inflation due to excess money supply however in the long run no suwit
relationship exist. This concept is shown ins short-run Philips curve and the long-run Philips curve.

LRPC

S ‘

7% A -
& b - SRPCy

5% aie

< SRPC,
0 3% 5%
unemployment rate
- [M/J 2010/Q24]
Q [C |
ment. An increase in trade union memberships

NRU comprises of frictional and structural unemploy
will lead to firms less likely to hire employees and rep
likely to increase NRU but the question specifically asks wh

to an increase in NRU.

lace them with machines. Option A, B & D are
ich of the options is the most likely to lead

[M/J 2010/Q25

L ———

s increased because rate of unemployment

A leftwarq shift in the Philips curve shows that tHEHS
and inflation are both going down. Hence a reggglis f.regional unemployment disparity would cause

a downward s_hift in .the Philips curve. Optiong" tiid shift the Philips curve outward hence
orrect. While Option C would produce a it fEalong the cure rather than shift the curve.

inc

Key Point:
1_Rate of increase in wage / inflation is
> The PC shifts due to AS factors or du,

n frictional.

. unemployment other tha
[M/J 2010/Q27]

Q10 [ C S 7
NRU represents the structural and frictiongk # h will always exist in the economy.
Monetarists believe that although in the short-run there is an iInverse relationship between

ong run no such

ite of inflalioh ney supply howeverin the g
ncept B atow ~SUry €:

5 o

%’M b T SRPG

& oy %, .

. SRPCy
0 3% 5%
unemployment rate
M1 2011/Q14
Q11| B .

leftward this shows that the AS increased because both the inflation and

The Philips curve is shifting
unemployment fell. Expectations of lower prices and hig

therefore the Philips curve would shift leftwards.

her real wages would decrease the NRU

Key Point:
1. Rate of increase in wage / inflation is the same thing.
2. The PC shifts due to AS factors or due to other reasons
3. Anything the increases the NRU will shift the curve outward and vice versa.
{WiJ 2041iQ23]

for unemployment other than frictional.

l
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Was el (o confouilinte hes it of workeys unsigdo o fof 5761 (’Uﬂ ATl e
N No, of Unamployed Jnob Mugiinsfos . Fyuats of Stvnttsd
100,00() {140,000 | 07 ER——
10,000 10,000 | 0/17 SNR—
220,000 940,000 [ #1017 ————
300,000 100,000 - /10777 ———_
. i 7.4 - /) g A St O
Hance in Yoar 3 tharg wae an azcaes of WOIVGIS SINCH hera Wit (A5 7 157 Jas st i
number of paopla unsmploysd ¥
Pacple unamployac. (oM 1A
Qe ' -

v o son— . e —— — - JE—— s ‘7-"‘/"7 o Al s Vo 2,
Whanaver o curve s diawn the facors that cansa 3 shift ars held constant Heps 5 sige M e
axpacted rala of Inflallon shifts the GIRPC therefora itis heyd crnstan, |

| n shifts the GRPC theralore ) [Qﬂ‘?fl’lﬂoz':_,
Q|n. I

I tho number of sitidents incrensas iLvill result in the fall of Tabor lors and 1 Fedus |
unemploymant,
‘ [} ¢l ¥rite SLi00.5 Velo e
Byl of unemployment 1s the szime 505,

Kay Polnt: The number of people employment 4n )
PEPIA BMPISY. i (113 201202%] |

e |7/, N——
Q16 [ B s,
When the unemployment is below the MU thigitgs ’ﬁa:ffhat faciny eoeieraing
inflation and the outpul is above the potential 'ﬁ/'e;;,y 4 '//';ling inflation rate czuzzs r’zf.u {o »
decrease, People who are not considered p'//g ’ ,,?bé‘rf;/h;;'//- and the potentizl output is messures U
the avallable labor force, Vb, '/// 7 i
1 (4 :
Gl % [O/N 2012/22] |
L Yesyrgy
Q16 | A i, Yz, :
Technological changeas increase structu d%j ;pg‘pges are part ofne structural unerm
structural unemployment is present in WL Nincreases will increzse, Opti
;j_g?ﬂ,{ 51; ipsll
A5
Q17 | D |
pz563.4n thakpartieularindiu ‘
LRL %, éﬁ?f%‘é i
¢ W Do, BEESE S
-4;4 - '(:’;:5,4‘?:;:"-.//’ 7

— a
Structural unemployment is caused by the destruction of jobs in a particular occupation therefore
workers must get retrained before they join other occupation. Option A will encourage people o 3

remain unemployed. Option B & C will reduce cyclical unemployment.
[M/J 2013/Q24]

Q19 [ B

Since the unemployment is increasing the government would have to spend more on unemployment
benefits. This will cause the government to suffer a budget deficit.

[O/N 2013/Q23]

Q20 | D

Cost: The loss of output is the cost of unemployment as less workers will produce less output.

Benefit: Since now more people are unemployed the level of consumption declines. When (C) falls
AD shifts backwards and hence reduces inflationary pressure.

[O/N 2013/Q24]
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(22 | A - ]
Leficlency of ua(lmqnm dainand sugoests recession thiat & assockated Wit msiness ofae W 1%
called r.yr.ll( al unemployment,

’ [M/ J /01 V/O//]
‘fm ‘ Ao . ‘
I 200% the outpuf pun antage Incroased by the g
pmnmllﬁgﬁ Hencs In 2007 the labor productivig

st ot compared 10 the increase ira”f}(ri'{,if‘;ﬁr}l«:ﬁtw '
‘,f the highest,
, ) [JA1J 2016]024)
fm | i) i N
!'Irur,turnllmmnployuuml meanns it when g %ﬂduuwm i country deddines and the lator 16

unsmployed hecause of that, Hence if ﬂmrﬁ/" for rst4aining that means that rather than

W)
Jﬁ@z ;)q‘

firing labor the companias are supposed m i

Option A will ez to psoplea have ,miw;uf/ﬁ"/rj fiot 101 ///ﬂ/ jfvnu it il increase upsmphoyment,
Oplions £ & C vill reduce unsimployimer

buY’: yolica) (e ,mr;ud duficit),
m

(1414 2017/Q219)

o/a | C o

Option € I corect becauss dmw;{(i{"'ﬂ W WIOTKer uu!l/ﬂff{?{)f":yﬁ; that ratches thelr seill sets,
()ptl(m,. /l,, £ & 0 are all negative impacts of frictionsl une mp!r//mr st
it O 5’3;; A Wi g '
(‘]?ﬂ I]d(_,”l IL .('., f; )45} g, '1,1?/& o ” 7 ) ":n:l 5 ffrmﬂrt |
lmrtmaimumlplr/mrmtulmrf lh‘al vihon 4 p./rﬂml‘mmr/ff;/ hr‘ mfr'/f % ;rM th«”r’abr;rr
unmnployml because of that, Hence If o worker can't find work in the winter sezason that shows

gaasondl unemployment, Option A, 1 & 0D all refer to structucal unemployment,

i e i) }‘)17/0

| [0 2017/Q24]
o2 | B | o

Iats of lmmtmloymrmt oK
10% = / 100 = H0milllon,

Humber of unemployed |

7100

Lahior Vor e

Common Mistake: Some students etarted using the figure of population 100million for this
calculation, Alwaye ramomber thit populiation has nothing to dowith unermployment we need the
labor force for s formulae, For students genarally took 107 of 100million and chooses Y0million

thinking that If 10% Is unamployment then GOmillion st be She working wbich wis incorrect,
(141 2018/019)
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C)fclical: This happens because of reduction in AD. [FASLE]
Frictional: Cannot find a job due after leaving the previous one due to lack of information.
[TRUE)
?tructure: Due to a collapse of a particular industry. [FALSE] FALSE]
echnological: Thi d humans.
gical: This happens when technology replace [M/J 2018/Q20]

Rate of Unemployment = Number of unemployed x 100
x Labor Force
10% = 3¢ X 100 = 3.6million.

Common Mistake: Some Students started using the figure of population 73million for this calculaftion.
Always remember that population has nothing to do with unemployment we need the labor force for

its formulae. [O/N 2018/Q23)

[Q30]C —
This will result in structural because structural unen’ggloyment happens when a pgmcular m_dustrx
\@ppens because of reduction in AD. Option B is

collapses. Option A is incorrect because Cyclical Ky
incorrect because Frictional happens when cannqfhn
lack of information. Option D is incorrect because
are reluctant to accept jobs which are low-paid g

[Q31]cC

Seasonal unemployment is when there is ten
will lead to cyclical unemployment. Option §3
A

o
LY R
ihdeid rﬁ:’ﬁ\_. q\t'g!g\

e ry 6}55}?@% in consumer demand pattern. Option A
be dugitofrictional. Option D can be due to regional

<
n

unemployment, AN il
Py ﬁ}\‘ 3 i [M/J 2019/Q23]
Q32 [A A RS
Cyclical: This happens because of (8d 1[on in AD. [TRUEJSS
d ol s r;“féf&i‘l&to lack of information. [FALSE]

Frictional: Cannot find a job due afterfeating the previous
Structure: Due to a collapse of a particular industry. [FALSE]

Voluntary:,This hap enps.whensthedter 1S of thavjab i tfa).{g@gje;yfA 1)
i A TR e e espiped
G

0

5 1)
{ ) SR \ ok
N 2l ) sl a\ N
I Tyt .u\\“ meA Y '&r\‘ S\‘»‘A

R T Tt iy

o
R~ pAch S wrer

pelt TAALEN N

Q33| C -
On the vertical axis we have rate of inflation and on the horizontal axis we have unemployment rate.
LRIC
[
9
E 0% Y
Q 9o \
» 1 b "SRG
g §% Wi
5 arm SRIC
0 WS

unemployment rate

[O/N 2019/Q29] |
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//’7

lesina country?

Q1 | [(WJ 2008/Q29]

Other tings being equal_what is likely to result from an increase in interest ra

= czoaz2! outfow from the country
zprecaton of the country’s currency

A

B ¢

C =z degezsz in consumption
D

2n increase n invastment _’__/:_’/’/////

[ Q2 | MuJ 2008/Q30]
Why might 2 reduction in domestic interest rates improve the current acc
balance of payments?

ount of a country’s

A It wal cause an appraciation in the exchange rate.

8 It wil reduce the amount of interest paid to foreign holders of the country’s financial assets.
C The resulting higher level of economic activily is likely to increase imports.

D

There wil ba zn outflow of capital from the country. a

Q3 | [O/N 2008/Q19]

VWhzt is likely to be the eﬁecl on interest rates and
securities to the public by a central bank?

ply of money of a sale of government

interest rates money supply
increase increase
increase decrease

decrease decrease

O 0O o »

decrease increase

I [O/N 2008/Q28]
|hf= European Union imposes a quota on the volume of garments im

< 3{;\

vw— == = Pzl
=pesT = SN

ported from Cping

. @

- ‘;4; :, u:.‘ }, ‘. A
A areducfionin thé profit margms on garments pro”Euced‘B'y Ciinese textile firms
B a reduction in the inflation rate in the EU
C a switch to producing higher-value garments by Chinese textile firms
D

the closure of Chinese-owned textile factories in Thailand

Q5 | [O/N 2008/Q29]

Without any change in government policy, what will be the effect of an economic recession on tax
revenue and on government expenditure?

government

tax revenue .
expenditure
A decrease decrease
B decrease increase
c increase increase
D ¢ increase decrease
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Q6 | [O/N 2008/Q30]

A country’s government
investment and net exports.

wishes to swilch demand away [rom private consumption towards

ould be mosl likely lo help it achieve this objective?

w -

Which combination of policy measures W

e ; interesl rates rale of incomne tax j

5 A ‘ increase increase :

i B i increase decrease

y c l decrease increase

N D | decrease decrease ' J

y

K Q7 [ [M/J 2009/Q28] _ —1
e has a deficit on

4 An economy with a floaling exchange rate is in recession and at the same lim
lhe current account of its balance of paymenlts.

Which policy combination would be most likely to help with both of these problems?

\
' ’ interest rates lax rates
A | decrease unchanged
B l decrease increase :
C | increase unchanged
D } increase increase |

Q8 | [M/J 2009/Q29]
In 2004 China’s ability to exploit its comparative ad

What could explain this change?
A a fall in the value of the currency of India

B a reduction of the import quota on Chmgge,, - A
ik @u’i—n hed by an mbﬁﬁ“' Al
C arise in the wages of Brazilian col(onﬁ atc HiH
D he Umled States or Amenca 's sub5|dy to ils cotton growers

the removal of t

‘curve”lot Icgfxan{‘ea exports _a_gg Sgi%

price

0 quantity

ift to
i the supply curve to shi
i tea exports, which causes
i { imposes a 1ax on
The Indian governmen
Sz2.
an government
the diagram measureé the resulting gain in la;( revenue to the Indian g
s in
W';,i:ea::saullmg loss in producer surplus loils lea producers?
an =

———————
e

S | loss in producer surplus
s In prodt =

1 i gam T lax re\,enue Bk
E-A- i X f wty .
; B 1 x+y : y ;
¢ 3 | , |
: ; l x+y | w+y ——_!
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It lowers interest rates

Q10 | [O/N 2009/Q27
[- l [ g hange rate.

An economy has unemploye
below the level prevailing ino

d resources and a flexible exc
ther countries.

ices an
emand for goods and servic

d on the

What will be the likely effect on the level of domestic d
demand for the country’'s exports?

g ’Egmestic demand | export demand
A increase 1 increase
B increase decrease
C decrease decrease
[ D | decrease increase

current account of the

[[Q11 ] [O/N 2009/Q28]

Which policy is most likely to help to corr
balance of payments?

ecl an adverse balance on the

A abolishing tariffs
devaluing the currency

reducing direct taxes

Unm

reducing indirect taxes

ationary

L Q12 | [O/N 2009/Q29]
A government decides to pursue a more deflaty
monetary policy. X

nd a more refl

"\

What could explain why the terms of trade of most deve

time?

A Their currencies are over-valued in foreign exchange markelts.

They impose lower barriers on imports than developed economies.

oods than developed economies.

B
C They produce a narrower range of g
D ome elasticity of demand.

They produce goods with a low inc

government . 7
) expenditure interest rate
A decrease decrease
C dncreasg 3
D increase increase increase
Q13 | [M/J 2010/Q23] ’ B
loping economies tend to worsen over

|

Q14 | [M/J 2010/Q26]
Which policy is most likely to reduce a balance of payment

A a devaluation of the exchange rate

s deficit without causing inflation?

B  an increase in import tariffs
C anincrease in indirect taxes
D

an increase in direct taxes

TTAANTANAYIAMNO /INTINON T NOPTNAT 1IN0 AT

. A % wmw orTT



/

QU8 [ (W 20000028

AVIMACRO - (MO

An economy has undetemployed resoutces

\\ <h \hod of | ‘ ) | ‘
W me o ‘ { ANGEING an ncrease in qovernmer | exponc I8 LUl 0 havn the | il
Y ‘) 'l“ | -'Y 1

A borrowing from the contral bank

B borrowing from the non-bank private saclor
C increased direct taxation
0

increased indirect laxation

CHAPTER S

Q16 | [M/J 2010/Q29)

Whal will be the impact of an increase in marginal lax rates?

A anincrease in the propensity to save
B anincrease in the value of the investment multiplier

C a strengthening of work incentives

L D a strengthening in the operation of automatic stabilisers

Q17 | [O/N 2010/Q25)

B adecrease in unemployment

C a strengthening of cost-push inflation

l D a weakening of demand-pull inflation

Q18 | [O/N 2010/Q26]
What is an unavoidable cost of long-ru

A anincrease in inflation

-C —a
2=

D greater inequality in the distribution of income

a
j_/’_/
B
e

)

Q19 [ [O/N 2010/Q27]
What could be expected to increase the pres

sure of demand-pull inflation in an open economy?
A an appreciation of the foreign exchange rate
B anincrease in indirect taxes

C anincrease in interest rates

D the imposition of import controls

Q20 [ [O/N 2010/Q28]

When will taxes be mos! effective in dampening cyclical changes in national outpul?

A when the tax yield is independent of national income
B when the tax yield varies inversely with national income
iold varics less than progortionately with nalional income

b t D
C whenthelaxyiciove

D when the tax yield varies more than proportionalely with national income

I,
T ———" S —
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A country introduces import quolas.

balance of trade and on its lerms of lrade?

! balance of trade terms of trﬂ__f1
1 A improves improve
i B improves worsen
l c worsens improve
!__D_ | _worsens worsen

Assuming the demand for imporls is price-inelastic,

A2/ MACRO — [MCQ]l

Q21 | [O/N 2010/Q30] //___,//

The suppliers of imported goods charge market-clearing prices.

{ on the country’s

whal will be the impac

Q22 [ [MIJ 2011/Q22)

decades.

The table shows some indicators of macro-economic performan

ce in the US economy for five

£ ‘

economic target 1950s

19645819705 | 1980s | 1990s |

real GDP growth (average %) 4.18
inflation (average %) 2.07

unemployment (average %) 4.51

@agiss 08 | 302 | 3.03
; 3.00 |
576 |

i

A 1950s to 1960s
1960s to 1970s
1970s to 1980s

o O W

improvement in its

Q23 | [M/J 2011/Q24]

__ CHAPTERS

The diagram shows at‘cﬁbvé?hmeﬁfs‘réveﬁﬁé and &xpefiditure 751 (Fraa years. -

revenue

]

2009 expenditure ]
revenue l

2009

expenditure

]

revenue

2010

expenditure B

T

0 1

What can be concluded from the diagram?

o O

T

2 3 4
Sm

A A budget deficit was replaced by a budget surplus.
A government borrowing requirement emerged.
The economy moved from a recession into-a boom period.

The yield from taxation continuously increased.
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payment on curr Lo MO
ent ac i
county

LY

eslic
Nleres|
rales have an
adverse effect
on 3 counltry’s balanc
e of

A ltwillca i
use a rise in the exch
B It will make | )
e . g€ rale.
ounlry S indy
. slry less compelitive

The resulling h;
g hlghefl
evel of
D There will EEonomic activity is |
be an oytfioy of capi aclivily is likely to increase imports.
tal from

[Q25 [ [MN 2011/Q57

What would be classif

the country.

S

ed as 5 ;
Supply side policy measure?

A additional legislatjon O restrict the power o ade unions
egislatj

r htrlrin roft
B areduction j m fi f | |

In the govern ent's fiscal d |

eficit
C  anopen market sale of securitj
ies

the imposition
of a tariff on
lmp0n8d goods

Q26 | [MIJ 2011/Q28

|

A .
an independent anti-monopoly policy

B anindependent fiscal policy

C anindependentinterest rate policy

D

an independent prices and incomes pohg

Q27 | [M/J 2011/Q29]

A

EES i3

It would reduce the prices paid by consumers for imported éoods.

B
C
D

Q28 | [O/N 2011/Q25]

A government currently has a balanced budget. It is considering the possible variations in tax

revenue and government expenditure shown.

. government
options tax revenue .

expenditure

W increase increase

X increase reduce

Y reduce increase \

z reduce reduce \

| £ 1

ons have the potential to move the budget into surplus?

Which three opti
C W,YandZ D X, YandZ

B W,XandZ

A W, XandY

ONOMICS (9708) | 03041122845 1
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Q29 | [O/N 2011/Q27]
The economy of a country is simultaneously experiencing a balance of payments deficit. a‘budge\
deficit, demand-pull inflation and unemployment. The government decides to cut personal income

laxes.

Whalt does this suggesl is its main macroeconomic objective?

A to improve the balance of payments posilion
B to reduce the budgel deficit
C to reduce the level of unemployment

D to reduce the rate of inflation

Q30 | [O/N 2011/Q30]
An economy has a flexible exchange rate. It raises interest rates above the level existing in other
countries.

What will be the likely effect on the level of domestic demand for goods and services and on the
demand for the country's exports?

domestic demand export demand

A decrease decrease
B decrease increase
increase decrease
_D_J increase increase é

Q31 | [M/J 2012/Q29]

What would be an appropriate governmed X

A

B
C
D

Q32 [ [M/J 2012/Q30] _

—

The government of Lesotho introduces a programme to promote exports and to encourage firms
to grow by subsidising local entrepreneurs.

What effect is this likely to have on incomes, the balance of payments current account deficit and
government expenditure in Lesotho?

balance of
incomes payments current
account deficit

government
expenditure

A fall uncertain rise
| B rise reduce no change

(4 fall reduce rise

D rise uncertain rise

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845
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Q33 l iOIN 2012/Q17]
An economist wishes 10 judge whelher an economy's budget defici

t is excessive.

What would be the most appropriale way to measure the budget deficit when making this

judgement?

A as a percentage of foreign currency reserves

as a percentage of GDP

N =
&

B
C ininfation adjusted terms
D

N
§§§ 7 in purchasing power parity terms
= Q34 | [O/N 2012/Q20] i
N In 2009 the US central bank, the Federal Reserve, increased the money supply.
—
*@ Which policy measure taken by the Federal Reserve would have achieved this outcome?

A apurchase of government securities in the open marketl

nin the issue of short-term governme

ercial banks to increas%heir liqui

nt debt

=7

B areductio
dity ratios

C arequirement for comm

~

D anincrease in the bank rate '

=

progressive taxes when pursuing

crease regressive

&

Why is it more effective to in
a deflationary fiscal policy?

\,

A Changesin VAT have minimal effect on

i

air to increase pro f

I
Co

It is much more unf

Many workers reduce the hours 1he)§,

Low income households spend

f! !r
2 “( N )
d O

o O W

e

a

l‘HﬂI» '
y O

e EU

duction in the inflation rate in th
y Brazilian textile firms

a switch to producing lower-value garments b

owned textile factories

A
B are
Cc
D

the closure of Brazilian-

likely to result from an increase in interest rates in a country?

A acapital outflow from the country

a depreciation of the country's currency

B
C adecreasein consumption
D

an increase in investment

| A2-LEVEL: ECONOMICS (9708) ] 0304] 122843 I
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M/J 201 3/Q28

- e
{is the main objective of supply side policies’

fits actual oulput

Wha
utput up 1o the level 0

A tobringa counlry’s potential 0

a budget surplus
of demand

B toensure

the composition of outpul malches the paltern

C toensure that

iciency

| output by increasing eff

D toincrease potentia

. ] x
t will be the effect of an economic recession oN ta

ein governmenl policy, wha

without any chang :
nment expendllure?

revenue and on gover

—
{ govemment
ax revenue expenditure =
A decrease decrease )
. o <
B decrease increase
C increase increase ' £
D increase decrease

Q40 | [O/N 2013/Q26]
Which combination indicates that a country is @

M nqminal exchange rate
A depreciates by 20%
B depreciates by 20%
C unchanged
D

A reducing interest rates

increasing the money supply

B
C increasing taxes
D

increasing government spending

|

Qa2 | [O/N 2013/Q28] B
A country's government wishes to switch demand away from private consumption towards
investment and net exports.

Which combination of policy measures would be most likely to help it achieve this objective?

r interest rates rate of value
added tax
A decrease decrease
B decrease increase
C increase decrease
D increase increase
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Q43 l [O/N 2013/Q29 h, in line wilh the economy's long-run

A government aims to achieve steady and slable growt
increase in productivity.

i he level of
If this objective is achieved, how is this likely to affect average living standards and the

unemployment?

average living level of
standards unemployment
A constant falling
B falling unchanged
(o4 rising rising
D rising unchanged

Saas I [O/N 2013/Q30] evel of indirect:

During year 1, a government announces a temporary one-year .redl_Jction in lt_he |
taxation balanced by an equivalent temporary one-year increase In direct taxation.

What is most likely to be the impact on househol

impact on household

saving in year 1

d savingéin year 1 and in year 27
A8

impact on household 2=
saving in year 2

decrease
decrease

increase

o o0 o >

increase

Q45 | [M/J 2014/Q28]
A central bank increases interest rate

What is likely to increase as a resul =
Frerooses

firms' sales revenue

D the exchangerate

Q46 [ [M/J 2014/Q29]

What is most likely to result from a devaluation of the £ sterling?

A an increase in foreign direct investment in the UK by global manufacturing firms

B an increase in the number of UK residents taking holidays abroad
C anincrease in the number of UK students applying for places in North American universities
D

an increase in the supply of foreign workers seeking temporary employment over the
summer in the UK

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041 122845
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Q47 | [O/N 2014/Q21)]

A cenlral bank pursues a policy of quanlilative easing by purchasing government securilies.

What is likely to happen to interest rales and aggregale expenditure?

interest rales ei%%’:‘c%?sj‘fe
A fall fall
B fall rise
¢ rise fall
D rise rise

Q48 | [O/N 2014/Q27)

A government decides lo pursue a more reflationary fiscal policy and a more deflationary
monetary policy.

Which combination of changes in policy instruments is cis\ent with this?
. HEAT

;‘-}h' >
government . flistise
expenditure interest rate

A decrease decrease
B decrease decrease
C increase increase
D increase increase

Q49 | [O/N 2014/Q28)

The table shows some indicators of ma

.sﬁf

decades.
economic target 1950s | 1960s
R P ERies 8 OH S
rgﬁ'fépP g?ﬁwih (a ﬂg?ag%‘;% 4.18 ;,14}, 3 4
i Gl ICOR ] Gt i
Anfations( i Bh Y ooy | iziaa
unemployment (average %) 4.51 4.78

Between which decades did the US government achieve an overall improvement in its
performance with no trade-off between individual policy goals?

Why might a reduction in domestic interest rates have an adverse effect on a country’s balance of
payments on the current account?

A It will cause a rise in the exchange rate.
It will make the country's industry less competitive.

B
C The resulting higher level of economic activity is likely to increase imports.
D

There will be an outflow of capital from the country.

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) | 03041122845

A 1950s to 1960s
B 1960s to 1970s
b
C 1970s to 1980s
D 1980s to 1990s S
Q50 | [O/N 2014/Q29]
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\ Q61 | [OIN 2014/G30] T |
L e A4 inflztion G £7%. i
\ Atptosant, n counlry's government has sel ils central bank 2 target rate of 0720 ‘.) i
) v inflat te 15 120327 |
Whal Is likoly 1o happan fo inlerest rates and the exchange f31e if the target infiation r2:2 - | :
N 10 3%7? /
A J
.- - O — l
5\“ -y In!oroul mlos axchange rale
\ A fall fall
Q B fall rise
\ c rlse fall "
D ;
S\ rise rise ]
N : |
Q52 | [M/J 2015/Q28] . 1= i
N. Increased borrowing by the government results in higher interest charges and this leads 10 18355 ‘
\ privale investmenl expenditure. ‘
y :
L\‘} Of whal is this an example?
@ A an aulomalic stabiliser &
5-}; B crowding out 5 . *C:@
L > C the accelerator = i
\" D the substitution effect _

A
@

Wy rrei

Q53 | [M/J 2015/Q30]
S

A government's budget is balanced at a time wﬁ&__ gggc_f%
aggregate demand shock causes a decline in national ITCOMEZT,

\
@
<
<

v
3
o,
)
<
b
a
7
&
w
)

What will be the result if the government keeps
a cyclical budget deficit
a cyclical budget surplus

a structural budget deficit

o O o

a structural budget surplus

054 [OJN 2015/Q24]

In the-absence:of offsetiing changess
deficit?

A adecrease in household saving

B adecrease in interest rates on government bonds
C a decrease in private sector investmentl
D

a decrease in the country's trade deficit

55 [ [O/N 2015/Q26]

What are likely to be the impacls on an economy of increased compeltition from abroad?

. . impact on
impact on trade | impact on rate unen:) loyment
balance of inflation RS
rate
A improve raise decrease
B improve reduce decrease
c WOorsen raise increase
D worsen reduce [ increase
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Q56 | [OMN 2015/27 —

An economy has underemployed resources.

Which |_'nelhod of financing an increase in government expenditure is likely to have he greatest
expansionary effect?

A borrowing from the central bank

borrowing from the non-bank private sector

B
C increased direct taxation
D

increased indirect taxation

Q57 | [O/N 2015/Q28] - - /1/,’://:]

The table shows how the government finances iits budget deficitin a closed economy.

budget deficit o . 200 billion :

sale of government securities to the central ba ;?5 ‘ 50 billion

sale of government securities to the non-bar@@éa seclor l 150 billion ‘
Py

If there is no change in notes and coins in circulalioné‘:é_‘udmoﬁ‘ orcial banks maintain a 10% cash
reserve ratio, what will be the resulting increase in tg&yg‘ DS\ ply?
&-‘ 3330 ; +,

A 350 billion &
B $150 billion :
C $200 billion
D $500 billion

Q58 | [M/J 2016/Q27] S

SRS

- - e ) SRR .
When would an economic recession resullin'an increase in a government's budget deficit?

A ingreases Hriffs! ofsimpatsiwith inelestig el
n l%%mplgfmﬁﬁiﬁe;neﬁl unchangett: o Sl
B v eep’s‘h‘:ﬂheﬁ‘dnémpféyment béneﬁtﬁtaled‘a\ﬁ%a?re‘ctcﬁ

g
unchanged.

C The government reduces foreign aid and widens the tax base.

The government reduces the unemployment benefit rate and decreases the tax free
allowance on income tax.

Q59 | [MIJ 2016/Q28]

What will be most likely to rise if unemployment is increasing in an economy?

A the human capital of unemployed workers

B the living standards of all workers

C the nominal money wage rate of employed workers
D

the tax burden on employed workers
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Q60 [ [O/N 2016/Q27)

Government economic advisers disagree over lhe relalive impacl of fiscal and monetary controls.

Whal is most likely to be the firsl stage at which a time lag will occur?
A in the introduction of the chosen policy

B in the operalional effecliveness of lhe policy

C in the recognition of the exislence of the problem

D

in the seleclion of the appropriate policy

Q61 | [O/N 2016/Q29)

Which policy pursued by a central bank represents a contractionary monetary policy?
A areduction in the interest rate at which it will lend to banks

B a r.eduction in the minimum cash to deposit ratios of banks

C the purchase of foreign currency to influence the country's exchange rate

D

the sale of government bonds in the open market

=
Q62 | [O/N 2016/Q30] : 2

Which policy's principal aim is to ensure sound p
A environmental policy
B fiscal policy

C monetary policy

D supply-side policy

0,63 [ [M1J 2017/Q27]

In 2015, the World Bank agreed to glv_ i
The Bank said Angola needed to ha 2
its economy. :

the relaxmg of regulatlons to-allow the develobmenl of a'new hydro power prOJect

B
C the spending of the loan supporting its oil industry after oil prices collapsed
D

the subsidising of a partnership with a French company to establish a chain of tourist hotels

Q64 | [M/J 2017/Q28]

A country with demand-pull inflation decides lo fix its exchange rates against other currencies
above the purchasing power parities.

What is likely to happen to the macroeconomic indicators shown?

: . . . current account

i interest rate inflation rate

| balance

A decrease decrease improve

B decrease increase waorsen

. C 1 increase decrease worsen

! |

i D | increase increase improve J]
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Q65 [ [M/J 2017/Q29]
In the shor run, which policy measure would tend to reduc
deficil bul increase ils inflalion rate?

e a counlry’'s balance of payments

A adecrease in the level of import tariffs

B an appreciation of the country’s currency
C anincrease in the level of indirecl taxes
D

a reduction in government spending

Q66 | [O/N 2017/Q27)
Which pollcy is most likely to raise the level of total demand in an economy?

A anincrease in direct taxation matched by a reduction in indirect taxation

B a relaxation of import controls

C cuts in public expenditure matched by tax cuts

D devaluation of the currency

Q67 | [OIN 20171028]

The government cuts taxes and increases its spenﬁ er to create jobs during @ recession. e
When will a resulting budget deficit be Ieast!: t reduction in

unemployment? =

when households expect higher inflation Et ,

L

o)
3
p=p
)
3
oy
o
C
"
o
po g
o
a
(7]
n
el
o
3
a
—
(0]
=
o
by
=
[\
Q
n
10
(w57
AN
rEﬂJ

C when the government'’s extra spending,;g

D when the government’s extra spendiﬁﬁg§‘5ﬁ the salaries &fFf

Q68 | [O/N 2017/Q29]
In 2011%the gIgBAl MICHEYS @;TPDI

=

increased:roughly’8%, askent

What type of policy does this s?atement ||Iustrate’7 = o ) L
A contractionary fiscal

B contractionary monetary

C expansionary fiscal
D

expansionary monetary

Q69 [ [OIN 2017/Q30] \
Which policy measure would be most likely to reduce a developing economy's birth rate and its

household saving ratio?

A anincrease in student tuition fees

B a relaxation of immigration controls

C theintroduction of a basic state pension
D

the removal of tariffs on imported foodstuffs
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Q70 | s Zorarazsy —]

The Consumer Prices Index (CPI) fell by 3% In a year. Unemployment was regarded as
unacceptably high,

Which combination of policies would a government be most likely to adopt in such circurnstances?

A an appreciation of the currency, togelher with an Increase In the rale of interest

B lfncreased government expenditure on educalion, together with an increase in taxes to pay
or it
C  increased indirect taxes, logether with a depreciation in the exchange rate
Q reduced income taxes, together with a cut in the rale of interest

| Q71 [ [MIJ 2018/Q30)

Other things being equal, whal is mosl likely to result from an increase in a country’s interest
rates?

A a capital inflow

B adepreciation of the currency

C anincrease in consumption /,:'.

D anincrease in investment l‘!{

/ﬂf"' : ' '{;A}

Q72 [ [O/N 2018/Q29] ;’Mg

The table identifies pairs of possible govern Qb ‘7,‘ It ""ﬁ

P 'g-f’( Sl
In which case is achievement of aim 1 likely 16 b cor ,.u‘ﬂd‘[‘)’l with the achievement of aim 27

el 'y 4
1y il
AT

,M wunemployment

s

- 4'1““

o O o »

/"7

‘F ’ ﬂ,a
Jyhk‘)’(ﬁz

higher rate of xvinq

ments surplus

3 (1

Gy

‘e : T, ,;. o
Q73 ] [OIN 2018/Q30]‘ T SRR USRa . 3
What is most likely to result from the discovory of oil reserves in a doveloping u(;onomy?

A amore equal distribution of income and wealth

B anincrease in the compelitiveness of commerclal agriculture
C anincrease in the exchange rale
D

a reduction in the volume of imports of manufaclurod goods

( Q74 | [M/J 2019/Q29]

What is most likely to increase in the short run following a rise In an economy's rate of inflation
caused by a demand-side shock?

A the current account deficit on the balance of payments
B the price of government bonds

C the purchasing power of the currency

D the rate of unemployment
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—
Q75 | (M7 2019/Q30]

Which combination of policies is most likely lo increase outpul?

.nﬁﬁ'\'ﬁ(ﬁﬂ'\

L& fiscal policy i ﬂc_)?e(ary rigli_cyﬁ_ ]
' A f decrease budget deficit i decrease inleresl rales ‘
’ B I decrease budget deficil E increase interesl rates %
C , increase budget deficit i decrease inlerest rales "
D l increase budget deficit I increase inlerestrales ]

Q76 | [O/N 2018/Q28] - - i

In which exchange rate regime would the central bank of a country be best able to pursue an ‘
independent monetary policy to control the rate of inflation?

A afreely floating exchange rate system

a system where the country’s currency has a larggg\ed value in relation to the USS

B
C asystem where the central bank buys and sells ign currency at a fixed rate
D

where the country participates in a monetary 2{ s other countlries

Q77 | [O/N 2019/Q30]

Workers in poor countries are often less prod
rich countries.

increased investment in educallommlpbefcountnes

O 0O ow

AN

h h.cQuntgies on l%%(\ﬂi,f_[omﬂ
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A2/ MACRO — [MCQ] — CHAPTER

1
|_TOPIC 1: GOVT. MACROECONOMIC INTERVENTION

An l_ncrea_sg in interest rate leads to an increase in savings and hence a decline in consumsttl:oaf;)-ila|
Qpnon A is incorrect because higher interest rates attract investments from abroad hencer B -~
inflow and prevent money from going out of the country hence reduce capital outflow. Optio ot
incorrect becau_se when interest rates are high the currency appreciates. Option D is incorre -«
because when interest rates are high investment falls.
Key Point: i i irection. =
y The interest rate and the currency always move in the same directi (M/J 2008/Q28

Q2 [B - - : - | =
Reducing the domestic interest rates will reduce the value of the currency which will lead to cab;igzld =
atilutﬂdow. Hencg the amount of interest to foreign holders will reduces as the net mcttrJ\me Sr?:;:\gy il =

€crease hence improvin i is incorrect because the cu ) .
p g the current account. Option A is in drops. Option D is ;

depreciate. Option C is incorrect because when the currency is weak the currency
Incorrect because this is not related to the question.

"

inking that a fall interest rate leads to outflow.
hrovement in the current account of the balance

[M/J 2008/Q30] |

Common Mistake: Some students choose option
Although this is true however the question asks fa
of payments, not the financial account. i

Q3 | B e
When the government is selling bonds the mghey:SURR f}ﬁns hence increasing the interest rates.
: NHR,

Key Point: SR W
1. When the government sells bonds the, iﬁﬁ' supp ‘mﬁﬁrcascs
2. When the government buys bonds the' e, Iyincreases.
disge :&"*\% [OIN 2008/Q19] |
R NENEHALY 0 RARRY
ad_C i ! $“§ i
WNeSe manufacturers will shift to

When a quota is placed the quantity islegstricted. Hence the _
producing higher value garments because this will enable them to earn more from given quantity of

quota. Option A isiincorrectbegause the marginwill gawp qratay tha same:as theipricas pill g
increase’iithion§B3-i"§:ir‘mgf trec %i%agj‘sé quold‘,{\f&{ill in_g?,g R \Tm

¥ l Mse foas ARUWIT atiliserintlation WHSEL.
Option. D is-incorrectbecausefuota by.one couintry willin: ty(@%‘ e inn decrease in lhepcountrias.
el Vel Loy (RETNY u\%\i ’l.;,‘, [} vellb [ORUN. G4 u& wala' A Ay RN hj“””j“‘i. o IblNgQOSLQZ‘SIA
Q5 [B SR ——
Recession is a time period when GDP decreases, there is high unemployment and prices are
decreasing. Taxes will fall since both less direct and indirect taxes will be corrected. However the
government expenditure will increase as the government would be spending more money on

unemployment benefits.
e [OIN 2008/Q29] |
Q6 [C —_—— e
Lower interest rates encourage investment and an increase in rate of income tax reduces private
consumption.
o [OIN 2008/Q30)

a7 _[A i e ]
Recession is a time period when GDP decreases, there is high unemployment and prices are B

decreasing. Similarly, a floating exchange rate is where the forces of demand supply will determine
the exchange rate. A current account deficit means that the imports are greater than the exports.
— Interest Rate (Decrease): This needs lo be decreased because this will lower the currency and
hence will lead to an increase in exports. Improving both the current account and the recession,

— Tax Rate (Unchanged): If tax rates remain unchanged this will increase consumption and
investment hence improving the growth potential and removing recession,

M1 2000/Q28)

s
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A subsidy to the local producers glvas a country an artificial cosl advantages, el of sty b~
US cotton growers will erade tha cost advantage, Option A s incorract becatse if tha currerigy of
Indla falls they will have an added advantaga In tha cotton market, Option I3 1 incormecs besase vy
form of protectionism will lead (o a less cost advantage, Optlon € I Incorract bscausy a rige in yge
of Brazilin cotton workers will increasa (he cost of praduction although it mlght be matched by an
increase In productivity but It cannol ba deducad which valus outwalghs the other,

M 2009274

@ [0 e
— Gain in Tax Rovonuo: The area of tax revenua & the differance batween the tuo supply curves

multiplied by the quantity, hence In this diagram It Is shown by % 4y
— Loss In Producer Surplus: w + y (w Is the loss of producer surplus that goss into the dead-nelght

loss and the y ls the loss of orlginal producer surplus)

— 0

Qo [A S
— Domestic Demand (Increases): When the Interast rata Is lowared it Is cheaper for firms 1o

investment more and consumers tend to consume mora goads as It Is cheaper to borrow, Hence the

domestic demand Iincreases,
— Export Demand (Increases): The axchange rate decreases when the interest rates reduce,

Hence this leads to cheaper exports, which leads tg an Increase In demand for 6xports,

Key Polint: The interest rate andyexchango rate i[

—_[0mM 2009/Q27]

Q1] B At o o
A current account deficit Is when exports are é’g ivAnimports, The way to solve this problem is 1o
increase exports and decrease Imports, If a g0 'J (o) )rgf.mn its currency it leads to an increass in
exports as they become cheaper and decrdddesilimy dff{'i({v thay are now more expansive, Option A 15
incorrect if tariffs are removed it will lncreqéﬁ;‘%n}'ﬁotls,'{@mlg};y C Is incorract because If direct tazes are
removed individuals will have more inconig/ar {thence(lni’pbh more goods and services from abroad,

If the indirect taxes are reduced it will makg/iiifports cheiipet hence leading to current account getting
worse off, e ki

150 o Ii,', f
M (i ____[0/N 2009/Q28]
s W . ——— .
Qi2[A i A
Deflationary Fiscal Policy: Taxes [Increase] and Government E

Reflationary Monetary.Policy:dptefest Rales[Becrease] v
e ix%’; "%ﬁ" *y i’;r Vi ﬂ’}}fl'“ f}ﬂ fit,
g i i

|

o g st Am A
: d}.}'j,.;zﬁu )ﬁ'y“"{”'d i, A‘?}’C;-
Vil ‘,)'? A EI

f “
1
1 J7A| '-&1! t“ L’! / ! ,; AT e il ',"-{[; ?’,"f"'"’ ,! ;.’(’;[l h,‘l L
Key P a o a5 b B r(, A A L R R ) D L B/
oAt Wb el g Y I e i T il Zi
1. Déflatiofidry policlés tovolid drdundreducing frices Ahd ditatibhary policich reU61v6 atbund

increasing prices
2. Fiscal Policy tools; Taxes and Government Expenditure
3. Monetary Policy tools: Interest Rate and Money Supply.

____[O/N 2009/Q29]

Q13 [D

TOT worsen when the average price of exports decrease and average price of imports increase. Low
YED suggests stable demand and minimum variation in prices. Hence TOT remains low. In other
words when the income of the people will go up they will still not increase the consumption of this
product hence low demand and less increase in price of exports. Option A is incorrect because over-
valued currencies tend to increase the export price hence improving the TOT, Option B & C are
irrelevant.

__[M1) 2010/Q23]

e ———eeaame

Q14D
If a direct tax is imposed, it will reduce inflation and reduce the demand for imports as well. Option A
will reduce the deficit but will cause inflation as exports will increase. Option B & C will reduce imports
but will cause cost push inflation.

[M/J 2010/Q26]
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//,1

A
If the gove
mm 3 . ‘
ent borrows from the central bank this will increase the money supply in the economz}m
for the government they
s be when

Option B, C
v C&D i
Blso TaBc, Tl caorne Incorrect because although this will generate finance i
money supply j sumption and investment in the economy. The greatest effect wil -
Ply in the €conomy increases g

are incofrect becagse a hlghe{e
orrect because @ hlgher tax tra
tra income earned will go into

Progressive i
MPS ang MFE?_XVE;};;D;(\;vorks as an automatic stabilizer. Option A & B
uce the value of the multiplier. Option C is inc

reduces the i .
n
taxes. ventive to work as now a greater percentage of the ex

M/J 2010/Q29

A fall in oil pri
emp|oymenF;.”coepsﬁ;edUC.e§ the cost of production and hence causes economic grOWth.ar.]d t
because cost pushr" Als incorrect because economic growth will increase. Option C Is incorrec |
inflation will increas?gigotn will fall due to lower cost. Option D is incorrect because demand pul
O an increase i i
in AD in the economy. OJN 2010/Q25

Q18 | c = 4
Long-run economi ' :
sacrificed i;?;gr;;cogr?t\jmh requires higher outpyfti€apital goods. Thus consumer goods must bnebe ==
avoided with suitable po;’i]c.:i:i,s,lng inflation, incregSg&mitiber of working-hours and inequalities ¢a
: O/N 2010/Q26 =
Q19 [ D - -
Reducing i T - é ==
becauslgga':pons will increase the AD heng ind-pull inflation. Option A is incorrect
will increaseagprgmathn will lead to fall ingléi on as exports will decrease and imports =
Option & o ption B is incorrect becaudeia jirect taxes will cause cost-push inflation. '
Incorrect because it will redy >duce demand-pull inflation. ~
[Q20]D - e - 4
Pr i i T HEa ~r.~;; =2 — {‘!\\; . - - D
prsgrr::ss_we ttaxat_lon on lt_s own redu&es fluctuations in outpuf. The statement in option D highlights
gressive taxation this is where the tax yield varies more than proportionately with national income. 2
‘ HEEE B BEEERE S IO B & A% [Olﬂ?—gﬁ’itleZB
?i'.‘& £ B =13 A 'T
: -z ey \ -

5 B s OSSR SIDVRES

rts: ‘lsf a dhota isTntroduced 1 and the

[Q21 [Dutes, v, &5 & &%
Balach of Tr_ac_le: Thls the difference between Exports — Impo
PED is inelastic it will not lead to a significant drop in the quantity demanded but a higher

proportionate increase in prices. Hence the import bill will increase leading to a fallin BOT.

Terms .of Trade: TOT is the [Export Price index / Import Price Index] x 100. Hence if a quota is
placed it will restrict supply which will increase the import price and hence worsen the TOT.
{O/N 2010/Q30]

:

Q22| D
Only between 1980s to 1990s all three variables moved in the right direction.

1. The real GDP growth rate increased

2. Inflation rate slowed down
3. Unemployment Rate decreased.
[(M/J 2011/Q22)

[Q23 [ B \
The government’s borrowing requirements increased because in 2008 the government was in a
Expenditure) however in 2009 and 2010 the government's expenditure

budget surplus (Revenue >
t was running a budget deficit (Revenue < Expenditure). Hence in order to

went up and the governmen
fund the deficit the government needed to borrow money. Option A is incorrect because initially the

was running a surplus. Option C is incorrect because taxes are high whe
Option D is incorrect because the yield from taxes continuously dgroppedn ihe economy

government

is in a boom.
[M/J 2011/Q24)
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Q25

because it sU
is incorrect

Q26

If a tariff is iIMP
reduce their pri
tariffs will resu

e de

Unemployment
mean a greater
pull inflation will

point: Interest rat

A restriction on th

beca

Since the countries tend to mai
When the interest rate changes the currency changes.
rcing the foreign suppliers to

osed, it will ma
ices otherwise

incorrect because
competitive if othe

A balanced budg
into surplus the T
W — This might incre
percentage increase in govemment exp‘é it
X — This will always increase the surg‘l‘;fgﬁ‘f

Y — This will never increasé the surrﬂix's“fif‘éi&i.z@f S5
7 — This might increase the surp ! ‘

1. BOP Deficit =
2. Budget Deficit = Revenue <
3. Demand-Pull Inflation = Prices increasing

4. Unemployment

Cutting income taxes mea

evel of economic aclivity increases leading to higher incomes and
adverse effecton @ country's palance © payment. Option A 1S
es of @ coun declines falls with it. Option Bis
es the country

e rate
ause the outflow of cap

e same direction.
m/J 2011/Q26

ys moves inth

e and currency alwa

ply. Option B is incorrect
monetary policy. Opt

MIJ 2011/Q27

crease in sup
ion D

a
ecause it refers to

ade unions leads to an in
Option Cis incorrect b
ign trade policy-

e power of tr
ests fiscal policy.
use it refers to foreld

nce they can't modify the interest rates.

stable currency he
M/J 201 1/Q28

ntain a

¥—=nsive hence fo

bt share. Option A & D are incorrect pecausé
i, prices of imported goods to rise. Option Cis
OF Hetitive rather can make them less

ke the imports MOrR
they will lose their

ient use of resouf ol
tariffs do not make exports
r countries retaliate.

L)
NY

: t Expenditure. For the pudget to move

otindicates that Tax Reyk
ax Revenue > Governmel

ase the surplus if E‘h

venue is greater than the

lus if the percentage decrease in tax revenue is smaller than the

rease:in V . ~diturey s
cipgovarmelee s (X Bhe 5 S Ty B
J a&g-gggr”%’qﬁ%&opuonsé < s s Ko 3 ‘4%%‘;
8 i RS e q a8 T B )
rOIN 2011/Q25

Exports < Imports
Govt. Expenditure

ns the government is trying t i
A gtousean expansionary fis i
e de;ﬁsce'i \:Vhereas gll _the other objective will further worrysencis| p‘Ollcy. e
it, Imports will increase as people will have more incbrrxse Zwsr;axes
nd demand-

increase.
[O/N 201 1/Q27]
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e currency of the counlry-

|

[o}

301 A

|
A
igher interest rate leads to an increase in the value of th

-

p

- now import
— Domestic Demand: Since people would tend to import more as it is cheaper -
mcrease and domestic demand will fall. more expensive there
— Export Demand: Since currency is appreciated exports tend to becomeé

their demand will drop.

Key Point: Interest rate and currency always moves in the same direction. OIN 2011/Q30

Q31| C

Reduce current account surplus: Exports ¥ Imports

Razte of Infiztion: Reduce Cost-push or demand pull inflation.
Option C is correct because by removing tariffs imports will increas . inflation. Option Bis
demand pull infiation will both fall. Option A is incorrect as it will lead to hlgher | Option D will increase
incorrect higher direct taxes will fix inflation however will also decrease imports. Op

e and cost-push inflation and '

cost-push infiztion and will increase the deficits. M/J 2012/Q29

Q32| D A - incomes.
A subsidy viill first increase government expenditg#&dhen domestic output and finally In
However, its impact on current account of BOP ¢&fit ;%be predicted. M/J 2012/Q30
IR 7 .
Q33 [ B s =
. i s Tl i N ; ess its size.
Budget deficit as a percentage of GDP is co‘g‘%d £d 105t appropriate measuré to %S,Tq 2012/Q17

Q34 A

When the government buys government geciiriti
causes monev supply to increase. 2

Key Point: ﬁ‘ : i)
1. When the government wants to inqg‘é,, ‘money supply it ysiback the bonds (Government

securities).

2. When the government,wanis to decrease,money i oply &@gﬁt%o@&

i am E O Gagd  UEE i (e St :

A, i 244 a0, e o T e LT im
Q35 D=4y d B ok Wk, 7 s R WE B @2 5=

A-deflationary fiscal policy is when the Taxes increase and Government spending is reduced with the
aim to reduce prices. Usually regressive taxes are indirect taxes that impact the poor more than the
rich. Hence since low income household spend a large proportion of their income the MPC in the
economy can be reduced more significantly through this method.

[O/N 2012/Q29]

Q36 [ D

A quota will increase prices of the goods in EU. Hence Option A is incorrect. Option B is incorrect

because higher prices lead to greater cost push inflation hence increasing EU inflation rate. Option C
is incorrect because a quota is placed there is no benefit of producing lower quality products as Brazil
is still better of producing high value items. Hence some factories in Brazil will close down due to lack

of sales,

Common Mistake: Some students choose Option C thinking that producing lower-value garments
would solve the problem. Students needed to read the question properly. EU increased a quota that is
physical limitation the price of the good had nothing to do with it. If it was tariff then option C would
have made sense.

[MIJ 2013/Q26]
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Q37 | C
When interest rates go up itis expensive for consumers to buy goods and services since borrowing is

difficult hence the consumption decreases. Option A is incorrect because when interest goes up there
is a capital inflow in the country. Option B is incorrect because when interest rates go up the
exchange rate goes up with it Option D is incorrect because when interest rates increase the

investment falls.
M1 2013/Q27]

Q38 [D -
ces in order to increase potential (Long-

Supply si
term growth).

de policies primarily target efficient use of resour
[M/J 2013/Q28

Q39 [ B
Tax Revenue [Decreases]: Recession causes money incomes and tax revenues to fall as income

and goods would not be purchased now.
Government Expenditure [Increases]: Since people will not have employment the government
would need to spend more on employment.

[M/J 2013/Q30] |

Dirty float exchange rate also known as ma é} fluc .
certain limits, therefore, changes in exchange ratggwithin the limits suggests depreciation and outside

the limits suggests use of reserves by the goverf

Q40 [ A __
naged[‘flx at allows the exchange rate to fluctuate within
4

Key Point: B
1. Appreciation and Depreciation and is alwagz f
fixed exchange rate using reserves. by :

2. In Dirty Float (Managed Float) both can h
{ [O/N 2013/Q26] |

[Q41[D R
Reflationary Fiscal policy aims to incre se:prices in the ecarjomy. Since fiscal policy only impacts the
aggregate demand (AD) the governmer ;ﬁq'ﬂd try to incfeage the AD. Either by reducing taxes or
increasing the government spending.Hek ’r’option Dis iﬁ§ ff’%‘ct Option A & B apply to monetary

‘ [O/N 2013/Q27]

policy. Option C is part of fiscal poliq&ﬁﬁﬁtﬁ:ﬁ"&rpart of the deﬂgﬁbl
T T o P i, [F s DRl O,
héigeernmentWill detreasctt Binterastirates atid when intérestirates
&, Forthermore; always remember that intePEst ratBsand exchange
rates always move in the same direction hence when interest rates will decrease this will depreciate

the currency hence leading to greater exports and lower imports.

Aty fiscal policy.

KSR
. s

Rate of VAT (Increase): VAT is an indirect tax an increase in VAT discourages local consumers to
but the product.
[O/N 2013/Q28]

Q43 | D B
Average Standard of Living: Increasing output is likely to improve living standard as more output the

more the choice the consumers have and hence leading to greater standard of living.

.evel of Unemployment: Unemployment is affected when actual is di
. ] tis growth rate is different from
ootential growth rate. This steady growth in line with long-run productivity suggests no change in

nemployment.
[O/N 2013/Q29
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ase

act taxes decre

Q44 | B when indir
ase as
Impact on Household Savings Year 1: Th acte

goods get cheaper and people then to spen
r 2: Since direct taxes increase the |

e savings will d
d more than they save. ,
ncome level falls @

Impact on Household Savings Yea OIN 201 3/Q30

consumption decreases hence the savings increase.

i t
Q45 [ D - direction. Hence when mft‘?fes
Always remember interest rates and exchange rates move In 'the samtebecause sales revenue wi .
rates increases exchange rates increase as well. Option A is incorrec ices. Option B is incgrrec X
decrease as people won't be able to borrow to purchase goods an_d serv! {becaUSe when interes
because when interest rates increases investment falls. Option C s |nc0rr€fi | inflow not outflow.
rates go up more people invest in the country and hence there IS a net capita m/J 2014

1Q28

| Q46 [A ei il
When the pound decreases it will cause the value of assets in UK to fall in forag?hi%:“tegaly assets.
more people would be interested in moving money to the UK as it is cheaper for for them. Option C
Option B is incorrect because UK residents will redyge holidays as it is expensive o ican universities
is incorrect as UK residents would prefer to apply tglocal universities as North {\mer UK as the value
will get too expensive. Option D is incorrect as pegigwould not prefer to work in the

of wages would be low. %

m/J 2014/Q29

Q47 | B )
Quantitative easing by purchasing governme.

Interest Rates (Fall): When money supplyf’ ]

Aggregate Expenditure (Rise): A fall in i1
Investment and consumption will increase

|

&0

Q48 | C : Hesves b
Reflationary Fiscal Policy: Taxes ¥ Covernment Expenditure 4

Deflationary Mongtary.Ralicy: %tggsggateﬁ%;%n%yggup gm
= ERaT = oo seoy (23

13

ifd Deflationaty policies aim to reéduce prices.

liciés aifn toTricieas “prices
[OIN 2014/Q27)

Q49 [ D

Only between 1980s to 1990s all three variables moved in the right direction.
1. The real GDP growth rate increased

2. Inflation rate slowed down

3. Unemployment Rate decreased.

\
[O/N 2014IQ28]\
-

Q50 [ C _
When the interest rates decrease the exchange rate depreciates. Lower interest rates would lead to
economic activity due to more investment and increase consumer incomes and hence higher imports
in the future. Option A is wrong because the currency will depreciate. Option B is wrong as the goods
will become more competitive as exports will become cheaper. Option D is incorrect because
although there would be an outflow of capital, outflow of capital is recorded in the financial account

not the current account.

[O/N 201 4/Q29)

AATIK TASNEEM | A2-LEVEL: ECONOMICS (9708) [ 03041122845 ‘




A2/ MACRO — IMCQ] — CHAPTER 6

]

Q51 | A _
If the inflation target is increased this wil

The government would need to reduce t
as well as they follow the same trend.
[O/N 2014/Q30] |

-

ent borrows more the demand for loanable funds increases
d hence higher interest rates. This causes the private

[Torce to government to deploy a reflationary monetary policy.
he interest rates and as a reduce the exchange rate will fall

Crowding Out Effect: When the governm
which increases the demand for loans an
investment expenditure t0 fall.

Key Point: Growding out effect only happens when there are is full employment.
i [M/J 2015/Q28]

————1

[Q53]A _
~The term demand shock suggests cyclical changes. .
will result in a decrease In tax revenue leading to a budget deficit.

— A decrease in national income
" (MIJ 2015/Q30]

Q54 ] c . _ ‘
ax Revenue < Government Spending. A decrease in private sector investment would

)
Fiscal Deficit="T i i i
‘ rament to make investments to keep,the AD stable. Option A will lead to an increase In
\ force the governm : ; . . .
g demand. Option B will lead to more spending and,.;ﬁjgople won't save in bonds. Option D will lead to an
N increase in AD. ‘ i
J e [OIN 2015/Q24]
[ % '-1 — |
» Q55D L e W .
7 Impact on Trade Balance (Worsen): An inCLEASE .ngmpemnon will increase the demand for imports
D and lowering the demand for exports hence W h rade balance.
R Impact on Rate of Inflation (Reduce): Wh case the AD falls hence the rate of inflation
N Impact of Unemployment Rate (Incre ' the unemployment in the country
increases.
Q) . [O/N 2015/Q26
Q56 [ A S S
9 Borrowing from central bank increases the money supply in ihe entire economy and therefore reduces
ntrest e thal ely t nerepse pvesiment o aioneL epabe e Seck SR e 7
R) ikely to:discourage inves iCan curfail expangion ek RIS o are ngticaftect.
- o s S | SO 2015/Q27
3 Q57D _ =
1 Increase in bank deposit is 50 billion and
S 2. Credit Multiplier = 1/ Reserve Ratio = 1/0.10 = 10
Hence t_he increase in money supply would be 50 billion X 10 = 500 billion.
D Key Point: Always remember the sale of non-bank private sector is never part of this calculation
. ) . [O/N 2015/Q28]
D Q58 | B
g)lztrxgs:rt]::?ﬁi:;i:;sr}i’enviidwhi; ;axdz GO\iernrlnefnt Spending®. No change in tax rate will reduce
with the same level of expendi i
budget defcit penditure the government will have to run a
[M/J 2016/Q27]
Q59 [ D
In order to pay unemployment b i i
g o gur)éen o t(:]neﬁts ti:) an increasing numb‘er of gngmployed the government will
because living standards wil fall gset'w ge_lrg employed. Optloq A_ls irrelevant. Option B is incorrect
decrease as there is excess supblypolfoxorklg,r;ncorrect because in times of unemployment the wages
[M/J 2016/Q28]
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APTER 6
MACRO -~ (MCQ— E¥/
A2/

Qso [ D g onty then €20 |

—v is decide
- the policy is \
The first delay will always come when deciding the policy, as after /N 2016/1Q2
other delays will occur, /"[’/’Jj

sconomic
Q61D nt and slows dovin

- loyme g se
Contractionary monetary policy aims to reduce prices, rEdUC'; e”;pmgney supply and mcre:uppb!-
growth. In this the government will increase interest rates, reduc ent reduces the money
exchange rates, By selling bonds in the open market the governm

ever the

. upply and whene

Key Point: Whenever the government sells bonds it reduces the money SuUpply 2016/Q29
government buys bonds it increases the money supply. OIN 2C

|
Q62 [ B
The term public finances refers to fiscal policy. OIN 2016/Q30

Q63 | D - T ification.

- ve diversiil g
By giving a subsidy to establish a chain of tourist haotels w:l[ the e@”orgy- ai(;\héirrect becauseaitis a
Option A is incorrect because it relates to the mongtary policy: OptiamB 15 dustry will not help to
supply side measure. Option C is incorrect becaug ending on existing In

diversification. i [MIJ 2017/Q27]

i
2

i : i ini Wi ine.
Inflation Rate: Due to an increase in '"53-’53{ \‘Lﬂl decli

Current Account Balance: Since the%%;%ﬁy is strong it %&e exports expensive and imports §
cheaper therefore reduce the currency®&Ecount balance.  WaReA ‘

[M/J 2017/Q28
RS X

.exchange rates always follow Ehe same
’ds to be revalued and appreciated.
1

T P TN L ‘il‘i‘ ﬁ“
An increase'in indirect tayes Wil leadito inflation, begause. WEWmaterials becomingmore™ &, ”"%
expensive therefore augts ir‘%f’aﬁho"'n. Fowever-singe tarﬁf?[sl?“azgé'typ;é'of an indirect tax they will make ‘
imports more expensive hence reduces the current account deficit
Option A & B will increase the deficit by making imports cheaper. Option D will lead to a fall in 3
inflation,
(M1 2017/Q29

—————————

By devaluing the currency the exports will increase and the imports will likely drop hence (X)

nce (X)
increases and (M) decreases which shifts the AD outwards. Option A, B & C will all lead to an drop in
AD.

LON 2017/1Q27
[Q67 [A

Higher spending raises AD and if firms prefer to increase prices of
people and raising output, unemployment is less likely to fall. All ot
output and hence employment.

goods instead of hiring more
her options are likely to increase

QIN 2017/Q28
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